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1 XIRZE | 642226%kk3kk4x0010 623 0skstiotopsiokok k6656 ARG Krsaa ] 11.2 2.2 9 20 224 137445835
2 | XTH | 642226%kkkiekak1616 148 skttt ARG R ) 11.1 2.1 9 20 222 13430854459
3 X4k B 642226%kkkkxx%]1612 1 32 Tskskskstakokodotolok ARGIE AR ] 7.7 1.4 6.3 20 154 152%k5%2693
4 B S 642226k Hkkkk4k 1612 6229kkskkskokokkkokok 1 277 ARGIE AR o] 2.9 0.5 2.4 20 58 187#%3%8062
5 B 642226%kkkkkxx1611 6229 kHkkkkkkxk %3084 ARGIE AR N 3.3 0.6 2.7 20 66 187#%4%8866
6 KRR | 642226%kkkkiokk 1618 10225kt ARG SR O 4.8 0.9 3.9 20 96 183455755
7 kA B 642226+4kkkk4k 1615 1369skkskskskskokokokokok ARGIE AR N 15.7 3.2 12.5 20 314 157#%%%3745
8 KA AR 642226 kkkkkx1611 6229k kxkkkkkk (347 ARTIE=K w2 o) 13.6 2.6 11 20 272 1843540983
9 ESEEE] 642226%*k*kskskkkk 1613 6229kskkkkkkkokokk 323 1 ARGIE: SR/ w0 4 0.8 3.2 20 80 157#%5%4696
10 | 5kR& 642226%*kkkkkkk 1616 141 8%kkkkkkokokokk ARGIE: /W 3.9 0.7 3.2 20 78 184#55%6646
11 | skRHE 642226%*k*kkkkkk 1614 165 Lkskskokokodohokodook ARG KR N 7.5 1.4 6.1 20 150 1355542029
12 | whAER 642226%*kkkkkkk 1630 1022%4kkkkokokokokok ARGE N R ] 3 0.6 2.4 20 60 139357829
13 | whr 6422264k kkx4k 1616 6229kHkkkkokokkx %9693 ARGIE AR ] 3.9 0.7 3.2 20 78 138%%4%7169
14 | BReH 642226%*kkskkk%k% 1610 1022%kkkkkkkkk% ARGEN ] 6.6 1.2 5.4 20 132 150350150




15 | ZEw 642226%kkkkkx%1637 133 5skskskskkkkokodokok ARTIE iRl 7.3 1.4 5.9 20 146 135%##%7880
16 | &L 6422265 kkkkolok 1618 622Pkkkkkkkokokok 3546 ARGIE K/ wa N} 4.9 0.9 4 20 98 135%k5%7446
17 | BEF 642226k kkkkx%1612 165 Lkskkkokokokokohook ARGIEN R | 5.1 0.9 4.2 20 102 158###%7616
18 | AW 642226%*kkkkkkk 1623 622 Pkiieieieikokokk 4 397 ARGIEEN RN 5.6 1 4.6 20 112 152###%8119
19 | %5780 642226%kkkkkk% 163 IR S ARG K R0 b} 9.9 1.9 8 20 198 150%#:%7686
20 %) 642226%kkkkkk 1615 1335skckksokotoksokok ARTIE:Yins ] 5.2 1 4.2 20 104 1474443438
21 | FELX 642226k kkkk%% 1614 6229kskskskskkkkkkk 545 | ARG R R 2.6 0.5 2.1 20 52 136%%%7067
22 | WEAFYN | 642226k 618 | 6229kkioek3 161 | ZLVATHTEIRAT 2 0.3 | L7 20 40 | 15T#kkxT855
23 | TAEX | 642226%%kk5k5x%1610 131 Tkt ARG RO 5.8 1.1 4.7 20 116 1834454516
24 | 1AL | 642226%kmkoriork]1612 PR ARDE: &R 6 1.1 4.9 20 120 | 152###x9019
25 | STAR | 642226%kxxkkkk1614 1 168kt ARG RS} 8.5 1.4 7.1 20 170 15948593
26 | S 4 642226%kkkkkokok 1615 622 Psssikiiikkokk 1815 ARGIE: K/ wa N} 4.3 0.8 3.5 20 86 157440201
27 | RITHE | 642226%kkn00x 1633 | 6230kkknkmpre9144 | LI ITR 6.8 1.3 | 5.5 20 | 136 | 138#kxx4255
28 | RJTAE | 642226%%kkkkxx1617 622 9oksiokakoiokkk 561 4 ARG K ViR o | 2.6 0.5 2.1 20 52 150557974
29 | #%& 642226%kkkkkkk 1614 1022 %%k ARG K R0 b 9.6 1.6 8 20 192 1583##3%k4366
30 | XAZE | 642226%%kkkikk1614 6229skksskopstoiokokk 3106 ARCIE N RO 4.3 0.8 3.5 20 86 136%k4k7679
31 | EiER 642226k *kkkkk% 1612 6229kskskskskskokkkkk 5857 ARGIE R o ] 9.1 1.5 7.6 20 182 1583%#4k4062
32 | miEd 642226k kkkkk%1631 1022%%kkkkkkkk% ARG K w0 b} 13.3 2.5 10.8 20 266 1833###%8305
33 1o g 642226%kksk3k%k%k%0036 102244444444k ARG K R b} 4.3 0.8 3.5 20 86 1823#4%k4923
34 | REAR | 642226kt 1639 1380kttt ARGEN RO | 4.3 0.8 3.5 20 86 158##5+7810




35 (= 3 642226%*kkskskkkk 1613 6229kskskskskkkkokokk 470 1 ARGIET AR N 7.1 5.8 20 142 182%%%%4277
36 M e 642226%*kkskskkkk 1612 622Pkkkkkokokokk(044 1 ARTIE - NrRa bl 1.3 1.1 20 26 1803#3k5%6602
37 | HER 642226% k%1610 135 aotolokototokkokok ARGIEN R | 2.3 1.9 20 46 159skk541 2
38 | &M 642226%*kkkkkkk 1610 6229k KKk kkkkk k)82 ARTIE: R wa o 4.1 3.3 20 82 177545807 1
39 | KEE 642226%kkkkkxx1615 6229 %kkkkkkxk4 %0926 ARGIE AR o 7.9 6.3 20 158 157#%%%6058
40 X & 642226 kkkkkk% 1634 1022%4kkkkokokokokok ARGE N R ] 5 4.1 20 100 1373548853
41 | TRBEAR 6422265k 1630 1022%kkkkkkokokokok ARG K/ ® a0 b} 3.5 2.8 20 70 1383##35k4095
42 | IR 642226%kskskskekekek 1614 6230%%kkskokkk k%2988 ARTIEZ R0 ) 2.5 2 20 50 157#%%%9896
43 | FIEM 642226%kkkkkk% 1612 6229k 8356 ARIE: KR N 2.6 2.1 20 52 183skk8102
44 | HAESL 642226 kkkekolok 1617 6229 kkkkkkkkk k8885 ARGIEN R N 9.9 8.1 20 198 18 1#k4x0054
45 | TEARME | 642226%kwkkkik] 63X 1328sskeksotettototdok ARG o] 2.4 2 20 48 182442763
46 | WeAEAK 642226%*kkskskkokk 1612 10223kkkskokotokokokk ARTE: N 2N 0.7 0.6 20 14 1823548012
47 | BRGEFE | 642226%%kkkkiok] 642 6229k 8323 AARGIE Ve 20E 1.7 1.4 20 34 15738542575
48 X EE 642226%kkkkkkk1 612 1795%%kkkkkkkk% ARTE: N RN 13.8 11 20 276 1593543705
49 | gk 642226%kkkkkxx1615 1022%%kkkkokokokohok ARGIE AR 3.8 3.1 20 76 157 #k5%2476
50 | BEZE 642226%*kkkkkkk 1616 165 Lotttk ARGE N R 4,2 3.4 20 84 165%#49000
51 | skzHE 642226%*kkkkkk% 1616 623 0skskskkkkkkkkok (0669 ARGIE R o ] 2.8 2.3 20 56 1363556290
52 2= J} 5 642226%kkkk4k% 1611 B229skskdskdkakdok k8 1 82 ARTIE N RN 2.6 2.1 20 52 1381835
53 | WifE 642226%*k*kkkkkk 1614 1 168%kkkkokokokokohok ARGIE AR o N 1.7 1.4 20 34 18037432
54 | BRI | 642226%%kkkiokk 1633 6229kl k k82 16 ARG A | 1.5 1.3 20 30 13944510




55 | T4 642226%kkkkkkk 1617 6229kkskkkkkkk k%8927 ARGIE R ] 2.1 1.8 20 42 138355062
56 | Tt 642226%*kkskkkkk 1650 6229kkkkskskokokokk k8452 ARGIE K/ wa N} 7 5.7 20 140 152#%#%8119
57 | WhER | 642226%%kknkkx1656 6229kskkskodskonk 7507 ARGIE e 20s 6 4.9 20 120 180sksx1220
58 | FKIERK 642226%kk*kkkk%k1 615 10223kt ARTE: N RN 4.4 3.6 20 88 1573351020
59 | MXCH 642226%kkkkkx%1651 6229%kkkkkkxx% %9066 ARGIE AR o 6.8 5.5 20 136 199%##%8161
60 | ZEME 642226%*kkkkkkk 1618 6229kkkkkkkkkkk 2185 ARGE N R ] 9.9 8 20 198 199#3#4%0563
61 | 44k 642226%kkkkkk%0016 623 0kl k 2806 ARGE R 4.7 3.8 20 94 139342566
62 =IEEH 642226%%kkkx%%1614 6229xkkkkkkkkkk k81 25 ARG N Ra 6.9 5.6 20 138 139%x3k4741
63 | FH® 642226%kkkkkk% 1612 6229k 97 24 ARGIE AR N 1.7 1.4 20 34 157#k5%7385
64 | Z1EH 642226%*kkskskokokk 1612 6229k kK kkkkkkkk 4595 ARGIEN R N 1.8 1.5 20 36 1843540598
65 | k4EF 642226k 5k kk4k 1618 131 Hakskstokokskakodotokok ARGIET AR N 2 1.7 20 40 181342999
66 | HEAL 642226%kx*kkkk%k1619 135 2skkskskstetokokokk ARTE: N 2N 1.4 1.2 20 28 182s#5+3346
67 | A 642226%kkkkkkk 1613 1022%%kkkkkokokokok ARGIEN R N 2.2 1.8 20 44 183#k4x2334
68 | MEsE 642226%*kkkkkkk 1619 1022skkskskskskokotstokok ARGIE: /W 6.2 5 20 124 159#k4x8171
69 | LES 642226x+kkkkk% 1634 6229kkkdkkokkdokk 1103 ARGIE AR 2.2 1.8 20 44 182437821
70 | A 642226 kkkkkk% 161X 1 168skkkokokotokkokk ARGE N R 3.7 3 20 74 15 1k 7243
71 | BEs 642226%kkkkkkk 1617 6229k k5 36() ARGEY R 2.5 2 20 50 147#55%4660
72 | M4 642292 6ksxskskskkskok | 657 6220skskskskskskokskskokek | 869 FARGIE N we s 1 0.8 20 20 13362827
73 | BiH% 642226 kkkkkkk 1615 6229kskskskkkkkkokk 437 ARCIE R 1 0.8 20 20 134k5%7869
T4 | D& | 642226%%kkxkkx1615 622 9skkssopstoiokok k0626 ARG A | 3 2.4 20 60 137448183




75 | 24k 642226%kkkkkkk ] 63X 6229 kskkokkkk k(0568 ARGIET AR N 3.6 2.9 20 72 136357087
76 | BR[| 642226%kkkkxk1619 10225kkskkkskok kK ARG KRR | 2.1 1.8 20 42 1993452202
| =EH 642226% k%1610 10223kkkskokotokokokok ARGIEN R | 2.4 2 20 48 1503541476
78 Z KAt 642292 6kkkkkskkk 1 623 1 489skskskeskskeskskeskokeskok ARG 8= ] 1.2 1 20 24 157552019
79 | ZE:A 642226+4kkkx4% 1610 622PkkkdkkokkAkk 8057 ARGIE AR o 1.5 1.3 20 30 138%%x%7576
80 | =HJT 642226k 4kkkkk%161 1 6229skskskeksttokskokoiok 1 22 1 ARG R a0 1.2 1 20 24 137344693
81 | ®4T 642226k 5k kk4k 1635 1 508skkstkskskakodotokok ARGE: SN a0} 3.2 2.6 20 64 182s%%4%3457
82 | M&H 642226%kskkek4k 1612 1022sks4kskskakodokokok ARTIEZ R0 ) 2 1.7 20 40 17041888
83 | =R 642226%kkkkkxx1633 623 0skskskskskskkskokkk 1063 ARGIE AR N 2.4 2 20 48 138357067
84 | ZEJ7 | 642226%kkkiekk]1618 1168kttt ARG Ra D | 2.2 1.8 20 44 1475547963
85 | 247 6422265k 1635 165 1sksksteskskskekstesksksk ARCIE SN a0} 2 1.7 20 40 151 3#%:k8146
86 | %43} 642226%kskskkkkk 1613 152 2sksksksesksksteskskoksk ARTIE - NrRa bl 2 1.7 20 40 18735000
87 | M4aE 642226k %kkk k%% 1 634 6229skskkAkkokkAAKABT 5 ARGIE Nsa o) 3 2.4 20 60 1825338192
88 | ZEILHT | 642226%kkkkxkk1616 1335skkkskoloksokok AR Ra D | 2.8 2.3 20 56 15138554900
]9 2L 64222 6kskskskekkskk 1678 127 Lsskskstskskokskstoksk ARG N e 1 0.8 20 20 15847178
920 | LAWK 642226%kkkkkk%k1 638 6229kkkkskokk k5386 ARG SR ] 2.5 2 20 50 1585457178
91 | KR4 | 642226%%kkkkxx1610 165 Dk ARG RN} 3.2 2.6 20 64 159#55%8273
92 | &AM 642226%kkkk0kk 1611 6229tttk k4905 AL S RO 2.7 2.2 20 54 157380792
93 | 24 E 642226%kkkkkkk 1613 6229%kskkkokkokokk k4264 ARGIE AR o N 1.6 1.3 20 32 158%k5%7713
94 H#t = 642226+4kkkk4k 1630 6229Hsskskokokokokk k(054 1 ARGIE:SR/ W 3.6 2.9 20 72 158%*%%%7073




95 HH 3 642226%k*kkkxx1635 6229k %851 4 ARGIET AR N 2.7 2.2 20 54 13930846
9% | MiEE 642226k kkkkk 1616 622 9kokskksrotokk [ 377 ARTE: N 2N 4.9 4 20 98 18351976
97 | =L 642226%*k*kskkkkk 1618 6229k Kk kkokokdokk 4363 ARGIEN R | 2.5 2 20 50 1523548347
98 | MER 642226%*kkkkkkk 1610 1 329kskskskskskokototokok ARGIE: /W 2.5 2 20 50 199#3k#%3586
99 | MEF 642226 kkkkkk% 1612 1022%%kkkkkokokokok ARGIE AR o 9.2 7.5 20 184 152%k%%5163
100 | HIEX 642226+ 4kkkk4k 1617 6230k k2194 ARGIE AR ] 2.3 1.9 20 46 155%%%%7003
101 | ZRE 642226%kkskkkkk 1629 6229skskskskskkokokkk() 742 ARGE R 2 1.7 20 40 15751122
102 | HPUE 642226% K k%1634 6229k 1 020 ARGEN ] 1.7 1.4 20 34 18235448476
103 | HEYEL 642226%k*kkkxx1614 6229k k0080 ARGIE AR N 1.4 1.2 20 28 182:#k5%5830
104 | ERFK 642226%*kkkkkkk 1634 142 Lskskstorsrororororok ARGIERCRY N 1.4 1.2 20 28 1583542749
105 | Ak 642226%kkskskskkk 1648 6229kskskkkkkokok 4 324 ARGIET ARV 4.6 4.3 20 92 181350348
106 | k&M 642226%*kkkskkkk 163X 6230k kkkkkkokok k4564 ARTE:NEEYN] 2.1 1.8 20 42 1523543649
107 | iz 642226%kkkkkxx1611 6229kskskskskskokokokkk§ 342 ARGIERERY N 8.5 7 20 170 182:#354%3622
108 | XIFHEIZL | 642226%%kkkkxx1632 6229kl k%6606 ARG K ECpo 5.7 4.6 20 114 15754548616
109 | sk&iE 642226%*kkskskkk%k 1638 623 0skkkkrkookok k9820 ARG SRRV N} 12.5 10 20 250 158548347
110 | 5k&EIF 6422263%skkkskskok 1 612 1523 skkskstolofokokokok ARG EEIEY N 5.8 4.7 20 116 139357140
111 | 5k5EERL | 642226%kkkkkkx1614 622 sksiopsolok k8186 ARTE:RCEYR] 2.7 2.2 20 54 187342883
112 | 3k&E 642226%kkkkkk%1610 17 16ksksksksteskoskokoksfeok AARGIE: =R EEEYN) 6.2 5 20 124 155%#%%6849
113 | 5kER 642226%x+kkkk4% 1 63x 6229 kkkkkkokokkxx 1407 ARGIER RV 6.9 5.5 20 138 133536822
114 | EHEF 642226%*kkskskskokk 1641 6229 kkkkkkkkkk k6283 ARGIERERY N 1.4 1.4 20 28 138###%6090




115 | BEE | 642226%%k000x1618 6229skstitsototkokok6 739 ARTIE:-COE-Y 0 0.5 20 10 1514898
116 | FKEHL | 642226%kkkkkxx1637 623 0tttk k4 721 ARGIEER TRV 6.7 5.4 20 134 139440836
117 | x4 642226% k%1616 10223kkkskokotokokokok ARGIERERY N 7.5 6 20 150 17 T8k7329
118 | X IEMS 642226%k k%% 61 1 14145kt ARGIEREIEEY 6 4.8 20 120 15 13545666
119 | EMEL 642226k Hkkkx4%1610 165 2skskskskskskskstokokok ARGIER RV 4.3 2.6 20 86 182%##%8738
120 | ERFE | 642226%%kkxk0k%1614 1488tttk ARGIEER OO 3.2 2.6 20 64 183449079
121 | BREET | 642226%%kkkkxx1610 622Pkksokkorokkx 3089 ARG ECIE PN 6.8 5.3 20 136 1594452055
122 | EWk 642226k kkkk%%% 1616 623 0skskskskskkoskskskkk 201 7 ARG REIE V) 5.5 4.4 20 110 157%*%4%1158
123 | 5k3qE 642226%kkk*kkxx1640 6229 kHkkkkkkxx%8060 ARGE KR PV 3.7 3 20 74 187#%%%6918
124 | 3KEEAT | 642226%%kkkkxx1611 622 skkstopstoiokokk 2866 ARCIEEREE V| 4.6 3.7 20 92 136%sk4k4592
125 | 5k&ER 642226%kkkkkkk 161 1 623 0sksiostkolokkk5936 ARTE:REEY R 0.8 20 16 15135k 0887
126 | £E% 642226k *kkkskkkk 1628 1022skkskskskskokotototok ARGIEEEPY N 0.2 20 4 185%k#x7017
127 | S3CHn 642226 kkkkx%%(0012 6229kkskskskskkkkkk 2058 ARGIERERY N 2.6 2.1 20 52 182#34%9525
128 | E3C% | 6422264 kkiekekk161x 6230k kriok k6144 ARG K ECpo 2.2 1.8 20 44 157443940
129 | 5KEZE | 642226%kkkkxxx1676 16523 skksptokokatoton ARG EEIEP N 3 2.4 20 60 15735453010
130 | k&N 642226%k Kk 1614 6229k ksksrsokololkok 7472 ARG EEIEY N 1.6 0.3 20 32 139357937
131 | kKER 642226%kkk3kkkk 1 635 16525kttt ARTE:RCEYR] 0.2 20 4 183k 7756
132 | gkEm 642226%kkkkkk%k161 1 151 3sksksksksteskoskokoksfeok AARGIE: =R EEEYN) 0.3 20 6 152%:4%%1626
133 | EMFH 642226%%kkkx%%163 1 153 2skskskskkskskotokokok ARGIER RV 6.7 5 20 134 14 7#%5%4581
134 | gk 642226%kkkkkxx1614 6229 %kkkkk k442968 ARGIEREIPEY 2.5 2 20 50 181###%5290




135 | EREF 6422264k k3kkkk 1 679 151 8%kkkkokohohohohok ARGIEEEIETY o) 6.2 5 20 124 182#%+%8946
136 | k&M 642226%kx*kkkk%k1 61 x 6229 K kxxkkkkk k5546 ARTE:NEEYN] 2 1.6 20 40 1823547310
137 | Bl 642226+4kkkk4k 1659 6229kHskkkkokokk k%8598 ARGIE KRV 2.5 1.2 20 50 157#%%%5056
138 | FaE 6422263k 1620 6229 Kkkkkkkokok kT 369 ARTE:AEEY N 4.9 4 20 98 14745446968
139 | AWt 642226%kkkkkx%167x 6229k kskkkokokokkx %6242 ARGIER RV 2.7 2.2 20 54 135%%3%7445
140 | k&R 642226%*kkkkkkk 1613 146 3kkkokokkokkokk ARGESCRTY R 4 3.2 20 80 180350667
141 | EiEF 642226+4kkkk4k 1635 133 5kkkskskakokokotokok ARGIE ARV 2.1 1.7 20 42 1573%%%5340
142 | gkERE 642226%kkkkk%k%163 1 1652skskskskskskskokskokok AARGIE: =R EEEYN) 1.3 1.1 20 26 157*%%%2690
143 | FHiAK 642226%*kkskskk%k% 1619 1488 kkkkkokokohohohok ARGIE ARV 2.1 1.7 20 42 14T#55%7725
144 | THIWIE 642226%*kkkkkkk 1613 6229kkkskskkkkkkk 1 338 ARGIE:REIPEY 0.8 0.7 20 16 136%35%7466
145 | E2%4% 642226k kkkk%% 1614 1652skskskskkkkokodokok ARGIET ARV 1.5 1.3 20 30 1383#k5%7850
146 | 546 642226%*kkkkkkk 1636 6229 %K kx4 %8500 ARTE:NEEYN] 23 18. 7 20 460 15735458680
147 | £ 642226+4kkkk4k 1625 151 Qskkkskskskokokotokok ARGIE KRV 2.5 2 20 50 14T#%%%7759
148 & 642226 kkkkkx1611 623 0kkkkkkkokokk 5969 ARGIEREIEEY 1.5 1 20 30 157#%#%3085
149 | FHWHw 642226%*kkskskkkk 1617 181 0%kkkkkokkokokk ARGIE ARV 3.2 2.6 20 64 147#55%7625
150 | EHNL 642226%kxkkk%%1616 622 9kkskskskskkokokkk 5693 ARGERCRTY R 1.8 1.5 20 36 1573540946
151 | £&E4 642226%*kkkkkk% 1616 6229k Kk kkkokookok 4432 ARGIE:EEETY ) 4.9 4.9 20 98 139skkstk 1 724
152 T 642226%kkkkkkk 1617 6229sksksksksickskokokokk 087 1 AARGIE: =R EEEYN) 1.6 1.6 20 32 134%4%%4106
153 B 642226%kkskskkkk 1637 165 Dkkksksrskokokotokok ARGIER RV 5.1 4 20 102 187#%%%7128
154 | F&EM 642226%kkkkkxx161x 622 Pkskkkkkokokok 1 294 ARGIERERY N 2.9 2.4 20 58 147#35%5046




155 TR 6422264kkkk4k 1612 6229 kHkkkkkkxxk %3770 ARGIET ARV 0.4 0.3 20 8 158%%%9577
156 | FEF 642226%*kkkkk%k1 61X 133 5skksksrtolofokokokon ARTE:NEEYN] 2 2 20 40 1306731
157 | £&iE 642226%kkkkkxx1610 623 0skskskskskskokokokkk 2202 ARGIERERY N 1.8 1.5 20 36 133#k4x0744
158 | £&EX 642226%kkkkkkk 1617 6229k KKk kkkkkKE 368 ARGIEREIEEY 1.2 1 20 24 1523547468
159 | E&E5r 642226%kkkkkx%1634 6229k 544 1 ARGIER RV 1 0.8 20 20 181 #k5%2990
160 | EENI 642226%kkkkkkx 161 x 623 0kskskskskskkokokkk (0982 ARGIE=EEIPTY N 0.4 0.3 20 8 152#35%2773
161 | E&EF 642226%kkkkkxx1618 165 Lkskkkokokodohohohok ARGIE ARV 3.6 2.9 20 72 1363547835
162 | Fx3h 642226%xkkkkxk%0010 6230kkskskskokskekoskkok 1 162 AARGIE: =R EEEYN) 0.5 0.5 20 10 182x4%%2036
163 | £&im 642226%+kkkkk% 1674 6229 kHkkkkkkxx %0486 ARGIE ARV 1.1 0.8 20 22 139%3%1869
164 T 642226%*kkkkkkk 1619 6230k kkk kK6 383 ARGIERCRY N 3 2.3 20 60 1393547906
165 | £&EH 642226%*k*kskskkkk 1637 6229 K kkkkdolokk 3750 ARGIEEEEY ) 0.5 0.5 20 10 157587158
166 | £EE 642226%kx*kkkk%k1 612 1652%kkkkkkkkkk ARGIEEEPY N 1 1 20 20 1583547390
167 | £&EFH 642226k kkk4kkk 1618 6229 kkkekstrokokekokek 788 1 ARTIE RGN 2.3 1.9 20 46 136%:#kx7814
168 | L 642226%kkkkkkk1614 6229 Kkkkkkkkok k7930 ARTE:AEEY N 0.6 0.6 20 12 135%#4%7381
169 | £E 6422264kkkk4k 1619 6229kHkkkkokkkx %8983 ARGIE ARV 0.4 0.4 20 8 182%%%%9947
170 | £i& 642226%*kkkkkkk 1610 1335kkokokokokokkokk ARGERCRTY R 2 2 20 40 152381141
171 | E&EAL | 642226%kkkkxxk1612 622tttk 1 195 ARG KT RUEP ] 1.2 1 20 24 1814412786
172 | FER 64222 6%kkkkkk% 1639 62 30kkkkskokskekskkk 2608 AARGIE: =R EEEYN) 1.1 1.1 20 22 134%4%%6540
173 | EAH 642226%*k*kkkkk% 1621 6229tk 966 | ARTIE=EEE Y o) 0.7 0.6 20 14 1505542666
174 | EEAf 642226%k k%% 618 622 9kskokkoiok k8370 ARG ECIEUR 6. 4 5 20 128 1391734




175 | £EHE 642226+4kkxx4%0015 153 2kskskskskokodokokok ARGIET ARV 0.6 0.6 20 12 159%3%7444
176 | E£EH 642226k kkkkk%1614 165 Iskkkskskakstotototok ARGIEEEETY N 4.6 0.9 3.7 20 92 139547894
177 T 5 642226%kkkkkxx1617 6229kskskskskskokokokokk 5292 ARGIERERY N 1.5 1.5 20 30 182#3k#%5317
178 | £&E15 642226%kkkk3kk%k 1 654 623 0kkkkkkkokokokk 7337 ARTE:AEEY N 11.4 1.7 9.7 20 228 1823546123
179 | £EH 642226+4kkkk4k 1638 6229kHkkkkokokkx k7857 ARGIER RV 1.7 0.3 1.4 20 34 187#%%%7561
180 | E&EAL 642226%kkkkkxx161x 6229k k9740 ARGESCRTY R 0.8 0.8 20 16 182#34%6329
181 TH 640425%4kkkk4k 1615 6230%kskkkkokkkkk 1 899 ARGIE ARV 6.1 1.5 4.6 20 122 159%#4%0258
182 | FE> 642226%kkkkk%k% 1634 6229skkskskskkskokokokk 3774 AARGIE: =R EEEYN) 2 2 20 40 187##%%9739
183 | EEHE 642226%kskkkkk 1653 165 Lkskskstototototokohok ARGIE ARV 5.6 5.6 20 112 151558174
184 | £EZE 642226%kkkkkkx1639 622 Pkkkkkkkokokokk 429 1 ARGIERCRY N 5.3 5.3 20 106 158#k5%4307
185 | L&k 642226%*kkskskkk%k 1636 131 2skkokokototokokokok ARGIEEEEY ) 2.7 1.9 0.8 20 54 15 stk 5883
186 | &R 642226 kkkklokok 1656 165 24kskskskskskokototok ARGIEEEPY N 5.4 1 4.4 20 108 1883##+%9863
187 | F&EKE 642226%kkkkkkk 1619 6229k kskkkkkk k%% (078 1 ARGIEREIPEY 1.2 0.2 1 20 24 139#k4x7721
188 | £ER 642226%kkkkkxx1610 1198%kkkkkokokohok ARGIEREIEEY 1.7 0.3 1.4 20 34 184###%1610
189 | L& 642226%Kkskkkkk 1617 1488kkskskskskokokotokok ARGIE ARV 0.7 0.1 0.6 20 14 18837499
190 | £&E& 642226k kkkkk%1614 6229 KKk %6940 ARGIEEEIPTY N 8 8 20 160 1343547093
191 | £&> 642226%kxx%%%%1615 6229kkkkkkkkkk K9 T5T EARGIEEOP Y Y 2 0.4 1.6 20 40 18 Lsokotok4 439
192 | ExEme 642226%kkkkk%k% 1654 62 30kkkkskokskekskkk 6045 AARGIE: =R EEEYN) 2.9 2.9 20 58 139%#%%3586
193 | £EF 642226%kkkkkxx1615 1 168%kkkkokokokokohok ARGIER RV 1.5 0.2 1.3 20 30 158#k5%5378
194 | LR | 642226%0kkxiokx161x 622 skkstsopstoiokk 7836 ARCIEERERTVE 1.9 0.3 1.6 20 38 1503445661




195 | ERE | 642226%kkkkxik] 624 622 ststtopstootokk 2 1 54 ARG KT RUEP ] 3.5 0.7 2.8 20 70 15743149
196 | PEATEE | 642226%kkkxiokx1617 6229tttk 94 10 ARGIEER TRV 1.8 0.3 1.5 20 36 182449430
197 | JBEM 642226k kkkx%% 1632 1488k ARGIE:REIPEY 4.2 0.8 3.4 20 84 182:#k:4%8461
198 | EHE | 642226%ckkiekkx1610 6230k koriokkk ] 394 ARCIEER TRV 2.5 0.4 2.1 20 50 1513448901
199 | WHE=E 642226%kkkkkxx1615 623 0%kkskkkokokokokkk 7 142 ARGIER RV 11.2 2.2 9 20 224 157#%3%7739
200 | EigiE 642226%kkkkkk%k1 626 165 23kkkokokokokokokk ARGESCRTY R 3.4 0.7 2.7 20 68 1303548216
201 | EEE 642226%kkkkxx%]1612 623 0%Hskoktokokokk %2723 ARGIE ARV 0.7 0.7 20 14 181#k5%7578
202 | ZHHIR 642226%kkkkkk%k 1 31 x 6229skskskkskokskekoskekk 7367 ARG AN 3 0.5 2.5 20 60 135%#k%1388
203 | ZHFH 6422263%kkkskkk 1612 1022sskststsksorstok ARG | 2.4 0.4 2 20 48 138sktk7103
204 | ZFHY 642226%F*%xx%%1610 1445k ARGEEU | 5.8 2.5 3.3 20 116 1834k 7471
205 | w7 642226% k%1610 1383k ARGIE Uiy 7.8 4.4 3.4 20 156 151 #4680
206 | ZE) 642226%kkkkkxx1610 6229k k6260 ARGIE: LA N} 21 4 17 20 420 157#%5%9140
207 | ZFEEHMK 642226%*k*kskskkkk 1613 1335%kkkkokokokohohok ARGE L 5.5 1 4.5 20 110 133###%3239
208 | ZHE 642226%kkkkkkk 161 x 13T 4skobototokkokk EARGIE: e 2.5 0.4 2.1 20 50 155%#4%2253
209 | Ll 642226%kkkkkxx1615 1652skkskskskakokodototok ARGIE Uiy 8.2 1.6 6.6 20 164 187#k5%2388
210 T 642226 kkkkk% 1634 1460sskkkskokokokkokk ARGE U 5.1 0.9 4.2 20 102 130557841
211 | BEEET | 642226%kkmkkak1676 623 0sickstoiotsiotiokoiok 3 754 ARGIE U] 8.2 2.2 6 20 164 13937816
212 | FIF= 642226k kkkk%%%k 1615 62295kskskskskkskskskkk 5352 ARGIE e 6.8 1.3 5.5 20 136 139347594
213 | =FH= 642226%*kkskskkk%k 1615 1336kokokstotokokokok ARIE: LS ACY N 2.7 0.5 2.2 20 54 136557568
214 | LIEE 642226%kkkkkkx 1612 1022skskskskskekekototodok ARGE e 2.7 0.9 1.8 20 54 152#3#%1200




215 | £IEE 642226%kkkkkxx1617 102 2skskskskskakokodototok ARGIE Uiy 16. 3 3.4 12.9 20 326 135%k5%8245
216 | = 642226%kkkkkxx 1611 1449%kkkkkkokokokok ARGIE: L AC N} 4.5 0.8 3.7 20 90 183#k4%5668
217 Tk 642226%kkkkkxx1619 1335%kkkkokokohohohok ARGE e 4,2 0.8 3.4 20 84 183#k4%3648
218 | ZGE 6422265 kkkkiokk 1618 6229kkkkkkkkkkk 1184 EARGIE: e 3.1 1.8 1.3 20 62 152#3#%8359
219 | KWK 642226%*kkskskkkk 1613 LA8 Tk ARGIE Uiy 9.5 2 7.5 20 190 1597282
220 | KER 642226 kkkkkx1611 1022%4kkkkokokokokok ARGE Ui 9 9 20 180 13 147996
221 R 642226%*kkkkkkk 1618 6229k k8019 ARGIE Uiy 2.6 1 1.6 20 52 182##4%0320
222 | REM | 642226%kkkkkkx1630 100 4sksksrtotofokokokok ARG ] 4.4 2.4 2 20 88 13434207 1
223 | #REN] 642226%*kkskskk%k% 1610 623 0skskskskskskokskokkk (0487 ARGIE Uiy 3.7 0.7 3 20 74 159357900
224 | REHME | 642226%%kxkkk%1618 137 Haktestsototofopokok ARG L 2 0.3 1.7 20 40 180356887
225 | fEHZE | 642226%kkkiokkx 1611 1652kt ARTIE LN 4.8 0.9 3.9 20 96 138s#0993
226 | XA 642226%kkkkkxx1616 165 24kskskskskskokototok ARGIE: LA N} 6.8 0.9 5.9 20 136 136%#55%9963
227 | AR 642226%kkkkkxx1639 1022%%kkkkkkokokok ARGE L 0.6 0.1 0.5 20 12 151#%5%7375
228 | RJIP% | 642226%kkskkkk 1617 148 Tkt AR | 10. 2 2.2 8 20 204 15135457835
229 | KHI- 642226%k*kkkkkx1611 1364%kkkkkkokokohok ARGIE Uiy 13.7 2.5 11.2 20 274 182:#:#5%9869
230 +F 642226%kkkkkkx 1612 139 4kskskskskskokokotohok ARGE U 1.3 1.3 20 26 150%k%x0344
231 | KGR 642226k 4kkk k4% 1612 165 2skkskkskskakdkokok ARGIE Uiy 11.6 2.6 9 20 232 1886289
232 | KEER 642226%kkkkkxx1627 1652skkskskskskokokodokok EARGIELE A o) 4.5 1 3.5 20 90 182:##%%9465
233 | EEHER 642226%kkkkkkk 1611 6229kskskskskskokokokkk 4048 EARGIE LA N 1.5 0.2 1.3 20 30 177#55%9358
234 | KER 642226%*kkkkkkk 1676 623 0skkskkskskkokokokk 4503 ARGE e 9 1.9 7.1 20 180 1393545279




235 . 'e 642226%k*kkkkk% 1632 623 0skskskskskskokokokkx 2995 ARGIE Uiy 6.8 6.5 20 136 18 1#k5%9144
236 | AR | 642226%kkkxkkkx1614 1022 %skkspkokokopotok ARG ] 2.8 2.3 20 56 132441905
237 | =3 642226%kkkkkxx1633 1022%%kkkkkokokokok ARGE e 11.4 9.3 20 228 132#5%%4991
238 ¥R 6404 25%*kskskskkkk 1619 181 4skkkkkkokokookk EARGIE: e 3.1 2.5 20 62 181###%6899
239 | ZHFFEL | 642226%kkkxxx%1620 1488kttt AL LN 6.1 5 20 122 138kt 7437
240 | == CHA 642226%*kkkkkkk 1619 6229k K kxkkkkkk k69 14 ARGE Ui 1.5 1.3 20 30 1583547243
241 XK 642226%F**kkxxx0014 1023%kkkkkokokokohok ARGIE Uiy 2 1.7 20 40 136%:55%7376
242 | ENIE | 642226%kkkkkxk]614 622 Pkkkiokkkiork (0433 ARG ] 2.4 2 20 48 131343899
243 | MiEie 642226%*kskskskkk%k 1629 1335%kkkkokokokohohok ARGIE Uiy 4.7 3.8 20 94 155%k5%7424
244 | =T+ 642226%kkkkkkx 1615 1652kttt ARGE e 6.3 5.1 20 126 131#55%7136
245 | EF5H 642226%*kskskskskkk 1627 6229tttk 490 1 ARG ESAC Y N 6.9 5.6 20 138 150357859
246 | AT | 642226%kkkkkkx1615 1488 kksptokkopion ARG ] 7.7 6.3 20 154 1364k 7454
247 | R 642226%*kkskskkkk 1637 LA8 Tk ARGE L 9.3 7.6 20 186 153#k4%1671
248 | ZHEF | 642226%kkkxkkk%1610 10223 kkkskokotokkokk ARG LA 3.5 2.8 20 70 150357012
249 | &=HIT 642226%*k*kkkkkk 163X 1022%%kkkkokokokohok ARGIE Uiy 4.3 3.5 20 86 157 #k5%2233
250 | =X E 642226%*kkkkkkk 2650 6229k kK kkkkokkokk 4327 ARGE U 3.4 2.8 20 68 1323548616
251 | /ML 642226%kkkkkxx1617 6229 %kkkkokokkk %0049 ARGIE Uiy 2.3 1.9 20 46 132556893
252 | Z=H® 642226%kkkkkxx1619 6229kkskkskkkkkk k5981 EARGIELE A o) 1.2 1 20 24 138kk%7577
253 | &=H 642226%kkskskkkk 1617 1383tttk ARIE: LS ACY N 2 1.7 20 40 15848842
254 | =XF 642226%kkkkkxx1610 6229k Hkkkkkk k%6516 ARGE e 2.2 1.8 20 44 136%35%7302




255 | EAMgEE 642226%kxkkkk%1629 6230k kkkkkodokok k5266 ARGE LN 4.2 0.8 3.4 20 84 1355547226
256 | F4ER 642226%kx*kkkk%k1 612 6230kl k3697 ARG K ] 3.3 0.6 2.7 20 66 130357643
257 | WhEER 642226%kkkkkkk 161 1 6229k Kk kokkkk 8258 ARGE e 5.1 1 4.1 20 102 182359450
258 | EEMHE] | 642226%kkpkkrk]61x 1022 %skskpkokkopotok AR e | 3 0.6 2.4 20 60 136355964 1
259 | HhiE 642226%*kskskskskkk 1627 163 2%kkkkkokokokokok ARGIE Uiy 2 0.3 1.7 20 40 130%k5%8137
260 | BREEZE | 642226%kkxkkkx]1814 137 sttt ARGIEE o] 1.7 0.3 1.4 20 34 182443554
261 | E4EPN | 642226%kkkkkkx1618 622kt kool kx 28 14 ARGIE AN 8.6 1.6 7 20 172 130856127
262 | T4FE 642226%kkkkkk%1610 132 Bskskesioskskskskokskokok ARG AN 14.9 4.9 10 20 298 180%+%%3379
263 | T4t 642226%kkkkkxx1613 6229k Hskokotookokk k8472 ARGIE Uiy 6.2 1.2 5 20 124 13 1%kk%1343
264 | T4EE 642226%*kkkkkkk 1636 1652%kkkkkokokokokok ARGE e 9.3 1.7 7.6 20 186 1303542832
265 | LIE% 642226%k*kkkxx1618 6229k k754 1 ARGIE Uiy 3.1 0.6 2.5 20 62 187#k%%699 1
266 | & HHE 642226%*kkkkkkk 1625 622Pkkkkkkkkokokok 6369 ARGIE: LA N} 3.7 0.7 3 20 74 132#%%%5679
267 | BEICIL | 642226%k%kkxik1611 137 skttt EARTIE ) 10. 5 2 8.5 20 210 15 1skotokok 7812
268 | BE&FE | 642226%kkkkkkk 1623 6229kttt ko k659 2 ARG EC AN | 4.5 0.8 3.7 20 90 18942253
269 | k= 642226%*kkskkkk% 1616 1446%%kkkkkokokokok ARGIE Uiy 8.6 1.6 7 20 172 15957948
270 | KR 642226%*kkkkkkk 1626 622Pkkkkkokokokok 503 1 ARGE U 10.5 2 8.5 20 210 182#354%2439
271 FiT 642226%kkkkkxx1614 6229k Hkokkokokk k%6708 ARGIE Uiy 8.7 1.7 7 20 174 1593554908
272 | TEA 642226%kkkkkk%k1615 6229kskskskkekeiokkok 1 790 ARG N) 2.9 0.5 2.4 20 58 181%%%x6701
273 | EMg= 642226%kkk3kk0k0k 1629 148 Taskssesotototopokek AR e 4.1 0.8 3.3 20 82 13238159
274 | FEE 642226%kkkkkkx 1617 6229kkkkkkkkkkk 3565 ARGE e 3 0.6 2.4 20 60 155%#5%2748




275 +iT 642226%k*kkkxx1614 6229 %4kl k%6708 ARGIE Uiy 9.2 1.7 7.5 20 184 159354908
276 | FHER 642226%*kkkkkkk 1617 136 Tskkskskskakototototok ARGE e 5.4 1 4.4 20 108 187#kk%7712
277 | EEFS 642226%kkskkkkk 1618 1022%%kkkkkokokokok ARGE e 3.9 0.7 3.2 20 78 136%#5%5738
278 | T4EFt+ 642226%*kkkkkkk 1638 1022skkskskskskokotstokok ARGIE e 4,3 0.8 3.5 20 86 136%3#%7039
279 | EIEZE 642226%k*k*k*kxx1636 1 508skskskskskakokodototok ARGIE Uiy 3.9 0.7 3.2 20 78 181 #6991
280 | F[EH 642226k kkkkk% 1614 10223kkkskokokokokokk ARGE Ui 6.2 1.2 5 20 124 1343542898
281 | X 642226%kkkkkxx1617 152 Lkskkkokokohoodook ARGIE Uiy 5 1 4 20 100 1323448859
282 | LiEf 642226%kkkkxxx1614 6229k kkkkokokkx %7612 EARGIELE A o) 6. 4 1.2 5.2 20 128 152%k%%3159
283 | EEAL 642226%Fkkkkkx 1619 6229kkkkkkkxx% 3030 ARGIE Uiy 6 1.1 4.9 20 120 1325%%#%8859
284 | EHEMZ | 642226%kkkkkk161x 622 9skkstsopstoiokok k87 84 ARTIEEE ey | 5.5 1 4.5 20 110 136%k46591
285 | MR 642226%*kskskskskkk 1627 LA8 Tk ARGIE Uiy 6. 2 1.2 5 20 124 130#:#%8800
286 | T4ER 642226%kkkkkkx 1615 6229kkkkkkkkkk k8415 ARGIE: LA N} 2.4 0.4 2 20 48 187#k5%7060
287 | = KMg 642226%kkk4%kkk 0017 6229 kkskskkokekekekek 3395 ARGIE ) 5.1 0.9 4.2 20 102 1308800
288 | FHH 642226%kkkkkkk1 612 6229kl k k6500 ARG KL 2.7 0.5 2.2 20 54 1473557836
289 | ElH % 642226%kkkkkxx1615 1652%%kkkkokokokokok ARGIE Uiy 4.9 0.9 4 20 98 130%:k5%8409
290 | E4ERL | 642226%kkxkkkx1614 133 0skkskstototokokkon ARG 8.7 1.7 7 20 174 1313458760
291 | T4 642226%k*kkkxx]161x 6229k Hkokkokokkk k7935 ARGIE Uiy 8.9 1.7 7.2 20 178 157#k5%7816
292 | TEM 642226%kkkkkk%k1616 6229xkskskskkekeiokkok 342() ARG N) 7.7 1.4 6. 3 20 154 182x4%%8597
293 | E4ike 642226%kkkkkxx1618 1 34 5teskskatatotodotorok ARGIE Uy 2.7 0.5 2.2 20 54 136354083
294 | EHEIE | 642226%kkiekokick 1692 6229k 1 369 ARGIE: G| 7.7 1.4 6.3 20 154 136353546626




295 | T4Elg 642226%k*kkkx%]163x JRERE ARGIE Uiy 3.6 0.7 2.9 20 72 182:#k5%8266
296 L 642226 kkkkkkx1611 1362%kkkkkkkkk% ARGIE: L AC N} 2.4 0.4 2 20 48 173#%4%5816
297 | LR 642226%kkskkkkk 1618 6229kskskskskskokokokokk 1 745 ARGE e 3.3 0.6 2.7 20 66 136%kkx7441
298 | ZHWE | 642226%kkxkkk%1633 1022 %skskpkokkopotok ARG S AN 7.6 1.4 6.2 20 152 152447208
299 | EIE% 642226%kkkkkxx161x 6229k Hkokdokokokk k351 7 ARGIE Uiy 8.6 1.6 7 20 172 135%k5%7815
300 | EHEA 642226%kkkkkk%k1614 165 23kkkokokokokokokk ARGE Ui 10.5 2 8.5 20 210 1333835704
301 | FIEs 642226k %kkkk%% 1 61 x 6229skskskAskkokkAkk 4 TAT ARGIE Uiy 12. 4 2.4 10 20 248 132%ksk6244
302 | FIiEHE 642226%kkkkkk%k1618 1482sksksisksksksioskskskok ARG AN 13.9 13.9 20 278 159%:4%%2887
303 | EiFg 642226%k*kkkxx161X 6229%kkotkokakk 427 20 ARGIE Uiy 3.6 0.7 2.9 20 72 159k5%7658
304 B NI 642226%kkkkkxx1630 6229k Hkkkkokk k%3228 ARGE e 3.6 0.7 2.9 20 72 182:#34%6607
305 | EIEFR 642226%k*kkkxx1639 6229k 2284 ARGIE Uiy 30.6 5.2 25. 4 20 612 139##5%8506
306 | FiEk 642226%kkkkkkx 1617 133 Lkskskokokoooookok ARGIE: LA N} 14.9 2.9 12 20 298 134#55%7456
307 O 642226%kkkkxx%2822 6229kskskskskskokokokokk 1 592 ARGE L 10 2 8 20 200 152#35%2650
308 | FRF5E 642226 kkkkkk% 1224 623 Qkkkkookokokok 3436 EARGIE: e 6.1 1.1 5 20 122 187#k4%1663
309 | EfE7E 642226%kkkkkkk161x 1335%kkkkokokohohohok EARGIELEAE T b 7.2 1.3 5.9 20 144 155%#5%2205
310 | EE& 642226%kkkkkxx1614 1338kkkkkokooookk ARGE U 10 2 8 20 200 183###%3035
311 | #NERF 642226k Hk*kxx4%1616 138 0skskskskkskskstotokok ARGIE Uiy 14.7 2.7 12 20 294 158%##%9973
312 | FkA& 642226%kkkkkk%k161 1 622 Qskskkskskskokokokkk 6797 ARG N) 7.4 1.4 6 20 148 152%4%%7956
313 | ZEaekk 642226%kkkkkkk 162X 148 Tkeskskstatototototok EARGIE LA N 6. 4 1.2 5.2 20 128 1383#:k5%7068
314 | BHT | 642226%k0ickikx]1634 6229kpkkiokok k1079 EARTIE ) 11.1 2.1 9 20 222 15 Tsok2055




315 | BHEEEL | 642226%kkirk 1637 102 2sktsotetototdok ARTIE: G| 7.5 1.4 6.1 20 150 13036590
316 | FhAEAL 642226%*kkkkkkk 1636 6229k Kkkkkokokokk k447 | ARGIE: L AC N} 5.7 1.1 4.6 20 114 155%##%8106
317 | &k 642226%k5kk43kk 1 639 148 Tskskatstokstotoskokokok ARG Kz eEe Y ) 11.1 2.1 9 20 222 15656742
318 | JiF ) 642226k kkkkk% 1614 121 Qskeskskskskstototokok EARGIE: e 9.3 1.8 7.5 20 186 187###%8288
319 By 642226%*kkskskkkk 1618 6229 kskskskskskskokokokk 1327 ARGIE Uiy 7.7 1.4 6.3 20 154 13935456161
320 | &=HV 642226%*kkskkkkk 1612 623 0kskskskskskokokokkk 4 277 EARGIES S AC N 5.6 1 4.6 20 112 159#3k#%5512
321 | FgEaE 642226k *kkkkk% 1612 1022%kkkkkkokokokok ARGIE Uiy 10. 8 2 8.8 20 216 176%5%%5626
322 | kFHE 642226%kkkkkxx1627 6229kkskskskskkkokkk 4808 EARGIELE A o) 17.1 3.1 14 20 342 152%k5%7323
323 9 642226%*kkskskkk%k 1615 622 Pkkkkokokk 9827 ARGIE: LS ACY N 6.3 1.2 5.1 20 126 152sksk1 338
324 | BEK 642226%*kkkkkkk 1618 6229%kkkkkkkkkk] 156 ARGIE- YR 2.2 2.2 20 44 153#55%0656
325 | R 642226%kxxk%k%%]1 638 136 1 sskkkokokodoodonk ZL A A 4.8 0.9 3.9 20 96 1823548485
326 | Eh 642226%*kkkkkkk 1610 1488kkkkkkokokkokk ARGy SS9 N} 2.3 0.4 1.9 20 46 182:###%8963
327 | BKBHES 642226%k*kkkkkk 1614 10223kkkskokotokokokok ARGIE- YRR 6 1.1 4.9 20 120 1363545129
328 XK1 642226%kkkkkk0k 1613 165 Dsksksrtolofokokskon ARG KU | 2.2 0.4 1.8 20 44 152540624
329 | mC 642226%kkkkkxx1616 6229 kHkkkokkkxk k(1 34 ZLERAT A 2.4 0.6 1.8 20 48 180%#%%k0291
330 | HKE 642226%*kkkkkkk 1618 132THkkkkkokokokokok ZL AT A 2.5 0.5 2 20 50 147#55%2669
331 W 642226%kxx%%k%%1 636 1022%%kkkkkokodokok EARGIE U S b} 4.4 0.8 3.6 20 88 158458786
332 A 642226%kkkkkk%k1613 6229xkskskkskokskekskkk 5658 PARGIE: =M pe | 2.3 0.4 1.9 20 46 152%%%x7951
333 | MRIH 642226%kkkkk%k%k1632 102 2sksksksksteskskstokskok L AT AN 5 0.9 4.1 20 100 180%4%%4442
334 ¥4 642226%*kkkkkkk 1637 623 0kskkskskskokokokkk 3812 ARGIE- YRR b 3.2 0.6 2.6 20 64 177#%£%9996




335 | HAE 642226%kkkxk%k]1619 622 Pkkokkorork k8082 LLI A AY 2.2 1.8 20 44 1473457427
336 | HJEZR 642226%*kkkkkkk 1615 1488kkokokokotokkokk ARGy SS9 N} 2 1.7 20 40 182355942
337 %5 642226%*k*kskkkkk 1615 623 0skskskkkkkkkokk 8639 ARGIE- YR N 4 3.2 20 80 187#k5%7662
338 2 642226%k*kkkkkk 1611 622 Pk 3653 ARGIE: Ty B 9 N 6.6 5.4 20 132 182:#34%8347
339 | BHAEMR | 642226%kkkxxxx1615 153 3kttt LLI AT EAY 2.1 1.7 20 42 187382158
340 | HBRZE 642226%kkkkkxx 1617 623 0kkkkskkkkkk k6078 ZL AT A 1.8 1.5 20 36 180%%#%7586
341 | HBEMR | 642226%kkkkkkx1618 623 0sistsioitetoiotok 1 808 ARG LU ] 1.8 1.6 20 36 13745448193
342 | EY 642226%kkkkxx%1621 146 05kskskskskskskoksoskk ARTIE-RaRc ] 5.2 4.4 20 104 138%%3%7980
343 | H4El 642226%kkkxkkk1 618 6223tttk k6014 LLTREAT AT 4.2 3.4 20 84 18232831
344 | FaEk 642226%*kkkkkkk 1611 1 168skskskskskskkoktoskk ARGIE- YR 4.6 3.7 20 92 199##4%2655
345 | Sit#E 642226%k*kkkkkk161x 6229k 3680 EARGIE-¥aps N} 8 6.5 20 160 150ssksk%1182
346 | MRAE 642226%kx*xkk%%0017 6230k kkkkkkok k4656 ARGy SS9 N} 1.4 1.4 20 28 1593547277
M7 | MEHR 642226%k*kkkkkx1611 6229 K kkkkkdolok k31 89 ARGIE- YRR 1.5 1 20 30 1593548303
348 Tl 642226%k k%161 1 1243 %kkkkkkkokokk ARGIE: Ty B 9 N 6.2 5 20 124 1843k 1866
349 Tk 642226%kkkkkxx1619 6229k k%8574 ZLERAT A 5.7 4.6 20 114 158k5%8327
350 BV 642226 kkkkk%1611 1 168%kkkkokokokohokok ZL AT A 6.3 5.1 20 126 1843548383
351 38 642226%*kkskskkkk 1617 122 2%kskskskskokokokokok ARGIE ¥ aps o} 8.8 7.2 20 176 181%%%%7137
352 Z=34 642226%kkkkkkk 1612 622 Qskskkskskskokokokoksk 1 373 PARGIE: =M pe | 3.9 3.2 20 78 159%+%%9976
353 | AR 642226%*kkskskkk%k 1618 6229kskskskskskokokkk k6615 ARGIE N s o} 1.8 1.5 20 36 136%k5%5439
354 TH 642226%*kkkkkkk 1636 6229k KKk kkkkkK 65T 3 ARGIE- YRR b 2.2 1.8 20 44 13335445475




355 TH 642226%k*kkkxx0057 6229k 4440 EARGIE-¥aps o} 2.6 20 52 1523%k5%4812
356 | FAE 642226%kx*kkkk%k1615 6229k K kxxkkkkk %6490 ARGy SS9 N} 5 20 100 15335457554
357 TR 642226%*kkskskkkk 1619 10223kkkskokotokokokok ARGIE- YR N 4.6 20 92 15835448787
358 | EAIIE 6422265 kkkiokok 1613 1335%kkkkkokokokohkok ARGIE: Ty B 9 N 0.7 20 14 133#k4%5433
359 | FHER 6422265k 1618 1 336Kk Ak ARG U IS} 3.6 20 72 15 Lssksk0521
360 | FHEX 642226%*kkkkkkk 1610 137 Tokokototokokokk ZL AT A 3.4 20 68 1823544868 1
361 | THE 642226444161 x 622kskkkdokskkkkk 7349 ARGIE ¥ aps o} 2.1 20 42 150%%%7504
362 FH 642226k kK% 1610 62 30skkstekekkeksiokkk 2389 L AT A 2.1 20 42 183%x%x7653
363 BE 642226%*kkskskk%k% 1619 6229k’ 1910 ARGIE N e sy o} 3.6 20 72 18933091
364 | k- 642226%k k%1618 LAT Tk ok ARGIE- YR 3 20 60 18 skk5557
365 A7 642226%k*kkkxx1619 6229kskskskskskokokokokk 1665 EARGIE-¥aps N} 2.1 20 42 182:#k%%6145
366 | FATLL 642226%kx*kkkk%k1615 1488kkkkkkokokkokk ARGy SS9 N} 2.1 20 42 1843547749
367 T 642226%kkkkkxx363X 6229kskskskskskokokokkk 3493 ARGIE- YRR 4.8 20 96 130%55x6604
368 T4 642226k kkkkk% 1614 6229k KKk kkkkkk5293 ARGIE: Ty B 9 N 3.9 20 78 187345405
369 | FREH 642226%k*kkkkkx1611 6229kskskskskskokokokkk 5633 ZLERAT A 7.8 20 156 139552928
370 | E4EEk 642226%*kkkkkkk 1619 10223kkkskokotokokokk ZL AT A 5 20 100 183383277 1
371 TE 642226%kkkkkxx1613 133 5kkkskskakokodotolok ARGIE ¥ aps o} 3.1 20 62 184557549
372 | FRAE 642226k kKK 1612 62 30skkstekskskekstokkk 6009 L AT A 4.5 20 90 158*xxx7002
373 | FHFEE 642226%*k*kkkkkk 1614 171 8%kkkkokohohohohok EARGIE Uy sy b} 2.8 20 56 152%k5%4878
374 | skaiA- 642226%*kkkkkkk 1619 6229Hskskskkkokk k%97 30 ARGIE- YRR b 2.3 20 46 137#%%7002




375 | kit 642226%k*kkkxx161 1 165 Dkkskskskskokokotokok EARGIE-¥aps o} 5.2 1 4.2 20 104 1365446717
376 R 642226%*kkskskkkk 1612 6229k 1994 ARGy SS9 N} 2.2 0.4 1.8 20 44 184#3k5%7382
377 | AAEE 642226%kkkkkkk 161 x 1488k ARGIE- YR N 2 0.3 1.7 20 40 152%k%%3454
378 | HKTIEL | 642226%kkkkxkk161x 6229kokokkkolok k9593 ARG KU | 3.9 0.7 3.2 20 78 13435557762
379 | 5k HE 642226%k***kkxx8116 6229kHskkkkokokkxk 1 258 ZLTERAT A 1.4 0.2 1.2 20 28 182%%4%4722
380 | AREMN 642226%*kkskskkokk 1632 6229+ Kk kkkkkkk (0023 ZL AT A 3.2 0.6 2.6 20 64 1873547928
381 | ZeEAN 642226%%kkxx%%%1612 1 795 %%k EARGIE Uy gS 2 b} 2.1 0.4 1.7 20 42 1585k 1663
382 | L& 642226%kkkkxx%1616 1 488skskskskskskokoksokok ARTIE-RaRc ] 0.3 0.1 0.2 20 6 1825%%3%0756
383 | EMRER 642226%kkkkkxx1635 6229kskskskskskokokokokk 3023 ARGIE N e sy o} 2.6 0.5 2.1 20 52 158k5%7262
384 BN 642226%kkkkkx% 1654 6229k k6276 ARGIE- YR 5.9 1.1 4.8 20 118 182:#3#%2068
385 1K 642226%kkkkkxx1617 6229 kkkkkkkxx%2290 EARGIE-¥aps N} 1.8 0.3 1.5 20 36 181#%#%9579
386 | I 642226 4k*kkk4% 1618 6229 kkskkskokokkkkk94 17 ARTIERapc v} 2.5 0.5 2 20 50 1885066
387 K 642226%kkkkkxx1618 1795%%kkkkkokokokk ARGIE- YRR 2.3 0.4 1.9 20 46 134#35%5350
388 | RN 642226%*kkkkkkk 163X 148Bkskskstststtotototok ARGIE: Ty B 9 N 2.1 0.4 1.7 20 42 180#3##%6056
389 | FHEEL 642226%kkkkkxx1613 6229kHkkkkokokkxk 1498 ZLERAT A 2.7 0.5 2.2 20 54 18744194
390 | ZBJRIE | 642226%kkkkkkx1640 6229skksskpsoieokk 3000 ARCIE N | 3.8 0.7 3.1 20 76 1593416617
91 | &% 642226tk 1 635 62293k kksksskskkoksk ok 1 266 ZLIERAT A 6.4 1.2 5.2 20 128 18356951
392 | T4 X 642226%kkkkkx%1613 1022skskskskskskokoksoskok ARTIE: L gRcy ) 4.5 0.7 3.8 20 90 17 T#%3%3792
393 | £&% 642226%*kkskskkk%k 1619 1004skskskskskskokokofokok ARGIE N s o} 3.9 0.7 3.2 20 78 181#k5%7659
394 | W& 642226%*kkkkkkk 1638 623 0kkskskskskkkkkk 5878 ARGIE: =Ty SS9 N 1.1 0.2 0.9 20 22 131#85%6433




395 | 9k K 642226%k*kkkxx1610 1 446%kskskskskokokodokok ZL A A 4.1 0.8 20 82 138#k#%8581
396 | Foad 642226%kkkkkxx161 1 6229kkkkskkokokokkk 3769 ARGIE: Mot =¥ N} 2 0.3 20 40 136%35%7205
397 | ERA 642226%+kkkx%%1614 6229kskskstsdokokakkkk 2068 EARGIE: = Mita =¥ N} 2.7 0.5 20 54 14T#%%%7913
398 | K 642226%kkkkkkx1612 622Pkkkkkkokokokk 539 1 EARCIE: M ol ¥ N 2.9 0.5 20 58 150%%#%3205
399 | ELA 642226%k*kkkxx2163 6229kHkkkkokokkxk (772 EARGIE - Wet=cy o} 7.2 2.3 20 144 182:%k%%7632
400 | KM IE 642226%*kkskskskokok 1622 622 Pkskkkkkkkokokok (0364 EARGIE:= Mt =¥ N} 5 0.9 20 100 1393kkx7742
401 | ZEA- 642226%kkkkkxx1437 6229kHkkkkokk k% %8683 ARGIE Wetsy N 6.5 4.3 20 130 155%##%0185
402 ARGE WeE | 7.3 1.4 20 146 -:
403 | #it4 642226%kkkkkkx 1639 6229kHkkkkokkkkk 1 786 EARGIE W t=cy N} 5.7 1 20 114 13657171
404 | EmA 642226%kkkkkxx1617 6229kkkkkkkkkkk 3048 EARGIE:= Mt =¥ N} 2.9 2.9 20 58 177#55x8011
405 | EEE 642226%kkk3kkkk 1 636 6229 skskskskskskokokkk 2317 ARGIE: Mol 5% N} 1.8 1.8 20 36 13054927
406 | EEN 642226% k%1616 6230k kxS 7 5 EARGIE: Mt =¥ N} 1.5 1.5 20 30 1823545307
407 | BEEK 642226%*kkskskkkk 1617 6229k 5234 EARGIE:= Mt =¥ N} 3.9 0.8 20 78 181###%8555
408 | WEEsE 642226%kkkkkkk0029 622Pkkkkkkkokokk 594 | EARCIE: M ol ¥ N 5.4 1.6 20 108 184#35x7737
409 | EZFE4E 6422264kkkk4k 1615 6229kksksksdokkokkkk4484 EARGIE - Wel=cy N} 3 0.6 20 60 187#%%%7361
410 | WE 642226 kkkkk%1611 6229kkskskskkkkokkk 1193 EARGIE:= Mt =¥ N} 1.5 0.2 20 30 187#3#x0040
411 | EEH 642226%kkkkkxx1620 6229k Hkktokokokx %9802 ARGIE Wetsy N 2.8 0.5 20 56 1363547766
412 | FRIE 642226%kkkkkxx0034 6229Hdskokokokokokk k5482 EARGIE W ot=cy N} 3.1 0.6 20 62 139%#3%7059
413 | Z5fpd 642226%kkkkkxx1618 6229kHkkkkokokkx %9713 EARGIE W tacy b 9.3 5.1 20 186 132%%5%8619
414 | ZHZE 642226%kkkkkkx1638 6229kkkkkkkkkkk 2028 EARGIE:= Mt =¥ N} 3.9 0.7 20 78 150%55%7959




415 | &5z 6422264k 1614 6229kkkkkokokokkx k7932 EARGIE W et=cy N} 2.1 0.4 1.7 20 42 139%3%7012
416 | ZE4hEH 642226%*kkskskkkk 1612 6229 kkkkkkkkkk k8069 ARGIE: Mot =¥ N} 7.5 1.6 5.9 20 150 183#k4%7786
417 | WE 642226%kkkkkxx1611 6229kHskkkokokokkkk 1193 ARG K= o o 4.4 0.8 3.6 20 88 152%%%%4664
418 | HEK 642226%kkkkkk%k1 635 6229k Kk kkkkkkk 4053 ARTE: eS| 6.2 1.1 5.1 20 124 13935346182
419 | HEF 642226%kkkkkxx1618 6229kksttstokotkokok 7126 EARGIE - Wet=cy o} 5.3 1 4.3 20 106 17 7#%%%8373
420 | K EE 64222 6%k 1625 6229kkkkkkkkkkk 3057 EARGIE:= Mt =¥ N} 8 2.4 5.6 20 160 159#3k%283
421 | BHFEAR | 642226%kkiokik1612 6229sksksictsiottokkok 2370 ARTIE: Sty 3.7 1.5 2.2 20 74 1383447260
422 | BEEGE 642226%kkkkkx %3618 6229Hskokekokokk k%9928 EARGIE W ot=cy N} 5.6 1.1 4.5 20 112 150%*#%4933
423 | ERX 642226%k*k*kkxx1610 6229k %5240 EARGIE W t=cy N} 2.9 1.4 1.5 20 58 157#k5%3796
424 | B4R 642226 kkskkokok 1612 622 9kokskokkkoiok ik 3204 ARTE: WS 8.5 1.2 7.3 20 170 152351067
425 | EEAR | 642226%kkkkxkk1614 622 Pkksokdrtork k(0258 ARG isE e | 3.9 0.7 3.2 20 78 151341380
426 | BAEH | 642226%kkkkkkx1617 6229kttt 31 72 ZLIA A A 7.6 1.4 6.2 20 152 1834tk 7772
427 | BEJEER | 642226%kkxkkxx1631 6229k 5375 ARCIE MRSV | 2 0.3 1.7 20 40 139s55x7201
428 | HHE 642226%*kkkkkkk 1636 623 Qkkkkokokok 1 139 EARCIE: M ol ¥ N 8.5 4.9 3.6 20 170 139#35%4990
429 | &7 642226%*kkskskkkk 1617 622 9kskskskskskokokokkk 9752 EARGIE - Wel=cy N} 4.5 0.8 3.7 20 90 15957497
430 | H4 64222634k 1610 62 30skkckekskekeketkekokek 5 344 ARGIE W sEEy N} 6.4 1.1 5.3 20 128 158+:#%x5518
431 | ERfe 6422264kkkkk%161 1 6229k*kkkkkkxk %3907 ARGIE Wetsy N 2.7 0.5 2.2 20 54 158%*x*+0683
432 | EENR 642226%*kkskskkk%k 1619 6229k kK Kk kkkkkK 6467 ARGIE: Mol 5 N} 2.5 0.4 2.1 20 50 1595448992
433 | EREN 642226%kkkkkxx1617 6229k %5209 EARGIE W tacy b 2.4 0.4 2 20 48 150%k5%7423
434 | HHE 642226%*kkkkkkk 1615 6229 kkkkkkkkkk k8675 EARCIE: =M ol ¥ 3.5 0.7 2.8 20 70 138#3##%7099




435 | EF5H 642226%k*kkkkk% 1622 6229tk 5266 ARGIE: Mol 5% N} 1.1 0.2 0.9 20 22 136skk7542
436 | FAENK 642226%kkkkxxx1614 623 Qkkookokok 3879 ARGIE: Mot =¥ N} 3.3 0.6 2.7 20 66 182:#34%6966
437 | ERA 642226+4kkkk4k 1610 6229kHkkkkkkk k%3965 EARCIE: =M ol ¥ 8.4 1.5 6.9 20 168 15 1#%%%4566
438 | ER%E 642226%kkkkkxx1616 6229kskskkkokkkkk 567 1 EARCIE: M ol ¥ N 4,8 2 2.8 20 96 139#k5%7433
439 | EAN 642226%kkkkkxx1615 6229 %kkkkokokk k%6256 EARGIE - Wet=cy o} 2.8 2.8 20 56 135%k5%2839
440 HAES 642226 kkkkkkk 1615 6229 kHkekekkekekekekk 3743 FARTIE: WS sy} 6.4 1.2 5.2 20 128 13847443
441 | Bk 642226%kkkkkk 1615 6229 %kkkkokokk k%8310 ARGIE Wetsy N 1.1 1.1 20 22 138%*%%2482
442 | HEHE 642226 4kkkk4% 1618 6229Hskkokkolekokk k4067 EARGIE W ot=cy N} 4 4 20 80 1525%%3%7598
443 | BHEE | 642226%kkmkknk]1619 6229skstiotsototokokk8193 ARTIE: Sty 3.4 0.6 2.8 20 68 1534%4k1802
444 | R 642226+4kkkk4k 1628 6230Hskskskokokokkk%089 1 ARTIE: W sEey ) 3.2 0.6 2.6 20 64 157#%%%0348
445 | FRHI 642226%*kkskskkkk 1617 6229 Kk kkkkodolok k620 1 ARGIE: Mol 5% N} 5 1.8 3.2 20 100 15 156993
446 | ERIE 642226% k%1630 6229kkkskkkkkkk k8628 EARGIE: Mt =¥ N} 4.7 0.9 3.8 20 94 158###%3718
447 | ERKK 642226%%kkkx%%1611 6229kskskstsdokokakkokk6 743 AR =M o o 2.7 2.7 20 54 139%%%%7310
448 | HXT5 642226%kkkkkkk 1623 623 0kskskskskskokkkkk 1493 EARTIE: Mot ¥ 3 1 2 20 60 150%%#%8998
449 | #1E% 642226%kkkkkxx0013 6229 %kkokokokk k%2899 EARGIE - Wel=cy N} 5.6 1 4.6 20 112 187*%%7110
450 | BEFEVE | 642226%kkkikkkx1618 6229tttk k8493 ARG K isEsr N} 6.1 2.6 3.5 20 122 1394ktk 7783
451 | Btk 642226%kkkkkxx0013 6229kHkkkokokokkx k3147 ARGIE Wetsy N 10. 2 6.2 4 20 204 150%**%3359
452 | ERM | 642226%kkkxkk%k1612 6229 kskokkoiokk k5721 ARG isEer N 5 0.9 4.1 20 100 18549888
453 | - FH 642226%kkkkkk% 1632 622 9kskskskskskokskokokk 1§02 EARGIE W tacy b 2.1 0.4 1.7 20 42 14T#55%3475
454 | FKZSFT 642226%*kkkkkkk 1618 6229 kskskskskokokokokk 6777 EARTIE:= Mot ¥ 6 1.1 4.9 20 120 151#k5%7401




455 | 1RICK 642226%k*kkkxx1616 6229kHkkkkokkkk %5456 EARGIE W et=cy N} 6.1 1 5.1 20 122 152%%3%7899
456 | FKAEAT | 642226%kkkkkkx1619 6229tttk k k8998 ZLIA A A 3.3 0.6 2.7 20 66 139447118
457 | K= 642226+4kkkk4k 161 x 6229kHskkkkokokkk k7945 EARCIE: =M ol ¥ 4.1 0.8 3.3 20 82 158%*+%8590
458 | KW 642226 kkkkkx1631 622 Pkskkkkkkkokokk 7439 EARCIE: M ol ¥ N 1 1 20 20 155%k5x1111
459 | K=z 642226%kkkkkxx1611 6229kHkkkkokokkx %4483 EARGIE - Wet=cy o} 5.2 1 4.2 20 104 138%x3%7321
460 o it 642226%*kkkkkkk 1618 6229+ K kkkkkkkk 3569 EARGIE:= Mt =¥ N} 7.2 1.2 6 20 144 1733543837
461 | LK== 642226%kkkkkxx1628 6229kkkkokkk k%8757 ARGIE Wetsy N 2.8 2.8 20 56 136357542
462 | A e 642226x+kkkx%%0014 6229Hsdsdokokokokok k%8232 EARGIE W ot=cy N} 4.4 0.7 3.7 20 88 139%%3%7268
463 BRI 642226+4kkkk4k 1638 6229ksksksksdokkokk 446706 ARGIE: S s oV} 5.5 0.9 4.6 20 110 180%k#%8112
464 L Ag 642226%*kkkkkkk 1611 6229kkskskskskokokokokk 3882 EARGIE: =M ol ¥ 5.3 1 4.3 20 106 181###%8889
465 | HARE 642226+4kkkk4k 1636 6229kkkdkkokkAk%k 2075 EARGIE W ecy N} 0.6 0.6 20 12 139%3%7794
466 | FHE®% 642226%kkkkkkx1646 623 0kskkkskskkkkk k5595 EARGIE: Mt =¥ N} 4.1 4.1 20 82 153#3k5%4682
467 | THE® 642226%kkkkxx%]1 622 6229k ()1 34 EARCIE: =M ol ¥ 6.4 6.4 20 128 158###%8325
468 | #RSCH 642226%*kkkkkkk 1617 622Pkskkkkkkkokokok 1 680 EARCIE: M ol ¥ N 1.6 1.6 20 32 138##4%4203
469 HA 642226%kkkkkxx1610 6229 kkkkkkkkxk %2530 EARGIE - Wel=cy N} 2.8 2.8 20 56 157#%%%8956
470 | 5K 6422263%skkkskskok 1 618 622 9skksksoktotkokokk 7525 ARG K isEsr N} 4,2 0.8 3.4 20 84 182443361
471 | EXNE 642226%kkkkkxx1618 6229 kkklokokokk k47 34 ARGIE Wetsy N 1.9 1.9 20 38 1393k 1889
472 | ERFE 642226%kkkkkxx1612 6229k Hkkkkkkx k%7216 EARGIE W ot=cy N} 0.7 0.7 20 14 136k5%7371
473 | ERE 642226+ 4kkkk4k 1615 6230%kskkkkokokkx %5488 EARGIE W tacy b 0.8 0.8 20 16 188%#%5525
474 1158 642226%*kkkkkkk 1638 6229kkkkkkkkkkk 3865 EARCIE: =M ol ¥ 1 0.2 0.8 20 20 180###%9888




475 | GRIEFE | 642226%kkkkikk 1617 622Pkkrokkaotok k2 1 86 ARG kT ey | 10. 3 1.8 8.5 20 206 159%*%%7955
476 2IE 642226%kkkkkxx1616 6229k k4996 ARGIE: Mot =¥ N} 6.1 1 5.1 20 122 152#%5%9550
477 | gkt 642226+4kkkk4k 1610 6229%kkkkkkkkk %5038 EARCIE: =M ol ¥ 14.1 2.4 11.7 20 282 173%%%%0964
478 | TR 642226%kkkkkkx 161 x 6229kkkkkkkkkkk 1613 EARCIE: M ol ¥ N 2 2 20 40 181###%2000
479 | FpEiE 642226%k*kkkxx1635 6229kHskkkkkokkxx 1705 EARGIE - Wet=cy o} 4.9 0.9 4 20 98 132%%%%8136
480 | R% 01 642226%*kkskskskokok 1622 6229kkkkkkkkkk k8597 EARGIE:= Mt =¥ N} 1.2 1.2 20 24 159#3#4%0592
481 | ka71E 642226%kkkkxx%0032 6229k %8055 ARGIE Wetsy N 3 3 20 60 13857101
482 | 5K X 642226k 4kkkk4%1618 6229k 448095 EARGIE W ot=cy N} 4.4 0.7 3.7 20 88 158%*#%7611
483 | kI 642226%*kkskskk%k%0017 6229k k9307 EARGIE W t=cy N} 4.5 0.7 3.8 20 90 158%k%%8556
484 | A 642226%*kkkkkkk 1619 6229k Kkkkkokkk k%255 EARGIE: =M ol ¥ 4.7 4.7 20 94 136%35%7690
485 | HiHHE 642226%k*kkkxx1618 6230kskkkkokkxk k405 1 EARGIE W ecy N} 0.5 0.5 20 10 158%*#%0360
486 | Ky 642226k kkkkk%1614 6229k k8170 EARGIE: Mt =¥ N} 14.8 3 11.8 20 296 152#%5%8077
487 | EMAN 642226+4kkkk4k 1619 6229kHskkkkokokkkk4 153 EARCIE: =M ol ¥ 0.6 0.6 20 12 187#%x%2085
488 | F4RES 642226%kkkkkkx 161 x 623 Qkkkkkkokokok 0674 EARCIE: M ol ¥ N 0.6 0.6 20 12 150%3k5%7782
489 | HZ- 642226x+kkkxk%161 1 6229kHkkkkkkxx%6200 EARGIE - Wel=cy N} 1.1 1.1 20 22 139%3%4415
490 | =T 64222 6%k 1 62 6229k Hskkkokkkx k3113 EARGIE:= Mt =¥ N} 4.1 0.7 3.4 20 82 177#%x8018
491 ¥ 642226441 62x 6229kkkdkkkkkkk 4988 ARGIE Wetsy N 0.3 0.3 20 6 136%+%%x0934
492 | BENS 642226 kkkkkk 1616 6229 kskokkkoiokk k3726 AR W] 3.9 0.7 3.2 20 78 150552989
493 | ERfE 642226x+kkkkk% 1 64 x 6229%Hkkkkkkx%%9606 EARGIE W tacy b 0.3 0.3 20 6 152536530
494 AN 642226%*kkkkkkk 1615 622 9kskskkkkkkokokk 525 1 EARCIE: =M ol ¥ 9.4 1.6 7.8 20 188 150%55%7879




495 2% 642226%*kkskskkk%k 1658 6229kskskkkkkkkk 530 1 EARGIE W et=cy N} 3.4 0.6 2.8 20 68 173%55%8973
496 | FExE 642226%kkkkkkx1623 6229 skskskskskokokokokk 2418 ARGIE: Mot =¥ N} 1.1 1.1 20 22 152#%5%2989
497 | AR 642226+4kkkk4k 1610 6229kHkkkkokokkx %9403 EARCIE: =M ol ¥ 2.6 0.5 2.1 20 52 181#%%%1063
498 | AHA 642226%*kkkkkkk 1616 6229 kskskskskokokokokk 5423 EARCIE: M ol ¥ N 0.7 0.7 20 14 150%k5%4472
499 | TRE | 642226%kkkkxkk162X 622 Pkksotkkookk 1 741 ARG isEer | 0.6 0.6 20 12 155542779
500 | #R3CHA 6422263%skkkskskk 1 610 622 9sksksoktotkkokk 70 18 ARG KT isEeY N 4.7 0.9 3.8 20 94 1387351
501 | sksFEF 642226%*kkskskkkk 1623 6229 K kkkkotolok k213 1 ARTIE: MY N} 5.3 0.9 4.4 20 106 13957611
502 | EEZR | 642226%kkkkkkx1610 622 Pkkksoktoiokkk 8923 ARG kT ey vl 0.7 0.7 20 14 138449670
503 | EF 642226%kkk4kk 1613 6229kkkkdkkkk k8669 EARGIE W t=cy N} 18.6 8.2 10.4 20 372 158%#4%6469
504 | AEETS 642226%kkkkkkx1669 6229kkkkkkkkkk k8503 EARGIE: =M ol ¥ 2.1 0.3 1.8 20 42 130%35%6012
505 | EEM | 642226%kkkkkkx1617 6229%skkskpskskork 1 091 ARGIE - eV | 9.5 4.7 4.8 20 190 156%kskx6184
506 | g 642226%kkkkkkk 1 618 6229k kskktolok 1 758 ARTE: eS| 11.3 3.9 7.4 20 226 155%#5%8599
507 AR 642226%*kkskskkkk 1626 6229kskskskskskokokokokk 3202 EARCIE: =M ol ¥ 10 10 20 200 155%##%8599
508 | FEralA) 642226%kkkkkkx1637 623 0kskskskskkkkkkk (552 EARCIE: M ol ¥ N 5.3 3.8 1.5 20 106 153%55%2247
509 | Ewm 642226%kkkkkx%1634 6230%skkkkkakkk %0560 EARGIE - Wel=cy N} 5.2 3.4 1.8 20 104 18032940
510 | £ 642226%kkkkkkx 1615 6229k k8789 EARGIE:= Mt =¥ N} 3 0.6 2.4 20 60 130%3#5%5733
511 | FHR=E 642226%Hkkek4k 1612 6229skkkdokokokokokk 7444 ARGIE Wetsy N 9.2 1.5 7.7 20 184 132%k%%0718
512 | B | 642226%kkkkkkx1619 622 9skkkokfotkok k69662 ARG kT ey v} 11.5 3.2 8.3 20 230 1364448278
513 | Edik 642226+4kkkk4k 1619 6229kkkkkkkkkx %1995 EARGIE W tacy b 4.5 2.2 2.3 20 90 155%%#%6893
514 | THHE | 642226%kkpkkxk1617 6229 %sskksokoksiokokok 8602 ARTIE: SV | 5 0.8 4.2 20 100 139tk 2784




515 | E—Hk 642226+4kkkk4k 1617 622Pkkkdkkokkkkk 7155 EARGIE W et=cy N} 3.9 0.7 3.2 20 78 139%#*#%3259
516 | T2 642226%kkkkkxx1610 6229k k6929 ARGIE: Mot =¥ N} 5.2 1 4.2 20 104 188#kkx7773
517 | Ewse 642226%kkkkkxx1617 6229kskskskskskokkkkk 4595 EARCIE: =M ol ¥ 7.5 4.7 2.8 20 150 157#%5%9668
518 | Ew 642226%kkkkkxx1612 6229 kkkkkkkkkkk 1688 EARCIE: M ol ¥ N 10.1 4 6.1 20 202 150%k5%4157
519 | 5% 642226%*kskskskkkk 1625 6229kskskkkkkokkk 2110 EARGIE - Wet=cy o} 5.3 5.3 20 106 150%%%%4549
520 | FKFEEE | 642226%kkxkkkk]1624 622 9skkoktotkkkk 5578 ARG KT isEeY N 4,2 0.8 3.4 20 84 1364417818
521 | Ewi 642226%kkk3kkk0k 1 635 6229 Kk kkkotolok k(072 1 ARG WeE= | 8.2 1.4 6.8 20 164 183457325
522 | AR 642226%kkkkkxx1617 6229k k979 | EARGIE W ot=cy N} 12 4.5 7.5 20 240 133#k5%9055
523 | ERNI | 642226%kkkkkkk]1612 622 Pststsiottetiekkk 8958 ARG LT ey v 11 2 9 20 220 1385452289
524 | EREF 642226%kkkkkxx 161 1 6229kkkkkkkkkk k8685 EARGIE: =M ol ¥ 8.4 4.1 4.3 20 168 138#k4x7961
525 | E#X 642226%k*kkkxx1618 6229k Hskokkokokokk k4733 EARGIE W ecy N} 2.1 0.4 1.7 20 42 134%k5%7594
526 | FRM%E 642226%kkkkkxx163 1 6229k ok 2019 EARGIE: Mt =¥ N} 11 5.4 5.6 20 220 138#k5%2382
527 W335 642226%kkkkkxx1640 6229kHkkkkkkkkk [ 356 EARCIE: =M ol ¥ 14.1 2.5 11.6 20 282 139%%%%7743
528 | IRICHE | 642226%kkskkkx1615 6229k Kok Kok k5586 ARTIE: AoV | 8.8 1.5 7.3 20 176 1874542319
529 | Ermik 642226%kkkkkxx1658 6229k koo k681 2 EARGIE - Wel=cy N} 6.3 1.1 5.2 20 126 159557671
530 | ZELE | 642226%kkxkkkx1614 6229tttk (0432 ARGIE: WSty ] 1.6 0.3 1.3 20 32 186446081
531 | ZEiE 642226%*k*kkkkkk161x 6229kskskskskkokkkk k(0465 ARGIE Wetsy N 6 1 5 20 120 147%%%%2349
532 | ERis 642226%*kkskkkk% 1615 6229k HkkkkkkkkkT 163 ARGIE: Mol 5 N} 7.2 4.4 2.8 20 144 147550608
533 | Efith | 642226%kkkkkkk1615 622Pkksrokkarotok k%9996 ZLIEE A 13.1 6.4 6.7 20 262 157#%%%8488
534 | EHhR 642226%kkkkkxx1616 6229kkskskskskokokokkk 7397 EARCIE: =M ol ¥ 5.8 1.1 4.7 20 116 135%k4x8644




535 ARGE WeE= | 4.7 0.9 3.8 20 94 -:
536 | FroE 642226%*kkkkkkk 163X 6229kkkkkkkkkkk 2055 ARGIE: Mot =¥ N} 6 1.1 4.9 20 120 173%55%0343
537 | EwA- 642226k kkkkx%1612 6229kHkkkkokkkkk 1190 ARCIE WEEv | 3.6 0.7 2.9 20 72 136%35%4636
538 | BiEEE | 642226%kkkkkkk1629 6229tttk ko k6802 ARCIE: Wy 13.1 9.3 3.8 20 262 1393k4k7831
539 | E4L 642226+4kkkk4k 1655 622Pkkkkdokskkkdk 7130 EARGIE - Wet=cy o} 6.8 2.9 3.9 20 136 1525447548
540 | TRZMH | 642226%*kkkkk%1613 622 9skkoktoikokk k9103 ARGIE: M SEEy ] 2.6 0.5 2.1 20 52 1844347966
541 | ZE3CiE 642226%*k*kkkkkk161x 6229kskskskskkokkk k(0465 ARGIE Wetsy N 7.5 7.5 20 150 150852521
542 | 1% H 642226k 4kkkk4%k 1657 6229 kkktsdokekeickokk 0077 EARGIE W ot=cy N} 9.6 7.1 2.5 20 192 180%*#%9519
543 | fa[/b3z 642226%kk*k*kkxx1616 6229kHkkkkokk k% %8618 EARGIE W t=cy N} 7 1.2 5.8 20 140 153%%%%0391
544 | fa/b4g 642226%*kkkkkkk 1618 6229 kskskskskokokokokk 7297 EARGIE:= Mt =¥ N} 3.1 0.6 2.5 20 62 182:#k4%7172
545 | fa[/bxs 642226+4kkkk4k 1618 6229 kksksksdokkokk4k8519 EARGIE W ecy N} 2.2 0.4 1.8 20 44 158%%#%7057
546 | T2 642226%kkkkkkx1618 6229kkskskskskokokokokk 5702 EARGIE: Mt =¥ N} 2.5 0.5 2 20 50 158#k5%7057
547 | TAHEEE | 642226%kkskkk*1631 6229k kkkk k6869 ARG Lol 5 0.9 4.1 20 100 15135454866
548 | T fEE 642226 kkkkkx1611 622Pkkkkkkkkokokok 3659 ARGIE: WSS 3.4 0.6 2.8 20 68 138s##5+8399
549 | IRICIE | 642226%kkkkkkx1615 6229kt kkdokk k6754 ARG isEer N 3.6 0.7 2.9 20 72 150%#5%3075
550 | TRICEL | 642226%kkxkkkx1611 6229tttk k8955 ARGIE: WSty ] 4.6 0.9 3.7 20 92 1384418399
551 | 1&%H 642226%kkkkkxx1613 6229kHkkkkkk k% %9469 ARG KMoV} 2 0.3 1.7 20 40 1373447442
552 | f&REW 642226 kkkkokk 1617 6229k kskstolok k4004 AR W] 5.3 1 4.3 20 106 13935423
553 | 1B%E 642226%kkkkkxx1631 6229kHkkkkkkxk %4609 EARGIE W tacy b 2.7 0.5 2.2 20 54 151 %%%k4371
554 | 1R 642226%*kkkkkkk 1613 622Pkskkkkkkkkokk 5619 ARTIE: MY o} 1.8 0.3 1.5 20 36 181#kk%4012




555 | & E 642226%k*k*kkkkk1611 6229kskskskkkokokk 483 1 EARGIE W et=cy N} 2.7 0.5 2.2 20 54 137#k5%7585
556 | iz 6422264k xxkk%%1613 62295k KKk Kk AT 2 ZLIBR B A 4 0.8 3.2 20 80 158%##%8691
557 | 1RZRE 642226%*k*kskkkkk 1618 6229kskskkkkkkkokok 1670 EARCIE: =M ol ¥ 2.7 0.5 2.2 20 54 150%55%6858
558 KA 642226%kkkkkxx 1617 6229 kkkkskkokkokk k9162 EARCIE: M ol ¥ N 3.1 0.6 2.5 20 62 188:###x8786
559 | &%) 642226%*kskskskskkk 1628 6229kskskkkkkkokokok 7689 EARGIE - Wet=cy o} 1.3 0.2 1.1 20 26 138#k4%3964
560 +5 642226%kkkkkkx1623 6229kkkkkkkkkk k4583 EARGIE:= Mt =¥ N} 4,3 0.8 3.5 20 86 158###%8957
561 | THEME 642226+4kkkk4k 1619 6229kHskskkokokokokkk [ 342 ARGIE Wetsy N 4.3 0.8 3.5 20 86 138%*%%8399
562 | tREH 642226k Hkkkk4k 1617 6229Hksdokokokokokk k4633 EARGIE:=Mste ¥ b} 1.7 0.3 1.4 20 34 18T%3xT7117
563 | &% & 642226%*kkskskkkk 1617 6229kskskskskskokokokkk 5628 EARGIE W t=cy N} 2.1 0.4 1.7 20 42 181 #k5%2640
564 | 1R%H 642226%*kkkkkkk 1618 6229 kkkkkkkkk k(0077 EARGIE: =M ol ¥ 2.2 0.4 1.8 20 44 181#55%2640
565 | &% 642226%k*kkkkkk161x 6229k 798 1 EARGIE W ecy N} 1.5 0.2 1.3 20 30 139352880
566 | 1R 6422264 kkxkkkk 161 1 6229k kkkkkokok (0333 ZLIBR B A 2.2 0.4 1.8 20 44 13T##kx7871
567 | R4k 62270 1 #skkkkkxx2916 6229kskskkkkkkkokk (0409 EARCIE: =M ol ¥ 1.2 0.2 1 20 24 199#355%2397
568 | MRELIR | 642226%kkkikkk]62x 623 0tttk 372 | ARGV | 1.2 0.2 1 20 24 157446563
569 | &%) 642226%*kkskkk%k% 1610 6229kskskskskskokokokkk 5498 EARGIE - Wel=cy N} 6 1.1 4.9 20 120 150%k5%5170
570 | &M 642226 kkkkk%1611 6229k K kxxkkkkokk 1 666 EARGIE:= Mt =¥ N} 1.9 0.3 1.6 20 38 15 13#54k7966
571 | &% 642226%kkkkkxx1653 6229 %kkkkokkkk %51 30 ARGIE Wetsy N 5.2 1 4.2 20 104 150%#4%8330
572 | 1&ZH4E 642226%kkkkkxx1616 6229Hsdskkokokkk k6093 EARGIE:=Mste ¥ b} 3.4 0.6 2.8 20 68 150%%#%7870
573 | GG | 642226%kkimkkik]633 6229tttk k0468 ARTIE: SoEY L 3.4 0.6 2.8 20 68 1585k 7839
574 | 1R%E5 642226%*kkkkkkk 1636 622Pkkkkkkkokokokok 564 | EARCIE: =M ol ¥ 2.1 0.4 1.7 20 42 138##4%4837




575 642226%kkkk*kxx1649 6229kHskkkkkkx %8650 EARGIE W et=cy N} 3.2 0.6 2.6 20 64 153%%3%1 174
576 642226%*kkskkkkk 1628 6229kkskkskskokokokkk (0392 ARGIE: Mot =¥ N} 2.6 0.5 2.1 20 52 187#kk%3122
577 642226%*kkskskkkk 1617 6229kskskskskskokokokokk 3372 EARCIE: =M ol ¥ 5.5 1 4.5 20 110 15 k4291
578 642226%*kkkkkkk 161 x 622 Pkskskkkkkokokk 245 EARCIE: M ol ¥ N 8.1 1.5 6.6 20 162 157#%5%7735
579 642226%kkkkkxx1611 6229kkskkkkokokkx k5857 EARGIE - Wet=cy o} 4 4 20 80 152%%3%7532
580 642226%*kkkkkkk 1639 6229kkskskskskkokokkk 5032 EARGIE:= Mt =¥ N} 2.1 1.1 1 20 42 180#3##%2352
581 642226%*k*kkkkkk 1611 6229kskskskkkkkkokok 1059 ARG WeE= | 3 0.8 2.2 20 60 1333k3k1062
582 642226k 4kkkk4%k 1657 6229Hssdokokokokokkk 7822 EARGIE W ot=cy N} 5.4 1 4.4 20 108 15056255
583 642226%kkkkkxx1619 6229k Hkkkkokokkx %4625 EARGIE W t=cy N} 3.4 0.6 2.8 20 68 13937362
584 642226%*kkskskokokk 1612 6229k kkkkkokokkxx450 1 EARGIE: =M ol ¥ 1.6 0.3 1.3 20 32 139##5%7375
585 642226+4kkkk4k 1619 6229kskskskskokokakkkk 7548 EARGIE W ecy N} 2.7 0.5 2.2 20 54 1508091
586 642226%*kkskskkkk 1652 6229kkkkkkkkkk k(0558 EARGIE: Mt =¥ N} 4.3 0.8 3.5 20 86 177#%5%8659
587 642226%kkkkxx%]1632 6229kHkkkkokkkkk 1 026 EARCIE: =M ol ¥ 2 0.3 1.7 20 40 158%*%%8215
588 642226%kkkkkkk 1616 6229kkskskskkokkkkk 4997 EARCIE: M ol ¥ N 2.4 0.4 2 20 48 134#55%7656
589 642226%kkkkkxx1614 6229kkkkkkokkkx k0415 EARGIE - Wel=cy N} 2.6 0.5 2.1 20 52 14 7#x5k404 1
590 642226 kkkkk%1611 6229 %kkkkokkkkk k2444 EARGIE:= Mt =¥ N} 5.5 1 4.5 20 110 157#%5%7298
591 642226%kkkkkxx1619 6229kHskkkkokokx %9093 ARGE:SR=RT Y} 8.9 1.4 6.2 1.3 20 178 181%%%%9238
592 642226k 4kkkk4% 1618 6229kkskkskokokkkkk 5702 ARGIETN RV 7 1.1 4.9 1 20 140 159%#3%]1289
593 642226%Fkkkkkxx1619 6229kHkkkkkkxk %3756 ARGIEN RV 1.6 0.2 1.4 20 32 147437327
594 642226%*kkkkkkk 1626 1336%%kkkkkkkokk ARGE VRN 4.7 0.7 3.3 0.7 20 94 150%#%7010




595 | H“FRE 642226%k*kkkkk% 1612 1022%kkskkkkkokokk ARGIETN =RV 5.7 4.0 0.8 20 114 135%%%%7054
596 | fECEE 642226%*kkkkkkk 1610 1655%kkkkkkkkkk ARGIE =RV N} 2 1.7 20 40 187#k4%8125
597 | IRBAEE | 642226%kkxkkkx1611 6229k 5235 CARGIE: =RV 1.9 1.6 20 38 181stx6713
598 | fRJTHH | 642226%kkkkxk1636 6229k kokdokokk3 1 52 ARCIEER V| 4 2.8 0.6 | 20 80 13634542769
599 | =EE 642226%kkkkkxx1614 6229kskskskkkokokok T340 ARGIETN RV 4.7 3.9 20 94 151 ##5%9299
600 | Z=E 642226%*kkskkkkk 1638 R ARGE VRN 4 2.8 0.6 20 80 13635547973
601 | B H%E 642226%kxxk%k%%1613 622 skskskskkkkkkokok 3384 EARGIE =RV b} 2.4 2.1 20 48 1533%#4%0505
602 15 642226%kkkkkk%k1618 1022skskskskskskskokskskok ARGIE-R=RV N} 4.9 3.4 0.7 20 98 187#4%%7360
603 | ZFRE 642226%kkkkx%%(0012 623 0kl k9770 ARTIE RN 8.1 5.7 1.2 20 162 138%%%%0732
604 | MoCiw 642226%*kkkkkkk 1637 6229k K kkkkkkokok k31 29 ARGE VRN 4,2 2.9 0.6 20 84 1593548997
605 | EAEEM 642226+4kkkk4k 1640 622Pkkxkdokkkk %9504 ARGIETN =RV ] 1.5 1.3 20 30 134%%5%k2561
606 | = 642226%kx*kkkk%k1613 622 9kkkkokk 761 1 ARGIE =RV N} 2.1 1.8 20 42 180354896
607 | EHE 642226%kkkkkxx1613 150 7skkkskskekokodotorok ARGE VRN 0.8 0.7 20 16 181#kkx1537
608 | E® X 642226k kkkkk% 1634 148Bkskskstststtotototok ARGIER=RY 0.5 0.4 20 10 1833###%2954
609 | FREK 642226%kkkkkxx1610 6229kHkkkkokkkx %7565 ARGIESN RV 2.4 2.0 20 48 159%#3%9080
610 | BRERA 642226%*kkskkkkk 1612 6229k kK kkkkkkkk (7 37 ARGE VRN 24,2 16.8 3.5 20 484 188343258
611 | HEH 642226%kkxx%%%]1 61X 1468 %kkkkkdkdokk ARGIES=RTY ) 24.5 17.1 3.5 20 490 1993k34k3352
612 95 642226 kkkkkk 161 x 165 4sksksrtolofokokokok ARG SRV 1.6 1.3 20 32 15955069
613 | skiEE 642226%kkkkkxx1618 165 4skkskskskskokokodokok ARGIEN RV 4.2 3.0 0.6 20 84 151%%%%8645
614 | sKiEHE 642226%*kkkskkkk 1677 1655%kskskskskokokodokok ARGE VRN 7.1 5.0 1 20 142 158#k#%7265




615 | 5KiIEX 642226%kxxkk%%1616 6230kl 5993 ARGIE SRV N} 5.7 0.9 4.0 0.8 20 114 1835k 1991
616 2 642226%kx*kkkk%k1613 1446kttt ARGEVRY N 4 0.6 2.8 0.6 20 80 18 13##+8708
617 3% 642226k kkkkx%1612 6229kskskskskkokokokk k8998 ARGE VRN 3.6 0.5 2.6 0.5 20 72 138##4%7863
618 R 642226%kxkkk4k0415 6230k kkkkkkkokokk31 19 ARTE: VRN 2.8 0.4 2.0 0.4 20 56 1393547698
619 MRz 642226%kkkkkxx1613 154 25%kskskskskokokodokok ARGIETN RV 21. 4 3.4 | 14.9 3.1 20 428 187#k5%1660
620 | PR 642226%kkkkkk%k1 612 6229skkkksktokokk 2427 ARG SRV N} 2.1 0.4 1.7 20 42 1343357320
621 | PRI 6422264k kkk4k 1637 145 Tkskskskskokokokokok ARGIET RV ) 7 1.1 4.9 1 20 140 136%##%1339
622 | BRFEE 642226k Hkkkk4k 1612 6229kkxkkkokkkkk0208 ARGIETN RV 15 2.4 110.5 2.1 20 300 1513%%3%5670
623 | BREM 642226%kkkkkxx1613 165 4skkskskskskokokodokok ARGIEN RV 13.3 2.1 9.3 1.9 20 266 132438711
624 | PREEZE 642226%*kkkkkkk 1615 623 0kskskskskskokokokokk 4472 ARGE VRN 11.7 1.9 8. 1 1.7 20 234 132#84%8711
625 | BRERE 642226%Fk*kkkxx1614 6230%skkookokkk 381 1 ARGIETN =RV ] 7 1.1 4.9 1 20 140 138#kk%7245
626 | BRET 642226%kx*kkkk%k1613 1209kt ARTE: VRV N 4.4 0.7 3.1 0.6 20 88 158sk#kx7433
627 | IR 642226%*kkskskk%k%1650 1488kkkkkokokokohohok ARGE VRN 8.8 1.4 6.1 1.3 20 176 152#35%7950
628 | FR%G 642226k kkk4k%1611 1209sekskctoteoteofok AR S=ET VN 5.1 0.8 | 3.6 0.7 | 20 102 | 13687220
629 | MrEE 642226%k*kk*kkxx0015 623 0skskskskskskokskokkk 8313 ARGIESN RV 7.9 1.3 5.5 1.1 20 158 150%:k5%2733
630 | ‘=R 642226%*kkskskkokk 1723 6229 kskskskskskkokokk 3987 ARGE VRN 7.2 1.1 5.1 1 20 144 182:#3#%8812
631 | #RAEZF 642226%*kkkkkkk 162X 1356%kkkkkkokokokk ARGIET RV ) 6.5 1 4.6 0.9 20 130 1523%k5%7741
632 | AT 642226k Hkkkk4%1619 6229kkxkdokokokkkk844 | ARGIETN RV 10. 2 1.6 7.1 1.5 20 204 1525%%%%2106
633 | T4l 642226+4kkkk4k 1629 6229 %kkkkkkxkk %4804 ARGIEN RV 2.7 0.4 1.9 0.4 20 54 150%%#%6928
634 | T44c 642226%kkkkkkx1649 1458kkskskskskokokodohok ARGE VRN 2.7 0.4 1.9 0.4 20 54 177#%5%1680




635 | MAEE 642226%kxx%k%k%%1617 1 336Kk k ARGIE SRV N} 2.1 0.3 20 42 184sk44 342
636 | PRI | 642226%*kkkk%1617 16555kt ARG K B=R P} 5.7 0.9 20 114 1523542956
637 | M 642226%kkkkkkx161x 1022%%kkkkkokokokok ARGE VRN 1.3 0.2 20 26 139#55%4765
638 | I3 HE 642226 kkkkkk% 165X 6229 skskskskskokokokokk 2873 ARGIE SRRV 1.5 0.2 20 30 183#kkx7113
639 | MRAEIL | 642226%kkkkxx%1619 6229kl k8557 ARG KT B=RP ] 2.7 0.4 0.4 20 54 150540575
640 | PRAIL 642226+ 4kkkk4k 1638 6229Hkkkkokokk k%8516 ARGIE V=RV ] 3.1 0.5 0.4 20 62 158%**%5453
641 | E2247 642226%kxxkk%%1 647 1523 %kkkokokodoodonok ARGIES=RTY ) 2.4 0.3 20 48 150584791
642 | M4 642226%kkkkkk%1615 1393 sksksioskskskskokokokok ARGIE-R=RV N} 5.4 0.8 0.8 20 108 151%#%x8378
643 | EHEHH 642226%kkkkkkk 1617 6229tk kk 2363 ARTE: RN 5.4 0.8 0.8 20 108 187##5%6853
644 Tia 642226+ Hkkkk4k 1615 6229skskkkkokkk k%8488 ARGIE V=RV 13 2 1.9 20 260 158%x#%7594
645 | L HNI 642226%kk Kk 657 6229sisktokstookkok 7314 ARG KT B=RP ] 2.3 0.3 20 46 158552068
646 | & K1Y 642226%kkkkkkk 161 x 1488kkkkkkokokkokk ARGIE =RV N} 6 0.9 0.9 20 120 187#k5%4539
647 £ 642226%*k*kskkkk% 1630 1209%kkkkkkokokokok ARGE VRN 5.5 0.8 0.8 20 110 150%55%2718
648 251G 642226%*kkkkkkk 163X 1500%%kkkkkkkk% ARGIER=RY 7.2 1.1 1 20 144 138###%4879
649 2R 642226%kkkkkxx1615 6229 %kkkkokokkxk k(0422 ARGESR=RT Y} 2.3 0.3 20 46 187#%%%7957
650 | PRJTZE | 642226%kkkkkkx1699 1022kttt ARCIE RO 3.8 0.6 0.5 | 20 76 1884448669
651 | MRAEEL | 642226%kkskkkx1610 622Pkksrtokkrotok k%2410 ARGIE-N=R 0] 4.6 0.7 0.7 | 20 92 182434450409
652 WE 642226%kkkkkk%k161 1 152 6sksksiskskskskokskokok ARGIE-0=R Y N} 13.2 2.1 1.9 20 264 152%%%%4791
653 | fREH#E 642226%kkkkkxx1628 1488skkksksiaratotototok ARGIEN RV 11.4 1.8 1.6 20 228 136554700
654 | ZEWE 642226%*kkkkkkk(0427 6229kskkkkkkk4k%699 7 ARGE VRN 8.5 1.3 1.2 20 170 130%##%3825




655 | MR 642226 kkkkkk%161x 1795%kskkkkkkdokok ARGIETN =RV 17 2.7 | 11.9 20 340 135%k%%8321
656 | #RJIIE 642226 kkkkxx%0014 6230skskokokokokokk 26 24 ARTIE V=RV 14.5 2.3 | 10.1 20 290 182:#3#%6080
657 | MHRAEE 642226%kkkk5k 1616 13363ksksksteskskskoskokekok ARGIER=RY 4 0.6 3.4 20 80 139%#x7089
658 | #TIE 642226%*kkkkkkk 1617 6229 kkkkkkkkk %2774 ARGIE SRRV 33.3 5.3 | 23.2 20 666 132#3#%5389
659 Mt 642226%k*kkkxx1633 1429kkskskskskokokodokok ARGIETN RV 13 2 11.0 20 260 14 7#%3%0997
660 | MRAEFR 642226%*kkskkkkk 161 x 6229k KKk kkkk0kk T 1 20 ARGE VRN 16. 2 2.5 | 11.4 20 324 1503545567 1
661 | MRAENI 642226%kkkkkkk 1 61 x 6230%sskkokkkokokokok ] 642 ARGIET RV ) 21.4 3.4 | 14.9 20 428 13844966
662 | =HH4HE 642226%kkkkk%k%0034 137 3sksksioskskskskokskokok ARGIE-R=RV N} 59 11.9 | 40.9 20 1180 151%%%x7231
663 | 2= 642226%Fkkkxx%]1652 148 3skkkskskskokokotohok ARGIEN RV 5.6 0.8 4.0 20 112 147#%3%7705
664 | MKJTH | 642226%kkkkkkx1616 622 9skksskopsoiokok k8509 ARGIEER V| 25. 6 4 17.9 20 512 138447688
665 | FREM 642226%*k*kkkkkk(044X 1655%kkkkkokokokokk ARGIETN =RV ] 6 0.9 4.2 20 120 184k5%7845
666 | T 642226 kkkkkk%1621 1 3363kskskskskakokotototok ARGIE =RV N} 5 0.8 3.5 20 100 138#k5x7007
667 KPR 642226%kkkkkxx1617 6229kskskskskskokokokokk()] 32 ARGE VRN 2.5 0.4 2.1 20 50 138#3k5%7192
668 | kit 642226%kkkkkkk 161 x 1655%kkkkkkkkokk ARGIER=RY 5 0.8 3.5 20 100 158#k#%7285
669 | Fki7[E 642226+4kkkx4% 1616 6229kkkkkokokkxx %9414 ARGIESN RV 8.7 1.4 6.1 20 174 136%%%9900
670 | MEE 642226%*kkskkkkk 161 x 6229kHskkkkokk k%9192 ARGE VRN 6.2 1 4.3 20 124 181##kx1615
671 | TER 642226%kkkkkkx1628 148 2kkskskskskokokokokok ARGIET RV ) 4.6 0.7 3.2 20 92 1734550180
672 | X 642226%kkkkkk%k 161X 6229kskskskokskeiokkok 638 1 AARGIE:N =RV ] 12.1 1.9 8.5 20 242 180%+%%3985
673 K 642226+4kkkx4k 1610 6229kkkkkokokokkxk4 147 ARGIEN RV 3.3 0.5 2.3 20 66 152%%%%4919
674 | KIEZE 642226%*kkkskkkk 1655 134 0skkokokokotokokokk ARTIE: RV 2.5 0.4 2.1 20 50 15 15446618




675 | TKIAF 642226%Fkkkkkx 1615 141 4skksksksrsrokokodokok ARGIETN =RV 0.7 0.1 0.6 20 14 177#5%%2630
676 | FKIEH 642226%*kkkkkkk 1610 6229k Hskkkkkokkx k3842 ARGIE =RV N} 5.8 1 4.0 0.8 20 116 181##4%3816
677 k2 642226%kkkkkxx1613 623 0skskskskskskokkokk kG367 ARGE VRN 0.9 0.1 0.8 20 18 183#3kk%1859
678 | XSO | 642226%kkkkkkx161x 6230tttk k08 18 ARCEERTV | 6.9 1.1 | 4.8 1 20 138 17742970
679 | XISCHE | 642226%kkskkkx1619 622 Pkksoiotkokkk 7554 ARGIE =R 0] 4.4 0.7 | 3.1 0.6 | 20 88 13983112
680 | Mk 642226%kkkk3kk%k ] 63X 6230kl k0615 ARG SRV N} 1.4 0.2 1.2 20 28 1573548632
681 F5E 642226%Hkkkkk 1617 6229kskskststokkrkkk 3019 ARGE:SRARTIY Y 7.6 1.2 5.2 1.2 20 152 138%%x%1766
682 TU% 642226%kkkkkk%161 1 150 1sksksiosksksksiokskokok ARGIE-RARGIN T 17.8 2.8 12.3 2.7 20 356 159%#%%2853
683 FHH 642226%*kkkkxx%]1612 137 4steskskstatotototorok ARG EARTIE N} 2.9 0.5 2.4 20 58 18830626
684 T= 6422263 k4K 1639 62 30%kskekrkokekekokxk 885 3 ARTIE: VARTIY S| 3.9 0.6 2.7 0.6 20 78 136%:#%k%2551
685 | HEF 642226%k*kkkxx]164x 6229kskskkkkkkokk 4036 EARGIEEARCIY N 6.7 1.1 4.6 1 20 134 157%%%%5155
686 | FEZE 642226%kkkkkxx 1634 6229kkkkkkokokok()729 ARGIEEARTIE N} 7.9 1.3 5.4 1.2 20 158 157#%%%5155
687 | L& 642226%k*kxk%k1619 1004kttt ARGIE: CARTI 1.6 0.3 1.3 20 32 1573455155
688 | FEX 642226%*kskkkkk00 1 7 1 35Qskskokofokotokokokk ARTE:EARTIE N 5.3 0.8 3.7 0.8 20 106 15 Lok 1 507
689 | A== 642226 kkkkkk% 1662 165 4%kkkkkokokokokok ARG EARTIE N} 4.5 0.7 3.1 0.7 20 90 135%k5%8130
690 | LEAE 642226%kkkkkk%k1 638 6229kl k k8 729 ARGIE:-CARTIE ] 19.1 3.1 13.1 2.9 20 382 152353670
691 T 642226%kkkkkxx1611 6229kskskkkkkkokokok 4569 ARTIE:EARTIE N} 4.9 0.8 3.4 0.7 20 98 176%##%5818
692 T & 642226k kkkkkkk1619 1654 skskskskoksksksiokokok ARGIE-RARGIN T 15.1 2.4 10. 4 2.3 20 302 157%*x%%4288
693 F 642226%kkkkkx%1616 151 Sskkksksrskokokotokok ARTIE:EARTIE N} 8.9 1.4 6.2 1.3 20 178 138%k%x7414
694 T3 642226%kkkkkkx1613 6229k k 296 1 ARGIE EARTIV ) 3.8 3 0.8 20 76 130###x8188




695 & 642226%kkkkkxx1618 623 0skskskskskskokokokkk 4 317 EARGIEEARTIY N 6.8 1.1 4.7 1 20 136 159358180
696 T= 642226%*kkkkkkk 1618 6229kkkkkkkkkk k5935 ARGIEEARTIE N} 15.4 2.5 10.6 2.3 20 308 157#%%%5155
697 TAI 642226+4kkkk4k 1630 6229%kkkkkkkk k%6259 ARG E:RARTIY ) 10. 4 1.7 7.1 1.6 20 208 17 T#%%%7313
698 | FIE%Z 642226%*kkkkkkk 1619 155 Lsotokokokotokkokok EARTIE:RARTIY 9 1.4 6. 2 1.4 20 180 1573545155
699 | LF4iE 642226%kkkkkx%1634 6229k Hkoktokokokk %9642 ARG EARTIE N} 27.8 0.3 22.6 4.9 20 556 182:#k5%4257
700 | F4EH 642226%*kkskkkkk 161 x 6229k kK kkkkkkokk 1 433 ARTIEI=EARTIE o} 5 5 20 100 18335446795
701 | E4EH | 642226%kkxkkxx1631 6229k 3633 ARTIE - CARGI D 0.7 0.1 0.6 20 14 15834457259
702 TR 642226%kkkkkkk 1616 1003%kkkkkkkk k% ARGIE:EARTIE N} 11.4 1.8 7.9 1.7 20 228 157#k%%5155
703 T A 642226%kkkkkxx1617 6229k Hkokotokokokk k321 3 ARG EARTIE N} 9.5 1.5 6.6 1.4 20 190 157%%%%5155
704 | EEE 642226%*kkkskkkk6179 6229 K kxkkkkokok k4550 ARGIE:EARTIY 7 1.1 4.8 1.1 20 140 1573545155
705 | EEF 642226%Fkkkkxx%]1612 622 9kskskskkokok 1 144 ARTIE:-EARTIV N 6 1 4.1 0.9 20 120 188%*#%0626
706 | ERAEAE 642226%kx*kkkk%k 1 65x 6229k Hk Kk kkkkkk 6523 ARCIE-CARTIP ] 4 0.6 2.8 0.6 20 80 180356373
707 T1H 642226%kk%kkk021X 6229kkskskkkokekekekok 1 432 ARGIE ARGV 10 1.4 7.1 1.5 20 200 1679999
708 | EAfifE | 642226%kkkkxxk1616 622 Pkkkokkokiok k4835 ARG K EARTIV | 1.5 0.9 0.6 20 30 138447414
709 | =EE 642226%*kskskskskkk 1627 1022%%kkkkokokokohok ARG EARTIE N} 9 1.4 6.2 1.4 20 180 189%*%%7053
710 WL 642226%kkkkk%%k1610 623 0skkskkkolok k%8070 ARGIE:-CARTIE ] 3.9 0.6 2.7 0.6 20 78 153%#5%3259
711 | FIER 642226%kkkkkxx1613 1 362skkskskskakokodotodok ARTIE:EARTIE N} 6.9 1.1 4.8 1 20 138 157#k%%5155
712 o 6422264 5kskkk4k 1 658 623 0skkkdsokokkdokok 3488 ARTIE ARV} 26. 4 4.2 18. 2 4 20 528 153345252
713 | £&Et 642226%kkkkkxx1611 6229%kkkkakokkk 1 09 1 ARTIE: EARTIV N 1.6 0.3 1.3 20 32 176%#5%5818
714 T 642226+ 4kkkk4k 1618 136 Tskkskskskskotototokok AR E:RARTIY ) 10.8 1.7 7.5 1.6 20 216 1598180




715 T 5 642226%k*kkkxx161 1 6229k k(0979 EARGIEEARTIY N 5.6 0.9 3.9 0.8 20 112 182%%%%7555
716 | RfiEa 642226%kx*kkk%%k1610 165 4sksksrolofokokokok AR CARTE N 10. 2 1.6 7.1 1.5 20 204 157355155
17 | JRHESS 6422263k kkk4%kkk 1628 15053kkskskskstskkokokok ARTIE: VARTY S 8.6 1.4 5.9 1.3 20 172 173%+xk3589
718 | A 642226%kkk3kkk%k 1 622 6229 K kkkkkkkk %96 10 ARTE:EARTIE N 10. 1 1.6 7 1.5 20 202 1733541205
719 | E4EH 642226%kkkkkxx1611 148 Ik ARG EARTIE N} 42.2 6.7 29. 4 6.1 20 844 176%#5%5818
720 | HER 642226%kkkkkk%k1 612 1654skkkokokkokkokk ARCIE:EARTIE N} 7.5 1.2 5.2 1.1 20 150 188540626
721 Tl 642226%kkkkkxx1637 6229kskskkkkkkokokok 385 1 ARTIE:EARTIE N} 8.2 1.3 5.7 1.2 20 164 157*%%%3790
722 It 642226%kkkkkxx1652 165 4skkskskskskokokodonok ARGIE:EARTIE N} 7.7 1.2 5.3 1.2 20 154 133#k5%8239
723 | ZtR; 642226%kskskskskkk 1628 151 4ssksktohohohohohonok ARG EARTIE N} 1.1 0.2 0.9 20 22 157#k%%5155
724 T2 642226%*kkskskokokk 1632 6229kkkskkkokkkkk 7275 ARTIES EARGIV D) 3.1 0.5 2.1 0.5 20 62 181##5%2176
725 TR 642226%kkkkkxx1617 1 168%kkkkokokokokokok EARGIEEARCIY N 3 0.5 2.1 0.4 20 60 157#k%%5155
726 TR 642226%kkkkkxx1619 1022%%kkkkkkkk% ARGIEEARTIE N} 9 1.4 6.2 1.4 20 180 134#55%7206
727 Y 642226%kkk%kkk 1614 6229kkskskkekokekekek()1 36 ARTIE: VARTIY S 5.9 0.9 4.1 0.9 20 118 157¥*xk5155
728 | T4ERE 642226%*kkkkkkk0017 622Pkkkkkkokokokk 374 1 ARTIES EARGIV ) 4 0.6 2.8 0.6 20 80 157#%%%5155
729 | Tk 642226%kkkkkxx1617 6229k 4okl k%6868 ARTIE:-EARTIV N 9.5 1.5 6.6 1.4 20 190 1383kk%1766
730 | F4Eum 642226%*kkkkkkk 1613 6229k KKk %9 366 ARCIE:EARTIE O} 3.2 0.5 2.7 20 64 1583#3%5091
731 B 642226%kkkkkxx1615 BRI ARTIE:EARTIE N} 6.8 1.1 4.7 1 20 136 159%##%7068
732 | T4 642226%k*k*k*k*k%k%1610 623 0kskskskkkkkkkk 3452 ARG EARTIE N} 4.3 0.7 3 0.6 20 86 153%k5%3259
733 | A& 642226%kkkxk%k% 1619 1654 skkaptokokaoton ARCIE-CARTIP Y| 7 1.1 4.8 1.1 20 140 134%5%%7206
734 | BAER | 642226%kkkkkkkk1613 1323kttt ARG L EARTID L 6.5 4.5 1 20 130 15745155




735 F 642226%k*kkkxx1610 6229 %kkkkokokkk %7 366 EARGIEEARTIY N 5.2 0.8 3.6 0.8 20 104 157#k%%5155
736 TR 642226%kkkkkkx1612 6229kkskkkkkkkk k6228 ARGIEEARTIE N} 8 1.3 5.5 1.2 20 160 157#%%%5155
737 | WEE 642226%*kkskskkkk 1638 1654%kkkkkkokokokok ARGIE EARTIV ) 9.6 1.5 2 6.1 20 192 159##5% 7828
738 B L 642226%kkkkkxx 1611 1462%%kkkkkkkk% ARTIE EARTIV ) 2.4 0.4 2 20 48 176%%#%5818
739 | LRIE 642226%kkkkkxx1613 1 168%kkkkokokokohohok ARG EARTIE N} 6.5 1 4.5 1 20 130 130%k%8188
740 | E&AE 642226%kkkkkxx1645 6229k kkkkkkk k%5260 ARGIERARTIY N} 5.6 0.9 2.7 2 20 112 187#kk%7159
741 | XUEERE, 642226%kkkkkkk 1619 6229k k kx4 %5229 ARTIE:EARTIE N} 1 0.2 0.8 20 20 134557206
742 | BER 642226%kkkkkkk 1619 6229%Hkkkkkkkk (0834 ARGIE:EARTIE N} 1.6 0.3 1.3 20 32 134%55%7206
743 | E4EF 642226%k*kkkx%]163x 179 2skskskskakokodototok ARG EARTIE N} 11.3 1.8 7.8 1.7 20 226 151 #k5%5635
744 | A X 642226%F*kxkk%k1611 1022skkskskokskokokon ARG L EARTID L 3.9 0.6 2.7 0.6 | 20 78 1765455818
745 | wEE 642226%k*kkkkkk161x 146 Ttttk ARGIE:SEARTIE N} 7.6 1.2 5.2 1.2 20 152 1835546795
746 K 642226%*kkkkkkk 1613 1 166%%kkkkkkkk% ARCIET EARGIV 4.8 0.8 3.3 0.7 20 96 130###%8188
47 | E4E4 642226%*kkskskkkk 1617 171 8skokokokotokkonok EARTIE:RARTIY 6 1 4.1 0.9 20 120 138531766
748 | FHEEZ 642226%kkkkkkx 1617 622 Pkskkkkkkokokk 271 1 ARTIES EARGIV ) 12.2 2 8.4 1.8 20 244 157#%%%5155
749 | LA 642226%*kkskskkk%k 1618 10223kkkokskotokokokok AR CARTIP Y] 7.1 1.1 4.9 1.1 20 142 157585155
750 | F4EIE 642226%*kkkkkkk 1656 1654%kkkkkkkkkk ARCIE EARGIE Y 5.2 0.8 3.6 0.8 20 104 153#k%x7801
751 | E4EEk 642226%kkkkkxx1615 6229k Hkoktokokokk k7358 ARTIE:EARTIE N} 3.6 0.6 2.5 0.5 20 72 139467 1
752 T 642226%kkkkkxx1618 144 5%kskskskskokokodokok ARG EARTIE N} 2.6 0.4 2.2 20 52 159k5%8180
753 5 642226%Hkkkk0k% 1637 1795kttt ARTIE: - CARGI L 3.4 0.5 2.4 0.5 | 20 68 157sk%3790
754 | EEE | 642226%kkkiekk 1617 622 9skksopsioiokok k489 | ARCIEECARTIV S | 3.1 0.5 2.6 20 62 1383k 1766




755 | XHITE | 642226%kkskkk%1619 622Pkkoktriork k(7 18 ARG EARTIE N 1.1 0.2 0.9 20 22 134355457206
756 | XIHTE | 642226%kkkkkkx1659 622 9skksopsoiokok k8494 ARGIEECARCIP V] 1.1 0.2 0.9 20 22 187446548
757 A 642226%kkkkkxx1613 6229kskskskskskokkokkk 4445 ARGIE EARTIV ) 3.9 0.4 2.2 1.3 20 78 130###%8188
758 | MEE 642226%kkkkkkk 1618 153 2skkokokokotokkokk ARCIEEARTIE | 3.1 0.5 2.6 20 62 159358180
759 | BE 642226%k*kkkk%% 1652 RN ARG EARTIE N} 3.8 0.6 2.6 0.6 20 76 133#k5%8239
760 | XIS | 642226%kkkkkkx1658 622kt ik 8364 ARG L EARTIE ] 1.3 0.2 1.1 20 26 153%k4k5252
761 | EEEF 642226%kkkkkxx1613 1323%kkkokokohohohohok ARTIE:EARTIE N} 6.5 1 4.5 1 20 130 157#k%%5155
762 | AHER 642226%kkkkkxx1617 142 5kkskskskskokokodook ARGIE:EARTIE N} 7.5 1.2 5.2 1.1 20 150 1383kk%1766
763 T8 642226%kkkkkxx1655 6229%kkkkakekk %5300 ARG EARTIE N} 4.5 0.7 3.1 0.7 20 90 133556958
764 Tk 642226%kkkkkkx1618 1462kttt EARGIERARTIY 12. 7 1.2 9.9 1.6 20 254 159#3##x8180
765 BN 642226% k%1610 165 43kkkokskotokkokok ARCIEEARTIP O} 7.1 1.1 4.9 1.1 20 142 157585155
766 | ZEfH5 642226%*kkskskkokk 1612 6229kkkkkkkkkkk 2753 ARGIEEARTIE N} 5.8 0.9 4 0.9 20 116 188:#3#4%0626
767 | EHAL 642226%k*kkkxx1634 140 4%kkkkkokokokokok ARGIE EARTIV ) 18.8 3.5 15.3 20 376 182#3k%4257
768 | TAFEH 642226%kkkkkxx1619 1390%kkkkkkkkkk ARCIEEARTIE | 28.1 4.5 19.4 4.2 20 562 182:#3#%8880
769 | TEG 642226%Fkkkkxx%]1612 142 5skkskskskakokodotolok ARG EARTIE N} 11.1 9.1 2 20 222 18830626
770 o 642226%*kkskkkkk 161 x 6229k kK kkkkokkokk 4487 ARTIEI=EARTIE N} 2.1 2.1 20 42 18335446795
771 T* 642226%kkkkxx%]1612 1022%%kkkkkokokokok ARTIE:EARTIE N} 2.6 0.4 2.2 20 52 188350626
772 Tt 642226%kkkkkk%k 161X 135 1sksksiskskskskokokokok ARGIE-RARGIN T 3.8 0.6 2.6 0.6 20 76 183*#%%6795
773 | BitEk 642226%kkskskk%k% 1616 1450%%kkkkkokokokk ARTIE:EARTIE N} 5.6 1.3 4.3 20 112 182:#:k#%8880
T4 | AR | 642226k keriokk 1615 623 0kpkkiok ok k7688 ARTIE: CARCIV S | 5.5 0.6 2.8 2.1 | 20 110 187349779




775 | MfEE 642226%*kkskskkkk 1617 125 Lskkokokoohoohohok ARGIE:SEARTIE N} 7.7 0.8 4.9 2 20 154 1383#kk%1766
776 THk 642226%*kkskskkkk 1612 1654skkkokokokokkokk AR CARTE N 6.1 1 4.2 0.9 20 122 18850626
777 T 642226%kkkkkxx1617 R ARGIE EARTIV ) 9.8 2.3 6 1.5 20 196 138#3k4%1766
778 | REE 642226%kkkkkkx1628 6229kkkkkkkkkkk 7635 EARGIE:SEARTIY 10 1 7 2 20 200 182:#3#%8880
79 | EER 642226%k*kkkxx1619 165 4%kkkkkokokokokok ARG EARTIE N} 8.2 1.3 5.7 1.2 20 164 134#55%7206
780 | EEMR 642226%kkkkkxx1610 137 Sskkksksekekototeotok ARGIEEARTIE N} 12.3 2 8.4 1.9 20 246 153###%3259
781 | EHEIRK 642226%kkkkkxx1617 6229 skskskskskkkokk k6487 ARTIE: EARTIV N 10. 8 1.7 7.5 1.6 20 216 1383k 1766
782 TR 642226%kkkkkk%1633 142 5sksksksiesioskskokskek ARGIE-RARGIN T 10.5 1.7 7.2 1.6 20 210 183%4k%7043
783 | EJiX 642226%kkkkkxx1613 LAT Akskttotododoodokk ARG EARTIE N} 10.2 1.6 7.1 1.5 20 204 130%:k%8188
784 T 642226%kkkkkkx 1612 622 Pkkkkkkkokokokk 9424 ARTIES EARGIV D) 14.2 2.3 9.8 2.1 20 284 182:#3#%8880
785 Tt 642226%kkkkkxx1617 6229kskskskskskokokokokk 1612 ARGIE:SEARTIE N} 12.8 2 8.9 1.9 20 256 1383#k5%1766
786 T8 642226k kkkkkk% 1634 6229kskskskskskokokokkk 4479 ARGIEEARTIE N} 6.5 1 4.5 1 20 130 182:#k4%4257
787 | EEF 642226%kskskskkkk 161 x 6229k k9179 ARGIE EARTIV ) 11.9 1.9 8.2 1.8 20 238 183#34%6795
788 T 642226%kkkkkxx1619 1488kkkkkkokokokokk ARCIEEARTIE | 13.6 1.9 9.7 2 20 272 135%k5%7936
789 X 642226%Fkkkkxx%]1612 623 Qskkskkokokok 5704 ARG EARTIE N} 6.1 4.1 2 20 122 18830626
790 | FER 642226%*kkkkkkk 1617 6229k kK kkkkkkkk 4829 ARTIEI=EARTIE N} 8.6 1.9 6.7 20 172 1383534k 1 766
791 % 642226%k*kkkx%1634 6229kskskkkkkkokokk 4906 ARTIE:- EARTIV N 9.9 1.6 6.8 1.5 20 198 182354257
792 | FEX 642226%*kkkkkkk 1612 623 0kskskskkkkkkk*k691 2 ARG EARTIE N} 20. 3 3.2 14 3.1 20 406 18830626
793 | EEE 642226%k**kkkxx1614 622 9kskskskskskokokokokk 4 239 ARTIE:EARTIE N} 24.8 4 17. 1 3.7 20 496 183#k5%6795
794 T 642226%kkkkkkx 1617 6229 kkkkkkkkk k6517 ARGIE EARTIV ) 18.9 3 13 2.9 20 378 138#3k4%1766




795 | REFE 642226%k*kkkkk% 1622 6229kskskkkkkkkkk 6509 EARGIEEARTIY N 8.3 5.7 1.3 20 166 173%%%%1205
796 | T 642226%*kkkkk%k% 1610 623 0kskskskskskkkkokk 4080 ARGIEEARTIE N} 19.9 13.7 3 20 398 182:###%8880
797 | ETEE 642226k kkk4%kkk 1618 1467 wkskekekekskkokokok ARTIE: VARTY S 8 5.5 1.2 20 160 15948180
798 | EAFAR | 642226%kxkkkkx1614 163 Dskstsrotolofokokkon ARG K EARTIVE | 8.1 6.6 20 162 18356795
799 | #itHH 642226%*k*kkkkkk 163X 1004skkkkkkkkokk ARG EARTIE N} 10.5 7.2 1.6 20 210 182%%#%8880
800 | ERMK | 642226%kkskskkkx1655 142 4skskskokotokokokok ARGIE:-CARTIE O] 5.3 3.7 0.8 20 106 133356958
801 | £i& 642226%kkkkkxx1657 1654%kkkkkkokokokok ARTIE:EARTIE N} 3 2.5 20 60 182:#:k5%8880
802 | Tk 64222 6%kkkkkkk161 1 142 3skskskskskesksksiokokok ARGIE-RARGIN T 9.3 6.4 1.4 20 186 176%*x%%5818
803 | FRER 642226%kkkkxx%]1632 6229k k87 36 ARG EARTIE N} 10.1 2.3 0.6 20 202 181%%%%2176
804 kA 642226%kkkkkk%k1614 1469skkskstolsfokakkon ARGIE: CARTIE ) 5.3 3.7 0.8 20 106 18356795
805 | FhH1- 642226k k44k 1630 1 359skskstoskkskakodotokok ARTIE ARGV Y 2.2 1.8 20 44 1773447313
806 ikH 642226%*kkskskkokk 1612 6229k k955 | AR =EARTIE O} 5 3.4 0.8 20 100 188:#3#4%0626
807 K 6422263k 1636 6229kkskskskkkkkk k6975 ARGIE:EARTIY 5.2 4.4 20 104 1503547873
808 | FZE 642226%kkkkkkx1613 623 Qkkkkkkkkokk 6300 ARTIES EARGIV ) 9.8 6.7 1.5 20 196 130###x8188
809 | L3CHl 642226%kkkkkxx1613 1 168%kkkkokokokohohok ARTIE:-EARTIV N 9 6.1 1.3 20 180 130%*#%8188
810 | #HEE 642226%*kkkkkkk 1633 1654%kkkkkkkkkk ARCIE EARGIE Y 6.7 5.5 1.2 20 134 182#34%9045
811 | #Hk e 642226%*kkskskkkk 1676 6229k KKk kkokdokk8 1 38 AR CARTIP ] 1.3 20 26 167#%%%£9999
812 K 642226k kkkkkkk 1657 6229skskkskskkskekskkk 4408 ARGIE-RARGIN T 8 5.4 1.2 20 160 157%x%%6266
813 | E&EM 642226%kkskskkk% 1638 6229tttk 2929 ARTIEEARTIY N} 3.6 2.5 0.5 20 72 180344826
814 | EZIE | 642226%kkkxxk%1610 622 9kokskokarkolokk 7192 ARGIE: CARTI 2.8 2 0.4 | 20 56 15353259




815 | EHE 642226%k*kkkx%1634 163 2%kkkkkokokokokok ARTIE:-EARTIV N 9.9 1.6 6.8 1.5 20 198 182%%%%4257
816 | F%Jt 642226%kkkkkkx1613 1488kkkkkkokokokokk ARCIET EARGIV 7.9 1.3 5.4 1.2 20 158 130#%#%8188
817 | Mt 642226%k*kkkkkk 1674 6229kHkkkkkkxx %3610 ARTIES EARGIV ) 2.9 0.5 2 0.4 20 58 181#k%x9181
818 | FK~FIL 642226%*kkkkkkk 161 x 165 4skkkokokkokkokk ARGIE:EARTIY 8 1.7 5.2 1.1 20 160 18435454618
819 | #HERE 642226%kkkkkxx1614 6229k k8959 ARG EARTIE N} 18 3.2 12. 1 2.7 20 360 183%*#%6795
820 EXE 642226%*kkskkkkk 1617 6229k kkkkkkk 7663 ARCIE:EARTIE N} 4.8 0.8 3.3 0.7 20 96 13835341766
821 EHl 642226k 5kkkk4k 1616 1424skkskskskokodsokok ARTIEEEARGEIY O} 11.7 1.9 8 1.8 20 234 138tk 7414
822 Tk 642226%kkkkkxx1619 1449skkskskskskokododonok ARGIE:EARTIE N} 4.5 0.7 3.1 0.7 20 90 134%55%7206
823 +% 642226%kk*k*kkxx1616 102 2skkskskskatokodototok ARG EARTIE N} 16 2.6 11 2.4 20 320 138%k%x7414
824 | F3AL 642226%*kkkkkkk 1638 6230k kkkkkkokokok k3724 ARGIE:EARTIY 15 3.2 9.7 2.1 20 300 188#47333
825 | /MR 642226%kkkskkokx 1613 6230%%kkskkkk k%2215 ARTIE:-EARTIV N 1.4 0.3 1.1 20 28 13038188
826 | E3* 642226%kkkk0k% 165 1 6229kkkksokk k3109 ARG K EARTIE N 8 1.3 5.5 1.2 20 160 158558227
827 | L&EN 642226%k*kk*kxx1656 1384skkkkokokohohohohok ARGIE EARTIV ) 2.8 0.4 2 0.4 20 56 153#k4x7801
828 | T L 642226 kkkkkx1611 6229 K kkkkkkokokk [ 810 ARCIEEARTIE | 10. 1 1.6 7 1.5 20 202 17635455818
829 | #H#ER 642226%kkkkkxx1635 6229kskskskskskokokokkk 5102 ARG EARTIE N} 6 1 4.1 0.9 20 120 155%%%%3271
830 | RIF5 642226 kkkkk% 1621 623 0kkskkskskokokkkk 5738 ARTIEI=EARTIE N} 6. 4 1 4.4 1 20 128 188#3##%6369
831 | EiHH 642226%kkkkkxx1637 6229k ok 8800 ARTIE:EARTIE N} 5.2 0.8 3.6 0.8 20 104 157*%%%3790
832 | M 642226k kkkkkkk1616 132 1 steskskskskeskeskesioskokok ARGIE-RARGIN T 7 1.1 4.8 1.1 20 140 138%*k4%7414
833 FHl 642226%k*kkkkkx1611 1279kkkkkokokokokokok ARTIE:EARTIE N} 3.4 0.5 2.4 0.5 20 68 176%#5%5818
834 5K A 642226%*x*kkkk%k1615 181 stttk ARGIE:-CARTIE ) 3.1 0.5 2.1 0.5 20 62 1333k 1622




835 | E & 642226%kkkkkxx1613 1654skskskskakokodstorok ARTIE:-EARTIV N 9 1.6 6.1 1.3 20 180 130%:##%8188
836 | T4kl 642226%kkkkkkx1618 6229k k4916 ARGIEEARTIE N} 1.2 0.2 1 20 24 159#3##x8180
837 | E&EF 642226%kkkkkxx1616 133 Tk ARGIE EARTIV ) 4.4 1 2.8 0.6 20 88 138#k4x7414
838 | WA 642226%*kkkkkkk 1610 1654%kkkkkkkkokk ARCIEEARTIE | 12. 7 2 8.8 1.9 20 254 153###%3259
839 ESDY 642226%k*kkkxx1619 1425%%kkkkokokokohok ARG EARTIE N} 15.7 2.5 10. 8 2.4 20 314 134#55%7206
840 5K % 642226%kkkkkk%k1 612 142 4skskskokotokokokok ARCIE:KARTIP ] 13 5 6.6 1.4 20 260 18850626
841 kIt 642226%k*kkkx%1651 6229k 4ok 0603 ARTIE:EARTIE N} 13 2.3 8.8 1.9 20 260 173%#%%9586
842 | A 642226%kkkkkkk 1612 6229kskskskskskkkkokok | 849 ARGIE:EARTIE N} 4.8 0.6 3.4 0.8 20 96 18830626
843 | WILIL |  642226%kkkkkokk]632 1488kttt ARCIE::EARTIP L] 2.6 0.4 2.2 20 52 1473847564
844 | Ti& 642226%kkkkkxx 1674 137 Sskkksksekekotototok EARGIERARTIY 4,3 0.7 3 0.6 20 86 181#k%x9181
845 | EEL 642226%kkkkkxx1610 6229kskskskskskokokkk k9528 EARGIEEARCIY N 1.2 0.2 1 20 24 153%k5%3259
846 | FERK 642226%kkkkkkx1613 1654%kkkkkkkkk% ARGIEEARTIE N} 3.7 0.6 2.5 0.6 20 74 130###%8188
847 | EFE) 642226 kk5kckkk 1657 62 30kkskekkkokekekekok 86 1 7 ARG E:RARTEIY ) 10 1.9 6.6 1.5 20 200 18745473
848 | FiEEk 642226%kkkkkkx163x 1425%%kkkkkkokokk ARTIE: EARTIY ) 6.4 1 4.4 1 20 128 151#%%%5635
849 | £Et 642226%kkkkkxx1613 6229k ok 2760 ARG EARTIE N} 2.3 0.4 1.9 20 46 130%k%8188
850 | EILK 642226%kkkkkxx0013 1 168%kkkkkkokokokok ARGIERARTIY ] 2.2 0.4 1.8 20 44 180#3##%5249
851 | F&2 642226%Hkkkkk 161X 6229kskskstsdokokakAkk 6827 ARGIE:SRARTIY N} 3.7 3 0.7 20 74 15T#44%6266
852 | HhZE 64222 6%kkx%%k%k% ] 684 163 3skskskskskskstokoskokosk ARG RAREIN A 6 0.5 4.5 1 20 120 152%*%4%1832
853 | EN%E 642226%k*k*kkxx0093 LA8 Lkskkotokokohohohohok ARTIE:EARTIE N} 2.6 0.4 2.2 20 52 137#k5%0685
854 | F4fAH 642226%*kkkkkkk 1616 622 kskskskskskokokokokkd 143 ARGIE:EARTIY 9.8 1.6 7.4 0.8 20 196 15745454288




855 | TR 642226%kkkkkxx1618 1488 kkkkokokokohohohok ARGIE:SEARTIE N} 7.3 6 1.3 20 146 157 #k5%4288
856 | T4 642226%kkkkkxx1617 6229kkskskskskokokokkk 7258 ARGIEEARTIE N} 1.4 1.4 20 28 157#%5%4288
857 | E LK 642226k4kkkk4%k 1612 6229kskskskstokokokkdok 1 736 ARGIE EARTIV ) 5.5 0.9 3.8 0.8 20 110 188%k#%0626
858 | T #HH 642226%kkkkkxx1614 6229k k9420 ARCIEEARTIE | 0.8 0.1 0.7 20 16 183#34%6795
859 | KAEAT 642226%*kkskskkk%k 1615 148 kkkkkokokokohohok ARG EARTIE N} 10.1 1.6 7 1.5 20 202 157 #k5%4288
860 | &R 642226%k+*kkkkk1619 1488kskstskskofestoskseotok ARGIERARTIY N} 5.2 0.8 3.6 0.8 20 104 157#4%%4288
861 | E&RE 642226%kkkkkxx1635 6229kskskskkkkkokokok 1914 ARTIE:EARTIE N} 6.4 1 4.4 1 20 128 147#55%9188
862 FEk 642226%kkkkkxx167x 6229%kkkkokkkkk 4394 ARGIE:EARTIE N} 8.4 1.3 5.8 1.3 20 168 157 #k5%4288
863 | 4L 642226%kkkkkxx1639 1654skskskskakokodototok ARG EARTIE N} 2.4 0.4 2 20 48 157 #k5%4288
864 FA4L 642226%kkkkkxx 161 1 1654kttt EARGIERARTIY 2.7 0.4 2.3 20 54 157#%5%4288
865 T 642226%kkkkkxx1611 1654skskskskakokodotorok ARGIE:SEARTIE N} 7 1.1 4.8 1.1 20 140 1575544288
866 | TR 642226%kkkkkkx1613 141 Dkskookooookokok ARGIEEARTIE N} 10. 4 1.7 7.1 1.6 20 208 157#%5%4288
867 | T /HHA 642226%kkkkkxx1615 1795%%kkkkkokokokk ARGIE EARTIV ) 8.1 1.3 5.6 1.2 20 162 157#55%4288
868 i 642226%*kkkkkkk 1626 623 Qkkkkkkokok 500 1 ARCIEEARTIE | 9.5 1.5 6.6 1.4 20 190 177#55%6725
869 | LEid-F 642226%kkkk*kxx1636 623 0okl 2629 ARG EARTIE N} 11.5 1.8 8 1.7 20 230 157 #k5%4288
870 | FiR% | 642226%kkkekx1635 6229kkskkkkkkk %4881 ARCIEEEARCIP Y| 3.7 0.6 2.5 0.6 | 20 74 157444288
871 T8 642226+kkkk4k 1674 6230kkskkkkokokk k%2363 ARGIE:SRARTIY N} 7 1.1 4.8 1.1 20 140 157#%%%4288
872 | skAAL 6422263k 5kkkk4% 1 614 6229skskskkstokkkkotok | 286 ARTIE ARV} 3.5 0.6 2.4 0.5 20 70 1573444288
873 | HEEITL | 642226%kkxkk%x1630 6229k ] 223 ARTIE: - CARGI L 12.3 2 8.4 1.9 | 20 246 15 sokx4288
874 | TEIE 642226%kkkxx%%1653 6229%Hkkkkkkkk %6440 ARGIE EARTIV ) 3.2 0.5 2.7 20 64 157#55%4288




875 | EHH | 642226%kkxkkxx1611 133 Taskotsstotsotoek ARCIEEEARTIP Y] 5 0.8 4.2 20 100 15 7sksk4288
876 T 642226%*kkkkkkk 1676 1654%kkkkkkkkk% ARGIEEARTIE N} 2.9 0.5 2.4 20 58 157#%5%4288
877 | Lt 642226%*kkskskkkk 1636 133 Tskkskskskskokokotokok ARTIES EARGIV ) 4.1 0.7 2.8 20 82 157#55%4288
878 T* 642226%kkkkkx%163 1 623 Qkkkkokokokok 7290 ARTIE EARTIV ) 2.5 0.4 2.1 20 50 184#k5%7126
879 | LEJiF 642226%k*k*kkxx1616 6229kskskskskskokokkk k(558 ARG EARTIE N} 6.1 1 4.2 20 122 1387414
880 | LEF5HE | 642226%kkkkxkk1624 623 0sokskokkotokkk 1279 ARCIE:KARTIP ] 6 1 4.1 20 120 1573454288
881 & 642226%kkkkkxx1616 LA8 Tk ARTIE:EARTIE N} 7.2 1.2 4.9 20 144 1823454876
882 | ERIEE 642226%kskkkk5%k% 1704 167 Qksksioskskskskokskokok PARGIEEAREIN Y| 7.6 1.2 5.2 20 152 157*%%%4288
883 | EHE 642226%kkkkkx%1634 6229%kkolokokokkk 1 66 1 ARG EARTIE N} 5 0.8 3.8 20 100 157%s5k54288
884 TH 642226%kkkkkkx1618 137 Stttk EARGIERARTIY 9.4 1.5 6.5 20 188 157#%5%4288
885 | EFHEI | 642226%kkkxkkk]639 142 3sskksptokofoboton ARG KT EARTIE ] 4.7 0.8 3.2 20 94 157454288
886 TK 642226%kkkkkkk 161 x 623 Qkkkokokok 5464 AR =EARTIE O} 5 0.8 3.8 20 100 183#k5%6795
887 | kAR 642226%kkkkxx%]1612 1488kkkkkokokokohohok ARGIE EARTIV ) 1.4 0.2 1.2 20 28 157#55%4288
888 | kKB 642226%kkskkkk 1616 165 4skskstolsfokokokon ARGIE:-FARGIE ) 4.1 0.7 3.4 20 82 157554288
889 T 642226%k*k*k*kxx1656 6229k k%8588 ARG EARTIE N} 3.9 0.6 3 20 78 151 #0368
890 B 642226%kkkkkxx 1611 6229 kskkskskkkokokk 5207 ARGIERARTIY ] 4.1 0.7 2.8 20 82 157#55%4288
891 T 642226k 5k kk4k 1617 1259skskstoskskskakdcokok ARTIEEEARGEIY O} 4 0.6 3 20 80 1324546681
892 Fit 640300%kkkkkkkk04 16 124 0ksksiskskskskokokokok PARGIEEAREINN] 1.2 0.2 1 20 24 157*%%%4288
893 THE 642226%kkk*kkxx1610 6229k k7994 ARTIE:EARTIE N} 3.4 0.5 2.9 20 68 158:k5%8786
894 | 5 642226%kkkkkkx163 1 1 168%kkkkkkkokokk EARTIES EARGIV D) 6. 6 1.1 4.5 20 132 157#55%4288




895 | FihiE 642226%kkkkkxx1638 6229kskskkkkkkkokok 7639 EARGIEEARTIY N 3.5 0.6 2.4 0.5 20 70 157 #k5%4288
896 | ZEfIiE | 642226%kkkxkkk1613 133 Tkttt ARG L CAREI P} 3.7 0.6 2.5 0.6 | 20 74 157444288
897 | Eihk 642226%kkkkkxx1616 6229kskskskskskokokokkk 4 345 ARGIE EARTIV ) 11.6 1.9 8 1.7 20 232 157#55%4288
898 T 642226%*kkkkkkk 1638 1424%%kkkkkkokokk ARTIES EARGIV ) 3.2 0.5 2.2 0.5 20 64 181###%2023
899 | k&% 642226%*kkskskkk%k 1619 622 9kskskskskskokokokokk 7457 ARG EARTIE N} 1.8 0.3 1.5 20 36 157 #k5%4288
900 | TR 642226%kkkkkkx163x 133 Tk ARCIE EARGIE Y 13.2 2.1 9.1 2 20 264 157#55%4288
901 | FEM 642226%k*kkkxx]1 61X 1 368skkskskskakokokstotok ARTIE:EARTIE N} 5.7 0.9 3.9 0.9 20 114 157554288
902 T 642226%kkkkkxx161x 133 Tk ARGIE:EARTIE N} 5.1 0.8 3.8 0.5 20 102 157 #k5%4288
903 T 642226%kkkkkk% 1612 6229kskskskskskskokokkk 1595 ARG EARTIE N} 6.2 1 4.3 0.9 20 124 18830626
904 | EAHH 642226%*kkkkkkk 1616 105 3kskkokokokotokkokk EARTIE:EARTIY 0.8 0.1 0.7 20 16 15745454288
905 T 642226%kkkkkxx1635 1352%kkkkokokokokohok EARGIEEARCIY N 3.9 0.6 3 0.3 20 78 1843#k5%5680
906 | Tyl 642226%kkkkkkx 1617 1365%kkkkkkkkk% ARGIEEARTIE N} 33.1 0.8 28. 6 3.7 20 662 153#k5%5252
907 | MFHIE | 642226%kkkxkkk1625 1654 kksptokkaboton ARG K EARTIV | 15. 7 2.6 11 2.1 20 314 182435458880
908 | EMRAL 642226%kkkkkkk 1616 6229 K kkkkkkkk %9989 ARTE:EARTIE N 4.5 0.8 3.2 0.5 20 90 138387414
909 | ERIE 642226%kkkkkxx1613 1022%%kkkkokokokohok ARG EARTIE N} 12.3 2 8.4 1.9 20 246 130%*#%8188
910 | e 642226%*kkkkkkk 1626 6230skskkokokokkk %3464 ARGIERARTIY ] 1 0.2 0.8 20 20 177#55%6725
911 | EHRA 642226%kkkkkxx1619 1506%%kkkkkkkkk ARTIE:EARTIE N} 10.2 1.6 7.1 1.5 20 204 134%%5%7206
912 | £-F 642226%kkkkkxx1655 6229kkkkkkookok | 554 ARG EARTIE N} 17.2 2.8 11.8 2.6 20 344 182:#:#%8880
913 | Ewze 642226%kk*kkkxx161x 1425%%kkkkokokokohok ARTIE:EARTIE N} 5.2 0.8 3.6 0.8 20 104 182%%#%8880
914 | £ il 642226%*kkkkkkk 1617 6229k Hkkkkkk k%8595 ARGIE EARTIV ) 21.3 17.5 3.8 20 426 138#3k4%1766




915 | HFEH 642226k kkkkkk% 1624 6229%kkkkkkkkkk 1018 ARTIE:-EARTIV N 4 4 20 80 1863k#x5581
916 EAESS 642226%k+kkkkk 1612 6229kskekkokekekokk 6103 ARTIET-EARTIY Y 13.4 2.1 9.3 2 20 268 188+:#*%0626
917 | EwAft 642226%kkkkkkk 1614 1488kkkkkokokokohokok ARGIE EARTIV ) 14.8 2.4 10. 2 2.2 20 296 183##4%6795
918 | Ewitk 642226%kkkkkxx1610 141 3kkkkkkookookk EARGIE:SEARTIY 10.9 1.7 7.5 1.7 20 218 153###%3259
919 | £ % 642226%kkkkkxx1611 6229%kskskskskokokkk k6004 ARG EARTIE N} 15.2 2.4 10.5 2.3 20 304 176%%%%5818
920 | TR 642226%kkkkkk%k1614 6229k KKk kkkkkk 59T 2 ARCIE:KARTIP ] 9.5 1.5 6.6 1.4 20 190 18335446795
921 | EEAF 642226%kkkkkxx1636 6229%kkkkkokk %9020 ARTIE:EARTIE N} 13.4 2.5 8.9 2 20 268 1503547873
922 | THRK 642226%kkkkkkk 1612 1 387 sksksiskskskskokokokok ARGIE-RARGIN T 8.3 1.3 5.7 1.3 20 166 188:#%%0626
923 | EMRME | 642226%kkwkkkx1613 6229skstoictsototokokok 4227 ARTILEARTE L 15. 6 2.5 | 10.7 | 2.4 | 20 312 130%#%+8188
924 | ERMK 642226k kkkkk% 1614 151 2skkokokokotokokokk ARGIE:EARTIY 14.8 2.1 10. 2 2.5 20 296 1833546795
925 | FHEF 642226k 5kkkk4% 1612 1022skkskkskskakodotokok ARTIE ARGV Y 11.2 1.8 7.7 1.7 20 224 182548880
926 | FIEfh 642226%k+kkkk4k 1615 6229kckekkokekekoksk5 193 ARTIET-EARTIY Y 10.3 1.6 7.1 1.6 20 206 187#:#%%9779
927 | EREE 642226%*kkkkkkk 1616 1022%%kkkkkkokokok ARGIE EARTIV ) 19.5 2.9 13.6 3 20 390 138#kkx7414
928 | Fwx 642226%kkkkkxx1679 133 Tkkkkkkokokokokk EARGIE:SEARTIY 14.3 11.7 2.6 20 286 155%##%2859
929 | THriE 642226%kkkkkxx1615 6229kskskskskskokokokkk 5162 ARTIE:-EARTIV N 2.7 2.7 20 54 187#k5%9779
930 | E£wfR 642226%kkkkkkx 1613 137k ARGIERARTIY ] 2.4 2.4 20 48 130%5#x8188
931 | FJuhl 642226%kkkkkxx1611 6229kskskskskskokkkk 5121 ARTIE:EARTIE N} 20.7 4 15.7 1 20 414 176%##%5818
932 | FItk 642226k kkkkkkk1613 152 2skskskskskesksksioskoskok ARGIE-RARGIN T 7.7 1.4 5.2 1.1 20 154 130%*%%8188
933 | Ew# 642226%k*k*kkxx1670 1564%kkkkkkokokokok ARTIE:EARTIE N} 13.9 1.7 10 2.2 20 278 180%*#%6908
934 | Ew4a 6422264k 1618 6229 kkkskskekokekekoksk 507 1 ARTIE VARTIY Y] 22.1 3.5 15.3 3.3 20 442 1584673




935 | Ew 642226%k*kkkxx1614 145 Dkskskstatokodotorok ARGIE:SEARTIE N} 8.5 5.8 1.3 20 170 182%%#%8880
936 | ME= 642226%kkkkkxx1628 6229kkkkkkkkkx%5303 ARGIEEARTIE N} 20.9 14. 4 3.2 20 418 173#%5%3589
937 | ETiMR | 642226%kkwkknk1639 14253tttk ARTIE - CARCIV L 19.6 13.5 3 20 392 1813458095
938 | FwiE 642226%kkkkkxx1639 6229k kkkkkkkkkk 3332 ARTIE EARTIV ) 13.4 0.6 5.6 20 268 181###x8095
939 | Ew 642226%kkkkxxx001x 137 Sstekskstatotodototok ARG EARTIE N} 25 25 20 500 182358880
940 | BREEZ: | 642226%kkxkkx2028 6229tk k0869 ARG L EARTIE ] 10 10 20 200 1513%sk4k7363
941 | 155 642226 kkkkkkk 1615 6229%kkkkkkkk k%1 526 ARTIE:EARTIE N} 12.8 8.6 1.9 20 256 187#k5%9779
942 | MBE 642226%kkkkkxx1613 6229kkskkkkokkkkk 4988 ARGIE:EARTIE N} 18.3 11.6 3.8 20 366 130%k5%8188
943 | MILF 642226%kkkkkxx1628 6230%skkklokokokkk k447 3 ARG EARTIE N} 20 13.8 3 20 400 173%k5%3589
944 | FiKkF 642226%kkkkkkx 1612 6229kkkskkkkkkk kG678 ARGIE EARTIV ) 19.2 13.2 2.9 20 384 188#3##%0626
945 | &7 642226k kk4k 1629 165 4skkskskskakdotokok ARTIE ARGV Y 16 11 2.4 20 320 18240976
946 | Fr¥A 642226%kxkkk%%k1 636 622 9kkskokkoiokk k4709 AR CARTE N 16.6 11. 4 2.5 20 332 158k 7674
947 | EHF | 642226%kkxkk%x1636 6229kskksokpokkk 333 1 ARCIEECARTIY S | 4.1 2.8 0.6 | 20 82 15054547873
948 | FRE 642226%kkkkkkx1613 6229kkkkkkkkkk k69T EARGIE:SEARTIY 5 3.4 0.8 20 100 182:#3#%8880
949 | EFEfF | 642226%kkwkkkx1636 62293kttt 362 1 ARTILEARTE L 16. 3 1.2 | 2.5 | 20 326 | 155%xx7330
950 | MUK | 642226%kkkiokkx1630 623 0tttk 4442 ARG L EARTIE ] 16.9 11.6 2.6 | 20 338 17Ttk 7313
951 | EHE | 642226%kkxkk%x1630 6229k 389 ARCIL:=CARTIP L] 2.8 2.4 20 56 182##%+8880
952 | Ewm 642226%k*kkkk%k%1636 6229kskskskskskkkkkk 3040 ARG EARTIE N} 5.1 3.5 0.8 20 102 150%:k5%7873
953 | #EM 642226%kkskskkkk 1628 6229kskskskskskokokokk k9319 ARTIE:EARTIE N} 20. 2 13.9 6 20 404 182:#:k#%8880
954 | £E® 642226%kkkkkxx 1624 622Pkkkkkkkkokokk 3156 ARGIE EARTIV ) 19.7 13.8 3.4 20 394 186k4x5581




955 642226%*k*kskskkk% 1630 6229kskskskskokokokkk (619 ARGIE:SEARTIE N} 1.8 0.3 1.5 20 36 17T#k5% 7313
956 6422263 kk%kkkk 1610 6229kckekkokokokokk 4628 ARTIE:EARTIY Y 14 2.2 9.7 2.1 20 280 153*#%%3259
957 6422263k kkk4%kkk 1613 6229kkskskkkokekekekek 1 575 ARG E:RARTIY ) 9.4 1.5 6.5 1.4 20 188 181%+xk8516
958 642226k k4% 1613 6229kkskkckekekekok 2102 ARTE:RARTIY D) 13.2 2.5 10.7 20 264 1308188
959 642226%*k*kkkkk% 1631 6229 kskskskskskokokokokk 7233 ARG EARTIE N} 18 2.9 12.4 2.7 20 360 158#k5%7259
960 642226%*kkskskkokk 1632 1654skskskskskkokokkoskk ARGIEEARTIE N} 1.8 0.3 1.5 20 36 150%55%2927
961 642226%kkk3kkkk 1610 6229k Kk kkkkookk 2217 ARGIE NN 5.5 5.5 20 110 156%#5%8864
962 642226%kkkkkk%k1619 1462kskskkskskskokskokok PARGIE:=ACMAN ] 1.2 1.2 20 24 152%4%%0626
963 6422264 Kk kkkkk 163 1 1488tttk ARGE NN 9 9 20 180 182346465
964 642226%*kkkkkkk 1617 6229kkskskskskokokokokk 7812 EARGIE NN 9 9 20 180 133#34%1370
965 642226k kxxx%% 1632 6229kskskskskkkkkkk 329 | ARGIE VAT 11.5 11.5 20 230 13656859
966 642226%*kkkkkkk 1615 622Pkkkkkkkokokok 5656 ARGE NN 5 5 20 100 159#3k5% 7586
967 642226%k*kkkkkx1611 6229k 4404 EARGIE NN 6.7 6.7 20 134 157#%5%7045
968 642226%kkkkkkk 1616 131 Tk EARGIE NN 3.4 3.4 20 68 133#35%7380
969 642226%*kkskskkk%k 1663 6229kskskskskskokokokkk 58T T EARGIE: = /eTaY B} 1.3 1.3 20 26 1584447734
970 642226%*kkkkkkk 1637 6229kkkskskkkkokkk (717 ARGIE NN 2.1 2.1 20 42 158#k4x7794
971 642226%kkkk3kkk 1 61 x 16523 kkkokokotokokokok ARGIE NN 5 5 20 100 1735844902
972 642226%*kkkkkkk 1676 1336%kkkkkkkkokk EARGIE: = /eTaY B} 15.3 15.3 20 306 1363%:#5%8566
973 642226%kkkkkkk 1613 6229 Kk kskkototokk 1019 ARGE NN 3.3 3.3 20 66 13952983
974 642226%*kkkkkkk 1610 164 T kskkkokkokokokokk EARGIE- NN 3.6 3.6 20 72 181###%4309




975 | HW/NGR | 642226%kkkskkk 1612 10223 skksptokokatoton ARG Slap vl 5.1 5.1 20 102 157%55%4136
976 | W EHE 642226%*kkkkkkk 1616 6229Hskskkkokokkk k6054 ARGE- XA 4.6 4.6 20 92 183#54%9648
977 | WEH 642226+4kkkk4k 1616 1336kskskskskskokokotokok ARTIE: NCTaY ) 3.8 3.8 20 76 185%%#%7440
978 | KR 642226%kkkkkxx1614 1336%kkkkkkkokokk EARGIE NN 6.5 6.5 20 130 183#3:4%3480
979 | KUY 642226%*k*kkkkkk 1634 6229kskskskskskkokokkk()158 EARGIEZ = /eTaY b} 3.5 0.5 3 20 70 136%k5%7485
980 | HIKZE | 642226%kkkiokkx1633 1336skeksiototsiotomsior ARGIEENC TP ] 1.7 1.7 20 34 17 T#t55970
981 | E¥%F 642226%*k*kkkkkx 1631 622 Pkkkkkkok ] 158 EARGIEZ =Sl B 3.8 3.8 20 76 1575552822
982 | HKEF 642226%kkkkkk%k 1613 1022skskskskskskskokskskok PARGIE:=ACMAN ] 3.5 0.6 2.9 20 70 183*#%%3480
983 | HWIEMK | 642226%kkkxkkk1619 622 Pkkksoltokokkk61 92 ZLI R VR A 0.8 0.8 20 16 1808281
984 | ZIKEE | 642226%kkxkkkx0014 622wk kriok k(0386 EARGIENCAAY S| 2.9 2.9 20 58 13645458668
985 | HIKFE | 642226%kkmikkak1619 6229kskkskopsokork 1 540 ARGIE:N TP b 26.9 | 26.9 20 538 1365459625
986 | HIJKED 642226%*kkkskkkk 163X 1 167 skkskskskskototototok ARGE NN 10. 4 10. 4 20 208 181#k5%4106
987 | Z5ALE 642226 kkkkkk%1611 1022%%kkkkkokokokok EARGIE: R STaY 1.6 1.6 20 32 155%k#%7559
988 | ZERLMI 642226%kkk3kkk%k1 636 622 9kskokakoiokk k(0121 EARGIE NN 6. 4 6. 4 20 128 151357003
989 | WEE 642226%kkkkkxx1614 6229k Hkokdokokk k8505 EARGIE: = /eTaY B} 4.3 4.3 20 86 182:#k5%3687
990 | EHE4R 642226%*kkskskkk% 1610 149 Lkskkokokokooookok EARGIE: =R STAY N 8.7 8.7 20 174 158#3##%5726
991 | X7 642226%*kkskskkkk 1628 622k k986 7 EARGIE RSl B} 9 9 20 180 182#%%%8075
992 | FEHF 642226%kkkkkk%k161 1 165 Qsksksksksteskskokokskok PARGIE:=ACMAP ] 6.7 6.7 20 134 131#4k%1748
993 | #E75= 642226%*kkkskkkk 1624 622 9siiiioioioiolok9 106 EARGIE: =K eTaY B} 5.4 5.4 20 108 157skk9488
994 | ZEXCE 642226%*kkskkkkk 1631 623 0skkkkkkkkkokk 5447 EARGIE: R STaY 2.3 2.3 20 46 1583546157




995 A 642226%k*kkkkk% 1612 132 THkkkkokohokohohok EARGIE: = /#TaY B} 8.8 8.8 20 176 139sk%4339
996 | HWAHIE | 642226%kkkkkkx1656 1652skksksiotorsiotoksiok ARGIE NP 2 2 20 40 181stk3192
997 | WEMN 6422265 kxxkkkk1615 623 0skskkkkkkork 801 2 ARTIE: NN 11.5 11.5 20 230 187sk4k9348
998 | A& 642226%*kkkkkkk 1610 6229kkkskkkokkkkk 4213 EARGIE NN 3.2 3.2 20 64 155%##%5396
999 | & 642226%*k*kkkkkk161x 1488kkskskskskokokotokok EARGIEZ = /eTaY b} 1.1 1.1 20 22 157#k5%2065
1000 | Z=20HB 642226% k%% 1630 622 9kskokkolokk k2694 LLIA B VR 8.8 8.8 20 176 182355093
1001 | HA& 6422264 kkkk3kkk ] 63x 6229k KKk kAR 8802 ARGIE NN 8.6 8.6 20 172 15 Lskokstok 2473
1002 | H AT 642226%kkkkkkk 1639 622 Pkkkkkkookokk 97 24 EARGIE: = /eTaY B} 2 2 20 40 158%#k5%7670
1003 | Ik 5 642226%kkkkk0kk 1615 6229k kksrkdototok k543 1 ARGE NN 4.5 4.5 20 90 1823547668
1004 | K 642226%*kkkkkkk 1619 6230Hskskokokokokokk k3282 EARGIE NN 4 4 20 80 135%3#%3020
1005 | &Ik 642226%*k*kkkkkk1611 6229k k9296 EARGIE:= I /#TaY B} 3.2 3.2 20 64 139###%8515
1006 | JE% 642226%kkskskkkk 162X 6230%kkkkkkkkk 3304 ARGE NN 1.6 1.6 20 32 157#%5%0323
1007 21| 642226%kkk%kkk 161 1 62 30kkskekkkokekekekok 9048 EARTIE XY ) 12.1 12.1 20 242 1598689
1008 | A 642226%kkkkkkx1612 1488kkkkkkokokokokk EARGIE NN 3.7 3.7 20 74 130###%8058
1009 | 5k 642226%*kskskskkk% 1658 623 0skskskskskskskokokokk 2862 EARGIE: = /eTaY B} 4.8 0.3 4.5 20 96 182:#k5%7785
1010 | k& 642226%*kkskkkkk 161 x 1 168skkkokokotokkokk ARGIE NN 4.5 0.7 3.8 20 90 1833#48857
1011 | 5K+ 642226%kk3k3kkkk 1 630 6229k kxR 5502 ARGIE NN 2.7 0.2 2.5 20 54 1823k 7785
1012 | skEE 642226% k%K% 1653 62295kkskkskkkkkkk 2697 LT B VAR 9 1.4 7.6 20 180 153%xxx0730
1013 | sk[EH 6422264 Kk k3kkkk 163 1 6229 KKk kkololok k8664 ARGE NN 17 2.2 14.8 20 340 136557190
1014 | 5KE4E 642226%*kkkkkkk 1619 131 5%kkkkkokohok EARGIE- NN 2.1 0.3 1.8 20 42 158###%3623




1015 | skEEE 642226%kxkkkk%k1617 133 Tatololokototokkokok EARGIE: = /#TaY B} 4 0.6 3.4 20 80 1365544265
1016 | FE44E | 642226%kkkkkkx1623 622kttt 1038 ARG TP N} 1 0.2 0.8 20 20 138s%k446594
1017 | #RHHE 642226%*k*kskskkkk 1620 1652%kkkkkokokokokok EARGIE- NN 8.5 1.4 7.1 20 170 182:#k4x7014
1018 | ki 64222658k 163 1 6229k ksokkokkk 7269 ARGIENCRAY S| 5.5 0.9 4.6 20 110 18234350632
1019 | &R 642226%*kkskskkkk 1613 1 168%kkkkokokokohohok EARGIEZ = /eTaY b} 7 1.1 5.9 20 140 138446594
1020 | &=KRFF 642226%*kkkkkkk 1616 133 Tk ARGIE NN 2 0.3 1.7 20 40 158#3##x7097
1021 | KPR | 642226%k#5%xxx161x JRERECEE T AR NP N 6 1 5 20 120 130348540
1022 | k¥’ 642226% kK% kx% 1626 622 Qskskskskstokskkokoksk 357 3 ARGIET-R87a) o 11 1.8 9.2 20 220 15848594
1023 | hEE 642226%*k*kkkkkk 1624 6229tttk 344 EARGIE: =K eTaY B} 6.2 1 5.2 20 124 1845559085
1024 | KEF 642226%kkkkkkx 1617 6229k k9850 EARGIE NN 18 2.2 15.8 20 360 136%35%7418
1025 | 5kEA | 642226%k%kkxkx1615 133 Taotetototsototdok ARGIE =N ATap | 2 2 20 40 14744542408
1026 | KA 642226%kkkkkkx163x 6229k k690 | ARGE NN 2.8 0.4 2.4 20 56 183#k4%7683
1027 | GKEIE | 642226%%kkkkik]61x 137 4setetsototeteoreksok ARCIEENC ALY | 4.5 0.7 3.8 20 90 157449214
1028 | 5KMI 642226%kkkkkkk 161 x 1022%%kkkkkkkkk EARGIE NN 4 0.6 3.4 20 80 136%k5%7418
1029 | 5K#% 642226%*kkskkkk% 1616 623 0skskskkkkkkkk 0080 EARGIE: = /eTaY B} 7.3 1.2 6.1 20 146 136%k5%7418
1030 | K518 642226%*kkkkkkk 1636 1488kkkkkkokokokokk ARGIE NN 5 0.8 4.2 20 100 147#5%%9581
1031 KB 642226+4kkkk4k 1617 6229 kHkkkkokkxk %6740 ARG K)o 9.4 4.7 4.7 20 188 136%%3%x7418
1032 | kT4 642226%kkkkkk% 1638 163 2sksksiskskskskokokokok PARGIE:=ACMAP ] 11 1.8 9.2 20 220 159%#%%2016
1033 | gkig 642226%*kkskskkk%k 1618 6229k 1 240 EARGIE: =K eTaY B} 4.5 0.7 3.8 20 90 177#55%7350
1034 | 5KH 642226%*kkskskokokk 1632 6229k K kxkkkkokok k31 36 EARGIE- NN 2.5 0.4 2.1 20 50 15 1kk5867




1035 | sksFo 642226%*k*kskskkk% 1630 133 Tk EARGIE: = /#TaY B} 2.5 0.4 2.1 20 50 157#k5%3209
1036 | ks 642226%*kkkkkkk 1610 6229k Hkkkkkkk k%248 1 ARGE- XA 4 0.6 3.4 20 80 147#5%9411
1037 | 5KSFHS 642226%*kkskskskkk 165X 6229 Kk kkkkokokk 3350 EARGIE: =R STaY 9.5 1.5 8 20 190 1574558371
1038 | 9Ktk 642226%kkkkkxx 1615 1652%kkkkkkkkokk EARGIE NN 10 1.8 8.2 20 200 132#%5%3266
1039 | 5K5FAK 642226%*kskskskkk%k 1636 1022%%kkkkkokokokok EARGIEZ = /eTaY b} 22.8 3.5 19.3 20 456 136355012
1040 | sk~F3H 642226%*kkkkkkk 163X 133 Tk ARGIE NN 10 1.6 8.4 20 200 152%k%%4514
1041 | E4e%E 642226%*kkskskkk%k 1629 140635kkkkokokopokok EARGIEZ =Sl B 16.5 2.6 13.9 20 330 1875tk 7187
1042 | JEH-Rwi 6422264k4k4k4kk 1615 134 Tsskskskskoksoksoksk ARCIES-NSTAb ] 25.5 4.1 21.4 20 510 151 skx%5422
1043 | R X 642226%*kkskskkkk 1617 6229k 2580 EARGIE: =K eTaY B} 20.5 3.3 17.2 20 410 134sk5%1263
1044 | FEZW 642226%kkkkkkx 1615 1022%%%kkkkkkk% EARGIE NN 4.5 0.7 3.8 20 90 151 ##5%5455
1045 | GKEHT | 642226%kwkkx4%x1616 6229k 7523 ARGIE:N TP b 3.5 0 3.5 20 70 188s#9519
1046 | k&I 642226%kkkkkkx 1617 622Pkkkkokokokk 314 1 ARGE NN 1.2 1.2 20 24 187#kk%1752
1047 | 5k 642226k kkkkx%1612 1795%%kkkkkokokokk EARGIE NN 2 0.3 1.7 20 40 147#55%8357
1048 | 7KK 642226%kkkkkxx 161X 1004%%kkkkkkkk% EARGIE NN 1.5 0.2 1.3 20 30 136%35%4265
1049 | sksrik 642226%*kkskkk%k% 1610 1486 kkkkkokokokokok EARGIE: = /eTaY B} 2 0.3 1.7 20 40 1575546236
1050 | FRAN 642226 kkkkk% 1634 6229Hskskskkokokkk (0593 ARGIE NN 12 1.9 10. 1 20 240 181##k%1389
1051 | skspi 642226%kxx%%%%1616 6229k Kk xxkkk5%%6 1 64 ARGIE AT 13 2.1 10.9 20 260 18238141
1052 | skFH 640300%kkkk34k06 17 6229k ksksrrotolokk 7121 ARTIE AT 8.5 1.4 7.1 20 170 1301859
1053 | skspZE 642226%*k*kkkkkk 163X 1335tttk EARGIE: =K eTaY B} 12.5 2 10.5 20 250 1323545962
1054 | 5K5Fmi 642226%*kkkkkkk 1615 622Pkskkkkkokokok 1 349 EARGIE- NN 41 6.6 34. 4 20 820 134#35%0387




1055 | K3 642226+4kkkx4k 1630 165 2kkkksiekskototodok EARGIET XAy o] 16.5 2.6 13.9 20 330 183545277
1056 | 5K57%% 42011 2%kkkkkk% 2731 622Pkkkkkkkokokok 7366 ARGE- XA 9.5 1.5 8 20 190 139#k4x6594
1057 | 5K5FR 6422264 Fkkkkkx 1618 6229kHkkkkkkx %496 10 ARTIE: NCTaY ) 9.5 1.5 8 20 190 152%%%%3481
1058 | FK5FEE 642226%*kkkkkkk 1630 6229k Hkkkkkkkx k8817 EARGIE NN 16 2.6 13.4 20 320 18434351635
1059 | k573 642226%k*kkkxx1633 10225%kskskskskokokokokok EARGIENCTay N 6.4 0.7 5.7 20 128 184#%%7115
1060 | 5KZEH| 642226%*kkskkkkk 161 x 6229%kkkkkkkkk 4034 ARGIE NN 6.6 1 5.6 20 132 187#3kk%1432
1061 | GKSFEE | 642226%%skkxx%k1619 1335kkaptokokatolon ST VA A 24 3.8 | 20.2 20 480 1843557456
1062 | K5 642226%kkkkkk% 1653 1337 skskesioskskskokokskokok ARGIE-Reatap ol 4.5 2.2 2.3 20 90 183%4k%1227
1063 | skEMR 642226%k*kkkxx1615 148 5%kkskskskskokokotokok EARGIENCTay N 3.5 0.6 2.9 20 70 187#x3k0731
1064 | 5K~FHzZ 642226k kkkkk% 1614 1468%kkkkkkkkkk EARGIE: R STaY 3.1 0.5 2.6 20 62 152#85%7217
1065 | skspe 642226%kkkkkk 161X 165 2skksksteskskstoskokekok FARCIE: SR SAp N 2 0.3 1.7 20 40 181xxxx1628
1066 | KEH 642226k kkkkk%1614 6229k kK kkkkkkkk 3992 ARGE NN 4 0.7 3.3 20 80 1825%#5%997 |
1067 | sksFoe 642226%*k*kskskkkk 1618 1343 %kkkokokohohohohok EARGIE NN 2.8 2.8 20 56 147#55%6549
1068 | 5KAFHR | 642226%*kskkkx1655 622 Pkkkokkkiok k8289 ARG S elap ) 12 1.9 10. 1 20 240 157345457048
1069 | 5K4A 642226%kkkkkxx1616 6229kskskskskskokokokokk 1032 EARGIE: = /eTaY B} 4,2 0.7 3.5 20 84 182:#k%5096
1070 | k74 642226%*kkkkkkk 1616 6229kkkkkkkkkkk 5185 EARGIE: =R STAY N 8 1.3 6.7 20 160 132#55%5962
1071 | akspib 642226%kksickokok 1614 6229skkkkkskskkokok(01 87 ARG Rt} 14 2.2 11.8 20 280 183355277
1072 | k1B 642226%kkkkkk%k161 1 1327 sksksiskskskoskokskokok PARGIE:=ACMAP ] 5.4 0.9 4.5 20 108 184#4%%4302
1073 | AR 642226%*kskskskkkk0413 6229 F Kk kkdolok k68 16 EARGIE: =K eTaY B} 22.5 3.6 18.9 20 450 15 Lskokstok 5422
1074 | = XE 642226k kkkkk%1614 622Pkkkkkkkokkkk991 | EARGIE: R STaY 13.4 13.4 20 268 182:#34%7036




1075 | =k 642226%k*kkkxx1610 623 0skskskskskskokokokk k9642 EARGIE: = /#TaY B} 6 6 20 120 138%%%%2367
1076 | =&V 642226%*kkkkkkk 1615 6229k 5396 ARGE- XA 16.6 16.6 20 332 18840967
1077 | b 642226% k%1616 6229k k8810 EARGIE- NN 1 1 20 20 147#55%2021
1078 | & ¥k 642226%*kkkkkkk 1616 622 Pkkkkkkkkokokok 7390 EARGIE NN 1.5 1.5 20 30 138#3kkx7247
1079 | & k= 642226%kkkkkxx1615 623 0%skoktokokok k%9485 EARGIEZ = /eTaY b} 7.4 7.4 20 148 139k%8123
1080 | = GFE 642226%kkkkkxx1619 6229kkkskskskokokokk k8462 ARGIE NN 1 1 20 20 158#3##%3455
1081 | = kA 642226%*kkkkkkk 1618 102255kttt EARGIESNCTay N 9.4 9.4 20 188 139sk54k7390
1082 | & kiR 642226%kkkkkk%161 1 623 0kkkskskkokskokok k663 1 PARGIE:=ACMAN ] 11.8 11.8 20 236 139%:4%%7390
1083 | & Wi 6422264 kkkkkkk 1618 6229k kK kskakkokok 27 13 ARGE NN 1 1 20 20 1475847346
1084 | =ik 642226%*kkskskokokk 1612 1488 kkkokokotokkokk EARGIE NN 8 8 20 160 1363%#%%3565
1085 | #k4HE 642226k 5k kk40k 1 628 1023 skkstokskskakdotokok EARGIETNCtay o 24 24 20 480 139348637
1086 | mtE 642226%kkkkkkx1637 6229kkkkskkkkkkk 4907 ARGE NN 1 1 20 20 138#kkx7112
1087 | mtak 642226%kkkkkkx161x 1022%%kkkkkkokokok EARGIE NN 9.1 9.1 20 182 182:#3#%7999
1088 | =t % 642226%kkkkkkx 1617 6229 kskskskkokkkk k94 T8 EARGIE NN 8.7 8.7 20 174 | 152%%%%49956
1089 | mtA& 642226%Fkkkkxx%]1612 6229kskskkkkkokokok 7676 EARGIE: = /eTaY B} 17.3 17.3 20 346 158#k5%5699
1090 | mt= 642226%*kkkkk%k1619 1 795%skkkokokotokokokk ARGIE NN 5.3 5.3 20 106 1533548630
1091 | BALAE | 642226%%kkkkkx 1613 6220skkskkkkok kKT 457 ARG Rt} 14 14 20 280 137347515
1092 | @iar3) 642226%kkkkkxx1611 6229kkkskkskokkokkk 5682 ARTIE AT 6 6 20 120 182:#k5%7288
1093 | mEsE 642226%*kkskskkk%k 1618 6229tttk 284 1 EARGIE: =K eTaY B} 8.1 8.1 20 162 15 Lsoksokd 541
1094 | m&EH 642226%kkkkkxx1610 623 Qkskkkokokok 5520 EARGIE- NN 35.7 35.7 20 714 159357249




1095 642226%*k*kskskkk%k 1619 6229kskskskkkkkokkk (007 1 EARGIE: = /#TaY B} 20 120 153%%%%3599
1096 642226%kx*kkkk%k1619 622 9skskskskskskkokokokok 1 422 ARGE- XA 20 20 1523548603
1097 642226%kkk3k3kkk 1 694 1488stokokototokkokk EARGIE- NN 20 108 139359285
1098 642226%kkkkkk%k1619 1239skokofokotokkokk EARGIE NN 20 20 1363547159
1099 642226%*k*kkkkkk 1634 622 9kskskskskskokokokokk 7458 EARGIEZ = /eTaY b} 20 20 152:%k5%1930
1100 642226%*k*kkkk%k1615 1488kkokokokotokkokk ARGIE NN 20 416 1333540038
1101 642226%kkkkkkk 1613 6229 Kk kkkkdokok k81 20 ARGIE NN 20 100 133549686
1102 642226%kkkkxx%1621 6229kkkkskkokkkkk 3909 EARGIE: = /eTaY B} 20 262 1303%k5%7500
1103 642226%Fkkkk%k 1612 6229 Hkkkkodolok k3156 ARGE NN 20 54 13235448416
1104 642226% K k3% 1 634 6230k kkkkkkokok k3226 EARGIE NN 20 240 1303547500
1105 642226% k%1610 622Pkskskkokokk 2121 EARGIE:= I /#TaY B} 20 128 181#k#%0191
1106 642226%kx*kkkk%k1613 6229 K kkkkkkokok k6524 ARGE NN 20 130 153%##%4288
1107 642226%kkkkkkk 1616 133 Tatololokototokkokok EARGIE NN 20 114 18734549848
1108 642226%kkkkkk%k1 618 622 Pkkkkkkkokokokk (0885 EARGIE NN 20 20 15335453559
1109 642226%*kskskskskkk 1647 1652%%kkkkokokokokok EARGIE: = /eTaY B} 20 42 15953932
1110 642226%kkkkk%%k1610 1004sskkkskskkokkokk ARGIE NN 20 20 17335341386
1111 642226%kkkkkkk 1615 1488tokokototokkokok ARGIE NN 20 48 1395548813
1112 642226k kkkkkkk 1619 133 7swskokskokeskesksiokokok ARGIE =AY ) 20 44 139%*%x8926
1113 642226%kkkkk0k0k 1 625 6229 K kksrkototok k4164 ARGE NN 20 100 1395448326
1114 642226%k k%1613 6229k kK kkkkkkkk 4923 EARGIE- NN 20 20 1533546183




1115 | mhF5 | 642226%kekmkrk]617 6229k kokokokiok 1 797 LT VA - . 20 .
1116 | mEK | 642226%%kkkkk161x 6229k kkAok k% 7945 ARGIEN AP N ) 1 20 20 =
1117 | =ifH 642226%kskskckekek 1612 JRRYEEEEEEEEEEES EARGIE- NN 20. 4 20. 4 20 408 1845457638
1118 | BB | 6422265%kkkkoiior 1631 6229k ok ok k8 14 1 CARTIE AV - - 20 196 =
1119 | FSCHI | 642226%kkkkkkx1612 622 sstkstolotolotolotok 5776 LR VA 2.6 2.6 20 52 L7T%54%1776
1120 | BECZE | 642226%kskkxx1610 | 6220%kskknkionkx0331 L | 1 20 20 =
L1221 | XEPFE | 642226%0000061643 165255kt LA 6 6 20 120 13944791 1
1122 | HEEE | 642226%000k0061627 1652tttk ST Y A — . =
1123 | HHIEN] | 642226%%skk%%%x1616 622 9skkksctetorsiokkok 687 1 ARG N Slap ul — & 20 158 =
1124 | BIERE | 642226k kikiork]161x 137 2sotokstototototolok ARDE: T 10.5 | 10.5 20 210 | 136%#+%6188
1125 | BIES | 642226%kkkeiioik 1614 6230k kokokok k5613 LT VA : 1 20 20 =
1126 | #HIE 642226k kkk3k%161 1 62295k kA H%9 700 L 0 : 20 | =
1127 | @&3CHI | 6422265kkekioix 1630 6229 kskksokopokkk 2844 ARTIE N STaE ) 1 1 20 20 17Ttk 1776
1128 | REEE | 642226%kwkkkrk] 624 1469k kokoion ARGIENCRAY S| —— 20 218 =
1129 | BCHE | 642226%kkkkink]615 | 6229kkkiokiikiork0673 ARDIE KB 10.2 | 10.2 20 204 | 158%#k%9366
1130 | @S0 | 642226k kst 1631 6229k k8834 L 14 14 20 =
1131 | MSCH] | 642226%kkkkkk%x1611 1455kttt AR Yok 6.9 6.9 20 138 | 1809744
1132 | m3in | 642226%%ktxik0010 622 Ptsksioletetiolokk 1 303 ARGIE:-otlapul > : 20 280 =
1133 | MiBZE | 642226%kkkk0kx1624 6229kt k991 4 ARGIE ST ) : 8 20 =
1134 | ESCEL | 642226%kictkik1610 | 6220kt 684 ARGIE Y AT 8.7 8.7 20 174 | 180%#++7639




1135 | mEik%E 642226%k*kkkkkk161x 165 23kkkokstotokokokok EARGIE: = /#TaY B} 2 2 20 40 159358603
1136 | @Sl | 642226%#kxkkk%1614 622 9dokskkarkolok k6 228 ARGE- XA 17.5 17.5 20 350 153%#5%9769
1137 | &30k 642226%*kkskskkkk161x 6229k k823 1 EARGIE- NN 19.1 19.1 20 382 153#k4%2561
1138 | m&iz 642226%kkkkkkx1612 1396%kkkkkkkokokk EARGIE NN 7.9 7.9 20 158 159#3##%8565
1139 | =&Y 642226%*kkskskkk%k 1618 6229kskskskskskokokokkk 3168 EARGIEZ = /eTaY b} 8.7 8.7 20 174 158#k5%8646
1140 | &=3XH 642226%*kkkkkkk 1616 6229kkkkskkkkkk k9757 ARGIE NN 6.7 6.7 20 134 187#35%6240
1141 | =ER 642226%*kkkkk%k% 1630 622 Pkkkkkokokk 8903 EARGIEZ =Sl B 16. 8 16.8 20 336 1323%#5%8813
1142 | &304 642226k kkkk%%%k 1615 1630k kskskskskskskskokok ARG AP ) 9.1 9.1 20 182 136%*x4%7306
1143 | & Kbk 6422264 Kk kkkkk 163 1 165 23kkkokstotodkokokok ARGE NN 3.7 3.7 20 74 1505547470
1144 | = LB 642226%kkkkkxx1616 1022%%%kkkkkkk% EARGIE NN 4.7 4.7 20 94 183#k%x9954
1145 | & KK 642226%kkkkkxx1611 6229kskskskskskokkkkk 8817 EARGIE:= I /#TaY B} 1.9 1.9 20 38 158##5%8966
1146 | & iz 642226%kkkkkkx 1615 133 Tk ARGE NN 8.1 8.1 20 162 139#5#%8813
1147 | m KFL | 642226%%skkxxx1615 1652kttt AARGIE £V 15.6 | 15.6 20 312 139st5x8813
1148 | 5KEHA 642226k kkkkk% 1684 133 Tkkkkkkokokokokk EARGIE NN 11.1 11.1 20 222 177#%%%1185
1149 | & &2k 642226%kkkkkx% 1632 1022%%kkkkokokokohok EARGIE: = /eTaY B} 6.5 6.5 20 130 177#55%2865
1150 | =il 642226%kkkkkkx 1612 6229kkkkkkkkkkk 4103 ARGIE NN 14.9 14.9 20 298 159#3##%6099
1151 | &% 642226%kxx%%%%1615 6229k KKk k%K% %7530 ARGIE AT 14.5 14.5 20 290 1335tk 7725
1152 | &+ 642226%kkkkkk%k 1618 1 488ksksisksksksioskskokok PARGIE:=ACMAP ] 28.7 28. 7 20 574 136%#k%1319
1153 | k%5 642226%Fkkk%k%k 1612 1596skkkskstotokokokok ARGE NN 9 9 20 180 184546718
1154 | #HIESS 642226%kkkkkkx1635 623 0kkskskskkkkkk k5605 EARGIE- NN 1.7 1.7 20 34 136%35%7339




1155 | #HIE% 642226%k*kkkxx1619 623 Qskskskkkokokok 1074 EARGIE: = /#TaY B} 7.5 7.5 20 150 147#%%%5396
1156 | &30k 642226k kkkkk%1614 1AT9kkkkkkk ARk ARGE- XA 7.1 7.1 20 142 181##5%9120
1157 | &CFE 642226%kkk3kk%k 1612 62 30kkskekkkokekekekok 4705 ARTIE: NCTaY ) 5.8 5.8 20 116 134349662
1158 | m&H 642226%kkkkkxx 1611 1168 %kkkkkkokokokk EARGIE NN 12.2 12.2 20 244 151#%#%3385
1159 | m=&s 642226%kkkkkxx1617 17 19%kkkkkokokokokok EARGIEZ = /eTaY b} 13.6 13.6 20 272 153550476
1160 | =& 642226%kkkkkkk 1615 165 23kkkokokokokokokk ARGIE NN 16. 1 16. 1 20 322 1843540669
1161 | mEHE 642226%kkkkkkk 1615 1 168kkokoksfotokkokk ARGIE NN 1 1 20 20 132349054
1162 | Mtk 642226%kkkkkx%1611 144 5%kskskskskokokodokok EARGIE: = /eTaY B} 1 1 20 20 1323%k5%6552
1163 | =0 6422264 Kk kkkkk 161 1 145 23kkkokstotokokokok ARGE NN 7.5 7.5 20 150 136skk5244
1164 | 5K5FMI 642226%*kkkkkkk 1617 6229k k8996 EARGIE NN 17 1.7 15.3 20 340 132#35%2009
1165 | ME& 642226+4kkkk4k 1610 1022%kskskskskokokodokok ARGIEY 359 0 1 0.2 0.8 20 20 139%3%4714
1166 | EEHEAT | 642226%kkekickk1618 622k kiok k4519 ARGV 359 5.2 1 4.2 20 104 1513440767
1167 | A% 642226%kkkkkxx1618 BRI ARGE:Y AN 1 0.2 0.8 20 20 186#3kk%1562
1168 | R¥E 642226%kkkkkkx 162 6229 Hskskkokkokkk k5194 ARGEEY AN 1.2 0.2 1 20 24 153#3k5%3562
1169 | &EFR 642226%*kkskskkk%k 1635 LA8THkkkkkokokokokk ARGIEY 359 0 1.1 0.2 0.9 20 22 152355008 1
1170 | EEX 642226% k%% 1614 1494 skskskskofeskoskskotok ARTIE Y35 ] 2.3 0.4 1.9 20 46 1808642
1171 | #EN 642226%*k*kkkkkk 165X 10223kkkskskotokokokok ARGV 35T 2.7 0.5 2.2 20 54 1785417088
1172 | FAFR 642226%kkkkkk%k1615 6229 kkskskskkskokokokk ] 584 ARGy 8590 2.5 0.5 2 20 50 157*%%x0164
1173 | FHE%E 642226%*kkskskkkk 1617 6229k Hkkxxkkkk k54T EARGIE:=V 35T ) 2 0.3 1.7 20 40 15354352
1174 | E&EF 642226%kkkkkxx1616 622 Pkkkkkkokokkk 8234 ARGE:Y AN 2 0.3 1.7 20 40 157#%5%6585




1175 | E48 642226%%kxx%%%] 632 6229%kkkkkkkkk k(388 ARGEY 4N 2.2 1.8 20 44 1595tk 1832
1176 | F4J 642226%*kkkkkkk 1617 1795skskskkkkokokok ARGV 35T} 2.5 2.1 20 50 152#%5%2636
1177 | BERK 642226%*k*k*kkkkx 1631 6229kskskskskskokokokkk 2T 2T ARGEEY AN 1.8 1.5 20 36 138#3kk%7752
1178 | T4k 6422264 kx5 639 1392%kkkkkkokokokok ARGEEY AN 2 1.7 20 40 15235351642
1179 | E4ef%F 642226%k*k*kkxx1616 1 269skkskskskakokodototok ARGIEY 35 0 4.3 3.5 20 86 14T#k5%1418
1180 | FE4ENI 642226%*kkkkkkk 1619 6230k kkkkkkkkk5563 ARGIEV 35T N} 2.2 1.8 20 44 199350876
1181 | ®EX 642226%kxxk%k%%1617 1 265% %Kk Ak K ARGV 5T 1.2 1 20 24 158s#4k9643
1182 | BgiEwz 642226%kkkkkk%k1619 6229kkkkskokskekskk k6378 ARGy 8590 1.8 1.5 20 36 134%%%x7914
1183 | E4EF 642226%kkkkxx%]1632 142 0sskskskskakokodototok ARGIEY 359 0 2 1.7 20 40 1523%k5%4572
1184 | E&EE 642226%*kkkkkkk 1617 140 Ttk ARGE:Y AN 2.5 2.1 20 50 18 Lkk7955
1185 | &R 642226%*kkskskkkk 1617 6229kskskskskskokokokokk 3592 ARGIEY 359 0 2.3 1.9 20 46 134#55%9160
1186 | JE &AL 642226%*kkkkkkk 1617 6229k kkkkkkkkk T 37T ARTE: Y 379N 1.6 1.3 20 32 1393542326
1187 | B{EZE 642226%k*kkkxx1634 6229kskskskkkkkokokok 7336 ARGE:Y AN 2.5 2 20 50 132#35%7378
1188 | BER 642226%kkkkkkk1 612 1654%kkkkkkkkokk ARGEEY AN 1.3 1.1 20 26 13 Lsskstok 1952
1189 | & 642226x+kkkxk%161 1 6230%kskkkkkkx k%2616 ARGIEY 359 0 1.9 1.6 20 38 182%%#%8306
1190 | &M 642226%*kkkkkkk 1617 6229k kK kkkkkkkok ] 372 ARGIE Y 35T N} 2 1.7 20 40 1523540755
1191 | %EE 642226%kxx%%%%1610 1022%%kkkkkokodokok ARGV 35T 2 1.7 20 40 138kt 7502
1192 | ®&E 642226%kkkkkk%k161 1 1654 kskskskskskskokskokok ARGy 8590 1.7 1.4 20 34 182#%%%x5001
1193 | & | 642226%kwkkk3k1610 6229%skkskopskkokk 7229 ARGV 359N 1.2 1 20 24 184s0#5x8567
1194 | BEiL 642226%*kkkkkkk 1618 165 4skkkskokotokkokk ARGE:Y AN 2.5 2.1 20 50 1583547596




1195 | £k 642226%k*kkkxx1619 1024skskskskakokodotorok ARGIEY 359 0 1.7 20 40 158#k#%7293
1196 | Ew3C 642226%*kkkkkkk 1615 622Pkskkkkkkokokk (0274 ARGV 35T} 2.7 20 64 157%%#%3483
1197 | Edu 642226%kkxkkk%k1634 6229k KKk kkokkkk 8945 ARGEEY AN 3.9 20 92 1565540298
1198 | kR 642226%*kskkkkk 1616 6229tttk 449 | ARGIE:S 353 N 2.2 20 54 1803#4%5533
1199 | k&P 642226%kkkkkxx1623 6229kskskkkkkkkokok 5459 ARGIEY 35 0 1.3 20 30 137#k8%7254
1200 | k&M 642226%*kkkkkkk 1618 622 9kskskkkskokokokokk()34 3 ARGEY RSN 1.3 20 30 1843547040
1201 | k&R 642226+4kkkk4k 1616 6229k Hkkkkokokkxk 1055 ARG KW 4 N 2.1 20 52 134%%3%8717
1202 | sk&iE 642226%kkxkkk%k161 1 129 Tskokofototokokokk ARGV 5T ) 2.9 20 72 18757879
1203 | EhuE 642226%k*kkkxx1614 6229k Hskokotookokk %9257 ARGIEY 359 0 1.8 20 44 157#k5%6188
1204 | £HK 642226%k k%1618 6229 K kkkkkkokok k8754 ARGE:Y AN 2 20 50 1393547853
1205 | Exmik 642226%*k*k*kkkk% 1651 6229 Kk kkkkkokok k8 150 ARG 53} 1.4 20 34 18037128
1206 | Frads 642226%*kkkkk%k%0296 1004%kkkkkkkk k% ARGV 35T} 2.2 20 54 139354393
1207 | EHEE 642226%kkxkkk%k1614 6229k Kk ks kkkdokok k6949 ARGE:Y AN 2.6 20 64 1523546555
1208 | T 4E¥s 642226%kkkkkkx1658 LA8THkkkkkkokokokk ARGIE:SY 353 ¥ 3.6 20 88 153#%5%9299
1209 | E4inx 642226%kkkkkxx1617 131 2sekskskatokodototok ARGIEY 359 0 5.2 20 128 15350835
1210 | JEEH 642226%*k*kkkkkk0095 6229k K kx4 %8066 ARGEY RSN 2.3 20 56 135%#+%%8727
1211 | MBEE | 642226%kkskkk%1611 622 Pkksotkokork k943 | ARLES Y 35N 2.2 20 54 173%55%4965
1212 | EEEN 642226%kkkkkxx161x 6229k k8560 ARGIEY 359 0 6 20 148 15947681
1213 | BEZE 642226%*kkskskk%k% 1610 6229k 3754 ARGIEY 359 0 2.7 20 66 153%k5%1263
1214 | B{EF 642226%*kkkkkkk 1617 1654skkkkkokokodokok ARGE:Y AN 3.7 20 90 18733717




1215 | BEZE | 642226%k%kkxkx1610 133 Tskspsokopokokok ARGIEY 35| 6.3 1.2 5.1 20 126 180#%%%9337
1216 | JEEMNI 642226%kkkkkxx 1611 6229kkkkkkkkokkk 1453 ARGV 35T} 5.4 1 4.4 20 108 139#k5%7193
1217 | B¥5 642226%*kkskskkkk 1638 6229k k8300 ARGEEY AN 3.9 0.7 3.2 20 78 159#35%2740
1218 | BT 642226%kkkkkk%k1 638 1596%kkkkkkkkkk ARGEEY AN 5.7 1.1 4.6 20 114 13835354591
1219 EH 642226kkkkk4k 1637 6229kkkkokkkkk %2434 ARGIEY 35 0 4.7 0.9 3.8 20 94 15235671
1220 | BEIR 642226%*kkskkkkk 1617 6229kskskskkkkokkk 7087 ARTIE Y359 ] 2.7 0.5 2.2 20 54 136%k4x7341
1221 | 30k 642226%kkkkkxx1617 6229kHkkkkokokkx %7053 ARGIE Y 359 0] 2.8 0.5 2.3 20 56 158%##%7540
1222 | sa4e4r 642226%skkkkkk 1615 135 skskskskskskskoksoksk ARTEYREN) 3.1 0.6 2.5 20 62 184#44%7052
1223 | skEHH 642226%k*k*k*kxx1636 148 Tkskskskskokokotokok ARGIEY 359 0 2.2 0.4 1.8 20 44 151333860
1224 | BERER 642226%*kkkkkkk 1610 1654%kkkkkkkkkk ARGIE:2 353 N 3.3 0.6 2.7 20 66 152#35%1907
1225 | BEIFR4 642226%k*kkkkkk 1614 6229k KKk kkkkokok 1 565 ARG 53} 10. 1 1.9 8.2 20 202 157557037
1226 | BEFRIE 642226%*kkkkkkk 1619 10224kskskskskskskokotok ARGV 35T} 1.8 1.8 0 20 36 158##+%7281
1227 | dEEz 642226%kkkkkkk 1610 6229%kskkkkkkx k%199 1 ARGE:Y AN 2.3 0.4 1.9 20 46 182:#34%0467
1228 | BESRR | 642226%%wkkkik1632 148 Tskststolofokokokon ARCIEEY 35 7.6 1.4 6.2 20 152 183449497
1229 | EEEZE 642226%kkkkkxx1619 6229k Hkkkkokokkx %7468 ARGIEY 359 0 2.4 0.4 2 20 48 181%4%7786
1230 | gEdEfE 642226%*kkkkkkk 1617 126 Ikskkkokkokkokokok ARGIE Y 35T N} 6.4 1.2 5.2 20 128 180##%x0951
1231 | B¥KIE 642226%kkkkkkk 1615 6229kttt k82 19 AR Y3 9N 1.5 0.2 1.3 20 30 14784943
1232 | pEEE 642226%kkkkkk%k 1 63% 1022skskskskskskskokskskok ARGy 8590 10.3 1.9 8.4 20 206 135%#%%8642
1233 | pEEg 642226%kkkkkxx1618 6229kkkkkkokkkx %0215 ARGIEY 359 0 2.6 0.5 2.1 20 52 136%%3%7196
1234 | BEBIAE | 642226%%skkkrk161x 622 Pkkkokkkiokk k501 3 ARGEEY 3| 2.8 0.5 2.3 20 56 15045458053




1235 | BEFME 642226%*k*k*kkkk% 1631 6229kskskskskskkkokkk()165 ARGIEY 359 0 2.9 2.4 20 58 181##5%0705
1236 | 4ok 64011 Dkkkokkrkk 1233 623 0kskkskskskkkkokk (0429 ARGV 35T} 3.3 2.7 20 66 135%k#%0150
1237 | BERAE 642226%*k*kkkkkk 1634 6229kskskkkkkkokokok()1 24 ARGEEY AN 3.5 2.8 20 70 150%k5%7212
1238 | BERS 642226%*kkskkkokk 1612 623 Qkkkkkkokokok 1 396 ARGIE:S 353 N 2.5 2 20 50 137#%5%2918
1239 | BERT | 642226%k%kkkxk0094 6229k 0615 ARGV 359N 9.2 7.5 20 184 1395tk 7675
1240 | ZK#F 642226%Fk%xk%% 1638 1654sskskskskskkokkkk ARGV 37N} 2.5 2 20 50 181355365
1241 | &ifhs 642226%%kxx%%%1615 6229%kkskskkkkkk k683 T ARGE:Y 43N] 1 0.8 20 20 182sk47821
1242 | B 642226%kkkkkk%1615 6229kskkskskkkokekkk (0058 ARGy 8590 2.8 2.3 20 56 135%#%%2239
1243 | BEH= 642226%kkskskkk% 1636 1022%%kkkkokokokohok ARGIEY 359 0 4.6 3.7 20 92 159kk%1718
1244 | pEsRls; 642226%*kkkkkkk 1613 6229kkkkkkkkkkk 4645 ARGE:Y AN 4.4 3.6 20 88 187###%9333
1245 | BERER 642226%*k*kkkkkk 161X 6229kskskskskskokokokkk 2297 ARGIEY 359 0 6 4.9 20 120 182###%8955
1246 | EEEMI 642226%kkkkkkk 161 x 1022:ksksteteteteteteoteok ARGV 35T} 2.4 2 20 48 187##%%5393
1247 | BEF e 642226%*k*kskkkk%k 1615 6229k ok 8680 ARGE:Y AN 3.1 2.5 20 62 183#3k4%0557
1248 | BEHIE 642226%kkkkkkk 1618 1468%kkkkkkkkkk ARGIE:SY 353 ¥ 1.2 1 20 24 177#55%2314
1249 | BEF 5 642226%Fkkkkxx%]1612 6230%kskkkkkkxx%9469 ARGIEY 359 0 3.4 2.8 20 68 139%%3%7675
1250 | AESRER 642226 kkkkkk% 1654 6229k K kkkkkkokk k8664 ARGEY RSN 2.3 1.9 20 46 1873#4%3788
1251 | BESD 642226%*k*kkkkkk 1634 LA8 Tk ARGV 35T 8.1 6.6 20 162 173%#5%8986
1252 | B 642226k kkkk%k% 1637 6229skskskskskskskskskkok80 1 1 ARGIE: Y3 8.6 7 20 172 182%*%+%3426
1253 | BERE 642226%*kkskskkk%k 1613 1488 kkkkokokohohohohok ARGIEY 359 0 6.5 5.3 20 130 138#k5%7935
1254 | HhE 642226k kkkkk%1614 1023skskskskskskkokokokok ARGE:Y AN 8.1 6.6 20 162 139#k4x7281




1255 | BiHF 642226%kxx%k%k%%1615 LAS Tk ARG 53 ) 11.8 2.2 9.6 20 236 152350792
1256 | JBiEiE 642226%kkkkkxx1614 131 Gkkeskskskakstotototok ARGV 35T} 5.7 1.1 4.6 20 114 136%35%7410
1257 | B2 642226%kkkkkkx161x 6229kskskskskskokkokkk 3177 ARGEEY AN 7.2 1.3 5.9 20 144 138#k5%6762
1258 | 5Kkf- 642226%kkkkkkx1613 6229 Hskskokokokokkk k474 1 ARGEEY AN 11.1 2.1 9 20 222 138###%3268
1259 | k& 642226+4kkkk4k 1615 622Pkkkkdokkkk k3276 ARGIEY 35 0 13 2.5 10. 5 20 260 182%%#%4198
1260 | fRZ22fE | 642226%%kkkkk%1613 6229kttt k8403 ARGV 352N 10. 6 2 8.6 20 212 136544k 7785
1261 | &8 642226%kkkkxx%]1612 14624 %kkkkkokokokok ARGIE Y 359 0] 16. 2 3.2 13 20 324 181354288
1262 | 1&=ENI 642226%kkkkkkk 1617 1654 ksksksksksksiokskokok ARGy 8590 16.7 3.2 13.5 20 334 157*%%%8628
1263 | gt 642226%kkkkkxx1617 6229 kHkkkkkkxx %3300 ARGIEY 359 0 17.6 3.6 14 20 352 132%%%%8289
1264 | BERZE | 642226%%kkkkk%163x 622 skl k k6670 ARTIEEV A5 7.5 1.4 6.1 20 150 182447073
1265 | XA 642226%kkkkkxx1611 6229kkkkkokokokkx %6477 ARGIEY 359 0 7.7 1.4 6.3 20 154 181##%2392
1266 | Arhts 642226%*kkkkkkk 1637 6229 skskskskskkokokokk 3409 ARGV 35T} 4.1 0.8 3.3 20 82 138#kk%5447
1267 | 5KEME | 642226%kmkkikk1672 145635kttt CARGIE: V3735 ) 16. 2 3.2 13 20 324 150587582
1268 | LR 642226%kkkkkkk 1613 622 Pkkkkkkokokokok 7836 ARGIE:SY 353 ¥ 3.2 0.6 2.6 20 64 136%35%7598
1269 | KiFHE 642226%kkkkkxx1610 145 Dokskskskskokokokokok ARGIEY 359 0 5.6 1 4.6 20 112 183%%#%3542
1270 | RIFC | 642226kt 1610 6229tttk 0100 ARGV 3530 6.3 1.3 5 20 126 | 150%k#x4813
1271 | RIBL | 642226%%%xkkk%1638 165 4skkskkokstokokskok ARLES Y 35N 5.9 1.2 4.7 20 118 180%#:5+8286
1272 | BiE 642226%kkkkk%k% 1614 131 Bekskestoskokskskokskokok ARGy 8590 15.4 2.9 12.5 20 308 182%#%%(0254
1273 | k575 642226%Fkkkkkxx1619 6229kHskkkokokokkx k7992 ARGIEY 359 0 17. 4 3.4 14 20 348 152%%%%3610
1274 | KEE | 642226%k0kpiokx 1611 6229 Fkpkkiokok k4 779 EARGIE Y 353N 5.2 1 4.2 20 104 | 152354849




1275 | 5k L7 642226%k*k*kkxx0025 6229 %kkkkkkk k%2510 ARGIEY 359 0 1.9 0.3 1.6 20 38 137#k5%7672
1276 | BESKE} | 642226%%skkx4k1615 1358 sskkptokkopoton ARGV 352 3.5 0.7 2.8 20 70 15947465
1277 | B 642226%*k*kskskskkk 163X 6229kskskskkkkokokokk 284 1 ARGEEY AN 2.9 0.5 2.4 20 58 183##4%0575
1278 | fREM 642226%kkkkkk%k1 635 6229k KKk kkkk0kk T 085 ARGIE:S 353 N 5.3 1 4.3 20 106 155%#4%2755
1279 | 1REH | 642226%kkkkxxk1639 10223 skksptokokatoton ARGV 359N 7.1 1.3 5.8 20 142 183sk06 19
1280 | BiSCHE | 642226%%kkkkk%1633 6229kttt k6758 ARGV 352N 3.1 0.6 2.5 20 62 136%sk4k7379
1281 | k&M | 642226%kxkkkkx1638 6229skstietsototokook67 17 ARTIE V390 9.3 1.7 7.6 20 186 | 152553676
1282 7kt 642226%kkkkkk%1615 107 8ksksisksksksioskskskok ARGy 8590 3.1 0.6 2.5 20 62 150%%%%9264
1283 | kEiE 642226%kkkkkxx1638 6229kHkkkkkkxk %4886 ARGIEY 359 0 2.7 0.5 2.2 20 54 199%#34%3166
1284 | k& 642226%kkkkkkx1638 143 Dksksksrskokokotohok ARGE:Y AN 4 0.8 3.2 20 80 181#kk%1519
1285 | HH#E 642226%kkkkkxx1658 6229kHkkkkokokkx %9728 ARGIEY 359 0 16.1 3.1 13 20 322 150%%#%4376
1286 | ®hE3CE 642226%*kkkkkkk 1619 131 Gkettiarsketototok ARGV 35T} 10.5 2 8.5 20 210 182:#k5%6637
1287 | EibEfE 642226%kkkkkxx1610 1654%kkkkkkokokokok ARGE:Y AN 1.6 0.3 1.3 20 32 157#%5%7189
1288 | L 50 642226%kkkkkx%1629 6229kkkkkkkkkkk 1508 ARGIE:SY 353 ¥ 2.6 0.5 2.1 20 52 182:#3%%9297
1289 | FKEH | 642226%kkkxxx1615 147 5okkaptokofaolon ARGV 35N 9.9 1.8 8.1 20 198 182+k5%3967
1290 | FKEEE | 642226%%kkkik1612 623 0sktkottotokkk 4523 ARGV 35N 5 0.8 4.2 20 100 18149670
1291 | Z=Exk 642226%kxx%k%k%%]1618 622 kskskkkkkkkkk 2316 ARGE:Y 43N] 1 0.2 0.8 20 20 17 Tsek0898
1292 | Ert 642226k kkkkkkk 1617 62295kskskskskkkskskokk 8342 ARGIE: Y3 9.7 1.8 7.9 20 194 139%*x4%7535
1293 | #3C 642226%kkkkkxx1631 1286%kskskskskokokokokok ARGIEY 359 0 3.6 0.7 2.9 20 72 136%%#%8973
1294 | #itige 642226%kkkkkk% 1632 622 9kkskkkskkokokokk 3078 ARGE:Y AN 2 0.3 1.7 20 40 158350322




1295 | #itE 642226%%kxx%%%1 672 RV S ARG 53 ) 1 0.2 0.8 20 20 13655448973
1296 | =&KX 642226+4kkkk4% 1696 6229 Hkskkokokokkk k4536 ARGV 35T} 4.5 0.8 3.7 20 90 152%%%%3459
1297 | =34l 642226%kxkkk%%1616 10223kkkskokotokokokok ARGEEY AN 3.7 0.7 3 20 74 183k 1702
1298 | =Ll 642226%*kkskkkkk 1631 6229Hskskokkokokokk k7555 ARGEEY AN 3.7 0.7 3 20 74 184#3#%%9455
1299 | %iEE 642226x+kkkk4%163 1 6230%kskkkkokkkx %6326 ARGIEY 35 0 2.4 0.4 2 20 48 176%%3%7646
1300 | =&% 6422264 k%% 65x 6229k kK kkkkkkkk 3845 ARGIEV 35T N} 2.9 0.5 2.4 20 58 17745459516
1301 | EMRA | 642226%kkkkkkx1617 623 0siktoksokoiokk | 857 ARG LY 2] 13.7 2.7 11 20 274 1513540868
1302 | it 642226%kkkkk5k%1 663 622 9skskskskkokskeokoksk 2927 ARGy 8590 2 0.3 1.7 20 40 151%%%%0868
1303 | BHE 642226%kkkkkxx1637 1022%kskskskskokokodokok ARGIEY 359 0 3.3 0.6 2.7 20 66 138%%4%x4362
1304 | =AW 642226%kkkkkkx 1612 1654%kkkkkkkkkk ARGE:Y AN 3.9 0.7 3.2 20 78 151#55%9450
1305 | =BT 6422264kkkk4k 1697 6229kksksksdokkokk4kk4 326 ARGIEY 359 0 6.4 1.2 5.2 20 128 15058638
1306 | =& 642226%*kkkkkkk 1615 6229k KKk kkkkkk 2629 ARTE: Y 379N 6 1.1 4.9 20 120 15735446979
1307 s 642226%kkskkek4k 1632 6229:kskkskstoskokekodokk [ 99 | ARTIE V3R] 9 1.7 7.3 20 180 181#%x4496
1308 |  ZHK 642226%kkkkkxx1610 148 Tkkskskskakokottokok ARGEEY AN 9.9 1.8 8.1 20 198 139#k5%6733
1309 | E=E 642226%*kkskskkk%k 1618 1352%kkkkkokokohohok ARGIEY 359 0 2.1 0.3 1.8 20 42 157#k%%9166
1310 | B3R 642226%kkkkkk%k1614 6229 dokstokarolok k2022 ARGV 37N} 5 0.9 4.1 20 100 15134546263
1311 | 9k%E 642226%kkkxkk%k]1 618 622kt kiok k%6809 ARLES Y 35N 2.6 0.4 2.2 20 52 14745446998
1312 | £&ET 642226 %kkkxk%1614 6229Hkskskokokokk k48786 ARGIEY 359 0 3.3 2 1.3 20 66 136%*%£9791
1313 | E&E) 642226%*kkskskkk%k 1619 165 4skkskskskskokokodokok ARGIEY 359 0 7.7 1.4 6.3 20 154 155%%%%2500
1314 | EX 642226%kkkkkxx1610 161 6%kkkkkkkkkk ARGIE:S 353 N 2.9 0.5 2.4 20 58 139###%5615




1315 642226%k*kkkxx1630 6229kHskkkkkxx %8209 ARGIEY 359 0 2.7 2.2 20 54 132%%3%5507
1316 642226 kkkkkkx1611 622 Pkkkklolololokolok 7426 ARGV 35T} 7.2 5.9 20 144 182:#k#%5828
1317 642226%*k*kkkkkk1611 179 4%kkkkkkokokokok ARGEEY AN 2.9 2.4 20 58 137#%5%8730
1318 642226%*kkkkkkk 1610 6229kkkkkkkkkkk 3628 ARGIE:S 353 N 3.2 2.6 20 64 199#3##%8856
1319 642226%Fkkkkxx%]1612 623 0%kkskkkokokokkxk 7727 ARGIEY 35 0 7.7 6.3 20 154 132452311
1320 642226k 4kkkk4k1616 1022 kskkskskkdskokok ARTIE Y359 ] 14.7 12 20 294 188sksk¢8088
1321 642226%kkkkkxx1618 6230%skkkkokkxx%5910 ARGIE Y 359 0] 6.7 5.5 20 134 18457224
1322 642226%kkkkkk%k 1613 6230kskkekskkekokokekk 538 1 ARGy 8590 2.2 1.8 20 44 14T*%%%0256
1323 642226%kk*kkkxx1611 133 Tskksksksrskokokotokok ARGIEY 359 0 7.6 6.2 20 152 183%%#%x5593
1324 642226%*kkkkkkk 161 x 1022k skskskskskkokokoskk ARGE:Y AN 23.7 19 20 474 187#k5%2743
1325 642226%k*kkkxx]161x 128 0kskkskskskokokokokok ARGIEY 359 0 2 1.7 20 40 132%%3%6222
1326 642226%*kkkkkkk 1638 1654ksteteteteteteoteteok ARGV 35T} 2.3 1.9 20 46 147#%5%5159
1327 642226%*kkskskkkk161x 131 6%kkkkokokokokokok ARGE:Y AN 3.9 3.2 20 78 187#k4%1678
1328 642226%kkkkkxx1614 1 795kkskskskskokototokok ARGEEY AN 2.4 2 20 48 184##4x8091
1329 642226%kkkkkxx1614 148 Tskskskskskokokotokok ARGIEY 359 0 2.4 2 20 48 132%%%%k3431
1330 642226%*kkkkkk% 1610 6229k 4510 LL ARG 2.3 1.9 20 46 188545679
1331 642226%k*kkkxx]161x 1334tk ZL AR YE A 5.8 4.1 0.8 20 116 158%%%%7175
1332 642226k kkkkskkk 1627 6229ksksksksiskokskekkok4 ()15 ARGIE-RES Y N 3 2.1 0.4 20 60 182%*x%%5595
1333 642226%kkkkkxx1641 6229kHskkkkokokkx %7919 EARGIE KAV ] 4.5 3.2 0.6 20 90 18245476
1334 642226k kkkkk%1614 623 Qkkkoookokk 4954 ZLI ARG 10 8.4 20 200 159##4%8267




1335 | EAX 642226%k*kkkkk% 1662 148 Tokskskskskokokotokok EARGIET KAV 16.1 2.6 11.2 2.3 20 322 18039982
1336 | # % 642226%*kkskskkkk 1612 145 kkkkkkkokokokok ARGIEEPR Y N} 17.6 2.8 12.3 2.5 20 352 136%35%7892
1337 | &1t 642226%*kkskskkkk 1613 133 Tk ZLI ARG 18.5 3 12.9 2.6 20 370 152#3#%3878
1338 | &M% 642226%kkkkkkk 1 672 16523kt ARTIE:KESTY N 8.7 1.4 6.1 1.2 20 174 1383540659
1339 | & 642226%*kskskskkk%k 1636 1022%%kkkkkokokokok ZLA RS 10. 6 1.7 7.4 1.5 20 212 150%k5%7355
1340 | ZBFEEL | 642226%kkxkk%%1610 1652kttt ARGIE RSO 14 2.2 9.8 2 20 280 15944422
1341 | Tz 642226%kxx%%%%]1 623 171 8sskkkokodoodonk ARTIEEES Y] 2 0.3 1.7 20 40 1395703 1
1342 | &=FFE 642226%kkkkkkk 161 x 6229skskskskstskskdokoksk 755 1 ARGIES-XA 3 Y o 25.1 4 17 4.1 20 502 18344k 7229
1343 | ZRsx 642226%*kkskskk%k% 1610 6229kskskkkokokok 714 1 EARGIEKASY 5 0.8 3.5 0.7 20 100 187#k5%3286
1344 | BB | 642226%%skkx4k1652 622 Pkkkokkokiokkx 7608 LLIREEAREAT 4.6 0.5 2.9 1.2 | 20 92 15135454288
1345 | #MfRtke 642226%kkkkkxx1653 13625kkskskskskokokokokok EARGIE XAV 6.4 1 4.5 0.9 20 128 18 1%%%4445
1346 | =5k 642226%kkkkkxx]161x 6229%Hskkkokokk k%9773 ARGIEEPR Y N} 3.9 0.6 3.3 20 78 182:k4x6451
1347 | A% 6422264 kkkkkkk 1617 16523 kkkokokotokkokok ZLI ARG 18.6 3 12. 4 3.2 20 372 156%#5+0868
1348 | BRI | 642226k kitie0k1677 622 stttk 0252 LU AR IR 2.2 0.4 1.8 20 44 15 1%k 1 982
1349 | 5kD5E 642226%kkkkkxx1628 6229%kkkkkkkkk k8073 EARGIE KAV ] 2 0.3 1.7 20 40 139k5%7265
1350 | IR 642226 kkkkk%1611 6229k K kxkkkkkokk 1 196 LL ARG 31.8 5.2 23. 7 2.9 20 636 1733548676
1351 | # kAL 642226%kxx%k%k%%1619 6229kkskskskkkokokkk()192 LLARIEAS 2 0.3 1.7 20 40 180355288
1352 | #LFk 642226%kkkkkxx1639 6229 kskskskskskokokokokk 7653 ZLT RS 17 2.7 11.9 2.4 20 340 18 1#k5%7643
1353 | H It 642226%k*k*kkxx1630 6229kskskskskskokokokokk 7638 EARGIE KAV ] 22.3 3.6 15.5 3.2 20 446 1983#:k#%3688
1354 | 4RHHE 642226%*x*kkkk%k1615 148 Ttttk ZLI ARG 45. 8 7.4 31.6 6.8 20 916 1823543982




1355 | 140 642226%kxx%%%% ] 656 LAS Tk ARGIEEES Y N} 22.6 15.8 3.2 20 452 15855837 1
1356 | 278 | 642226%kkkkkx1656 1266%3kkkkokkopokok ARGIEERAS V] 9 6.3 1.3 | 20 180 187341765
1357 | W15 642226%kkkkkekx 1620 6229k %k k k% %6069 ARGIEERFR Y 2 1.7 20 40 136345372
1358 | R34l | 642226%%skkx4x1615 1652 %kkksptokkoroton ARTIE: €72V 3.5 2.3 0.5 | 20 70 15834548166
1359 | fRHEHIE 642226%Fkkkkkx 1638 6229kkskkkokokkx k3113 ZLA RS 14.5 10. 1 2.1 20 290 1513%%3%2690
1360 | #REAEE 642226%kkkkkk%k1617 6229dokskkarolok k3433 LLIABARIEAT 18.1 12.6 2.6 20 362 134356259
1361 | I 642226%kkkkkkk 1618 148 Tkttt AR KESTV R 0.9 0.8 20 18 157382116
1362 | #+F+ 642226%kkkkkk% 1653 6229kkskskskokskekoskkk 3287 ARGIE-RES Y N 3.8 2.7 0.5 20 76 150%:4%%7667
1363 | #wt 642226%kkkkkxx1617 6229kskskskskskkkkk k5905 EARGIEKASY 23.8 16.6 3.4 20 476 181#k5%8675
1364 | W13 642226%kkkkkxx1619 6229k 1 740 ZLI ARG 3.8 2.7 0.5 20 76 181###%8675
1365 | WEE 642226%k*kkkxx]1 63X 6229kHkkkkokokkx %9548 EARGIE XAV 9.7 6.7 1.4 20 194 138%%3%7300
1366 | Ww+HH 642226%kkkkkxx1619 622 Pkskkkkookok 7714 ARGIEEPR Y N} 15.5 10.5 2.5 20 310 159#k5%6427
1367 | H#WIR%E 642226%*k*kskskkkk 1613 143 Tk ZLI ARG 20.7 14.4 3 20 414 150###%0859
1368 | BHreL 642226%*kkkkkkk(0443 1652skkskskskskokototokok ARGIE:RER Y 9.6 6.7 1.4 20 192 135%k5%7419
1369 | ) 642226%Fkkkkxx%]1612 1652%kskskskskokokodokok EARGIE KAV ] 12.9 9 1.8 20 258 180%#3%6055
1370 | Wt 642226%kkkkkxx1616 6229 kkskkskkkkokk k8562 LL ARG 39.5 27.6 5.6 20 790 138###%9968
1371 | & Ji4e 642226%*kskskskkk%k 1629 6229k KKk kkktokok(01 13 ARTIEEES Y] 62 43. 2 8.9 20 1240 | 138%#%x9968
1372 | Hizwx 64222 6%%kkk%%k%k% 1621 62295kskskskskkskkskkk8396 ARGIE: VS ) 3.5 1.3 2 20 70 152%*%4%2830
1373 | ®wt=E 6422264kkkk4k 1617 6229kkkdkkokkAkk6879 EARGIE KAV ] 2.4 2 20 48 199%##%4228
1374 | WEFR | 642226%%kkx4x1653 6229k ok ok k6985 LT AR 8.7 6.1 1.2 | 20 174 199sk5%4228




1375 642226%Fkkkkxx%]1612 1022%kskskskskokokokokok EARGIET KAV 2.6 0.4 2.2 20 52 182436391
1376 642226%*kkskskkkk 1612 1652%kkkkkkkkokk ARGIEEPR Y N} 3.6 0.6 2.5 0.5 20 72 157#%5%0953
1377 642226%*k*kkkkkk 1664 6229kskskskskskokokokk k64T 3 ZLI ARG 6.3 1 4.4 0.9 20 126 15035458542
1378 642226%*kkkkkkk 1615 146 Lsteteteteteteteotetok ARGIE:RER Y 14 2.2 9.8 2 20 280 159#35%7796
1379 642226%k*k*k*kxx1636 6229kHkkkkkkxx %8065 ZLA RS 16. 3 2.6 11.4 2.3 20 326 159%%3%7796
1380 642226%kkkkkkk 1615 1652%kkkkkkkkokk ZL AR 1.8 0.3 1.5 20 36 138#3k5%7262
1381 642226%kkkkkxx1618 1652kkskskskskokokokokok ZL AR YE A 8.8 1.4 6.1 1.3 20 176 158%%4%8267
1382 642226%kkkkkkk 1613 1 795sskskskskkkokokok ZLI ARG 15.1 2.4 10.5 2.2 20 302 1583548267
1383 642226%kkkkkxx1644 6229 %kkkkkkkkk %0694 EARGIEKASY 7.7 1.2 5.1 1.4 20 154 173%%%%8649
1384 642226%*kkskkkokk 1645 LAT Tk ok ZLI ARG 1.3 0.2 1.1 20 26 181##4%8826
1385 642226%kkkkkxx1635 1022%kskskskskokokokokok EARGIE XAV 6. 6 1.1 4.6 0.9 20 132 151%%%%8805
1386 642226%*kkkkkkk 1639 1022:ksksteteteteteteoteok ARGIEEPR Y N} 1.5 0.2 1.3 20 30 151550667
1387 642226%*k*kskkkk% 1630 1652%kkkkkokokokokok ZLI ARG 1.9 0.3 1.6 20 38 189#3##x0129
1388 642226%kkkkkxx1616 6229Hskskokokokokokk k67 1 3 ARGIE:RER Y 6.3 1 4.4 0.9 20 126 199%#%%5325
1389 642226%*kskskkk%k 1613 6229kskskskkkkkokokok 739 1 EARGIE KAV ] 5 0.8 3.5 0.7 20 100 13952714
1390 642226 kkkkkk% 167X 6229kkkskskskkkokk k5902 LL ARG 7.8 1.2 5.5 1.1 20 156 158#k4x7271
1391 642226%kkkkkxx1615 1 382kkkskskskokokotokok ZL AR YE A 13.9 2.2 9.7 2 20 278 150%##%5205
1392 642226k *kkkkkkk 1617 145 5skskskkkkokokok ZLI ARG 21.3 3.4 14.9 3 20 426 1843k+%6794
1393 642226%kkkkkxx1617 1652kkskskskskokokokokok EARGIE KAV ] 20.9 3.3 14 3.6 20 418 187#%%%9483
1394 642226%*kkskskokokok 1622 6229k k8800 ZLI ARG 44 7 29.7 7.3 20 880 139#kxx1521




20 250 1500279

2L BARIEAT 12.5 2 8.7 1.8

6230kskskdokkko4k k5959
1.2 20 166 15735448268

1395 | ZREHNI 640103kkskskskokokok0035

148 Tkskekstesksketokskokok FARGIE:EEAS ) 8.3 1.3 5.8

1396 | BFH= 642226%kskskkskkk 1620




